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ICAl SM

What implication(s) does resource

ICAI SM 4 | scarcity have for the satisfaction of
Economists regar ——,
1 as important Eec:u::cmon making a) Not all wants can be satisfied.
b) we will never be faced with the
e ke choices.
The resour x . heed to ma
- ey ces required to satisfy our ||| -y \ye must develop ways to decrease
unlimited wants and needs are ndividual want
finite, or scarce our indiviaual warleg
b) It is 'crucial to' d d) The discovery @ of hew natural
L ! altoucr;tirSt%Z?' hosvgaxg resources is hecessary to increase
| ur ability to satisfy wants.
resources to satisfy society’s ° 2 i
unlimited wants and needs.
¢) Resources have alternative uses. oA
d) All the above. . | Which of the following is a
normative statement?
ICAI SM .
a) Planned economies allocate
2 Business Economics is - resources via government
departments.
: b) Meost transitional economies have
al ﬁ?it;icczngc:icsapp“es the tools of experienced problems of falling
N ! . output and rising prices over the
b) Involves practical application of past decade
c;:gg&mnc theory in business decision ¢) There is a greater degree of
¢) Incor cgn;'ates tools from ultiple consumer sovereignty in market
disci p“nes i P economies than planned economies.
4) (b) aﬁd (c).above d) Reducing inequality should be a
: ) major priority for mixed economies.
_ICAl SM
3 | 'n Economics, we use the term N -
scarcity to mean - . ¥ 6 !n every gco.non_fnc_sgs__te
iy e imposes limitations on
a) Absolute scarcity and lack of
resources in less developed a) households, '
countries. governments, and tk
b) Relative scarcity i.e. scarcity in whole.
relation to the wants of the society. b) households and bu
¢) Scarcity during times of business not the governme
failure and natural calamities. ¢) local and state
d) Scarcity caused on account of hot the federal gover
excessive consumption rich. d) households and
: not business firms




3 ICAl SM

Madcroeconomics is also called———

7 economics

a) applied

b) aggregate

c) experimental

d) none of the above.

= ICAl SM

g | An example of ‘positive’ economic
analysis would be:

increases will compe ' Price
nsate 5 3
fall in quantity sup,:’ligéi:m‘?r the

Vinod: Climate affecﬁéré’p yi'gus":lz

a) an analysis of the relationship

between the price of food and the
guantity purchased.

b) determining how much income edach
person should be guaranteed.

c) determining the ‘fair’ price for food.

d) deciding how to distribute the
output of the economy. -

11 : - |
Some years are bad, ¢ ,
good.  Madhu: The'azt’;i;smqu
ought to gudrantee that i
income will net fall. |n ;.?
conversation, the normau\.:
statement is made by -
a) Ram |
b) Krishan
¢) Vinod
d) Madhu |
—
ICAI sMm

ICAI SM

Consider the following and decide ||
scarcity:

¥l
—

A study of how increases in the
g | corporate income tax rate will

affect the national unemployment
rate is an example of -

a) Macro-Economics.
b) Descriptive Economics.
c) Micro-economics.
d) Normative economics.

a) The pre-independent Indian
economy, where most people were
farmers. .

b) A mythical economy where || |
everybody is a billionaire. -

c) Any economy where (ncome s
distributed equally among its people.

d) None of the above.

ICAI SM

»

Which of the following does not
10 | suggest a macro approach for
India? . T

Which of the following is

1) Determining the GNP of India.

)) Finding the causes of failure of ABC
Led. _

) ldentifying the causes of inflation in
India.

) Analysed the causes of failure of
industry in providing large scale
employment

b) The cost of producing a ﬂr

d) The national econom

13 | subject  matter  of
economies?
a) The price of mangoes. L '

for the fire department of
India. B

for the mangoes market.

of growth.
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ICAI SM ICAI SMm
. z::l:rancl_'n of economic theory that 18 The difference between positive and
_with  the problem of normative Economics is:
allocation of resources js-

a) Positive Economics explaifs the |

8l . performance of the ecomomy while
dacro-economic theory. normative Economics finds out the |

c) Econometrics. reasons for poor perfermance.
d) None of the above. b) Positive Economics describes the |
facts of the & economy while
ICAI SM normative Economics involves

= evaluating whether some of these |
Which of the following is not the are good or badifor the welfare of

a) Micro-Economic theory.

15 | subject  matter of Business the people.
Economics? c) Normative Economics describes the
q) Should our firm be in this business? Ec;i)t:ozfizge ec&zz::‘,z;vhll:vap{?{il;‘::
L ;’g:’rt_guschhojlzogédh:et?produced ans whether 'some of these are good or
c) How will the produgt Borolaced: I bad for the welfare of the people.
the market? P d) Positive Economics prescribes while
d) How should e T normative Economics describes.

unemployment in the economy?

ICAl SM

ICAI SM

Which of the following is not
16 Which of the following is a 19 | within the scope of Business

normative economic statement? Economics?
a) Unemployment rate decreases with , ,
industrialization a) Capital Budgeting
b) Economics is a social sciencerthat b) Risk Analysis
studies human behaviour. c) Business Cycles

¢) The minimum wage should be raised ||| 4) Accounting Standards
toRs.200/- per day |
d) India spends a huge amount of _ml A
money on national defence.

ICAI SM Which of the following

= 20 o
Which of the following would be {sAcurTacts
17 | considered a topic of study in

Macroeconomics?
a) The effect of increase in wages on a) Business economics is normative
the profitability of cotton industry hature.
b) The effect onsteel prices when more b) Business Economics has
steel is imported conhnection with statistics.
c) The effect of an increasing inflation c) Business Economist need no
rate on living standards of people in about macro variables.
India d) Business Economics is
d) The effect of an increase in the price Managerial Economics.

of coffee on the quantity of tea
consumed
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Fr ICAI 5M

Which of the following statemems

Economic goods are considered
21 | scarce resources because they. 25 | does not apply to a Markey |
’ economy? o .
a) cannot be increased in quantity. ) p decid 3
b) do not exist in adequate quantity to a “’mr-" dect e whom to hire and Whag
satisfy the requirements of the +O. preduce. o ol
society. b) Firms aim at maximizing profits.
¢) are of primary Iimportance in c) HOUZGhOIdS decide swhieh firms ¢,
satisfying soclal requirements, work for and what tesbuy with thej, |
d) are limited to man made goods. (ncomes. A Y '
d) Government policies are the primg
ICAl SM forces that guide: the decisions of
- firms and households.
In a free market economy the : 5
22 | allocation of  resources is : ' ICAI ’
determined by SM_
26 | In a mixed economy -

a) voting done by consumers. '
b) a central planning authority.
¢) consumer preferences.

d) the level of profits of firms.

a) all eeonomic decisions are taken by
the eentral authority.

b) allreecenomic decisions are taken by
private entrepreneurs.

c).reconomic decisions are partly taken
by the state and partly by the

ICAl SM

] rivate entrepreneurs.
A capitalist economy uses d) f,ol:-,/: Oef the abpove urs
. as the '
principal means of allocating
resources. : ICAl sM
a) dem -
b; guppcll;‘d 9 | The central problem in economies is
’ c) efficiency thdieol E
d) prices
ICAlI SM
_ i ! a) comparing the success of command |
Which  of the following s versus market economies. ‘I
,4 | considered as a disadvantage of || ) : AR |
: : ] guaranteering that  production ||
allocating _resources using the occurs in the most efficient manner.
market systg_h:”?» c) guaranteering a minimum level of ||
a3 income for every citizen. : |
1 llocating scarce re UC
a) Income "williytend to be unevenly = 9
O . maner cil
b) CPﬁgﬁz de " not get goods of their e) wants are satisfied
. possible manner.

c) Men Of Initiative and enterprise are

not rewarded. :
Profits will tend to be low.

Making pdfs, photocopies, xerox, sharing or selling MVSIR's t
to strict legal action with monetary penal
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ICAl SM |

Capital intensive technique would | | 32
get chosen in a y:
a) labour surplus economy where the || c, cll gspects ?F scarcity. :
relative price of capital is lower. | b) the national economy cad the globsl ||
b) capital surplus economy where the ||| . Ec9N9MY a5 & whole |
relative price of capital is lower. | C/’ ’0‘:9 pusinesses. |
c) developed economy where i decisions O Hdvidud) |
technology is better. DUSInNesses and people. é
d) developing economy where _
technology is poor. ICAI SMA

Freedom of choice is the advantage
IcAl sMm |[| 33 | ¢

Which of the following is not one of a) Socialism |
20 the four central questions that the b) Capitalism

study of economics is supposed to ||| o) communism 1

answer? d) None of the above i
a) Who produces what?
b) When are goods produced? sl s
c) Who consumes what? Exploitation and inequality are ||
d) How are goods produced? 3% | minimal under: :

ICAI SM a) Socialism
2 b) Capitalism

Larger production of _ _goods c) Mixed economy
30 | would lead to higher production in d) None of the above

future.
a) consumer goods ICAI SM
b) capital goods 35 | Administered prices refer to:
c) agricultural goods
d) public goods a) Prices determined by forces of

demand and supply

b) Prices determined by sellers in the

ICAlI SM market

c) Prices determined by an external
authority which is usually the
government

d) None of the above

The economic system in which all
the means of production are owned

2k and controlled by private

individuals for profit.

36 In Economics, the centra
problem means: :

Y, a) Output is restricted to the ilmlted
g) Socialism availability of resources RS
) Capitalism b) Consumer do not have 1l
¢) Mixed economy money as they would wish
d) Communism ¢) There will always be certe

unemployment !
d) Resources dre not al
(h an optimum way
Making pdfs, photocopies, xerox, sharing or seling MVSIR's books is ‘-
to strict legal action with monetary penalties
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ICAI SM j
T agerial economics -
37 | Scarcity definition of Economics is 428 iiiheimahager!
given by- a) Is Applied Economics that m

a) Alfred Marshall
b) Samuelson

¢) Robinson

d) Adam Smith

i ICAl SM

The definition “Science which deals
38 | with wealth of Nation” was given

by:

gap between economic theory ang
business practice

b) Is just a theory concept
¢) Trains managers how. to behave in

recession
d) Provides the tools: which explajy

various COHCGPtS \J

T —
ICAI S

a) Alfred Marshall
b) A C Pigou

c) Adam Smith

d) J B Say

48 Which of the following statements
, is correct?

——

ICAlI SM

39 Which of the following is not one of
the features of capitalist economy?

a) Right of private property
b) Freedom of choice by the consumers
c) No profit, No Loss motive

d) Competition

a) Micro economics is important for
study of a particular household and
a particular firm

b) Macro economics is important for
study.of economic conditions of g
country!

c)<'None of the above

d)l Both a and b

_ ICAl SM

1

[CAL SM

There is need of economic study,

0 because -

a) The resources are limited
b) The wants are unlimited
c) The resources are unlimited

d) Both a and b

Mr. Satish hired a business
consultant to guide him for growth
of his business. The consultant
44 visited his factory and suggested

some changes with respect to staff
appointment, loan availability and
so on. Which approach is that
consultant using?

ICAl SM

a) Micro economics
b) Macro economics }

¢) None of the above
d) Both a and b

" 4.1 study is - ﬂ’g:m;% :

a) It ensur’es that all problems will be
approprla‘te(y tackled
It hefps in identifying problems

c) It ena]g_(e%‘t:o examine a problem in its
ri ght perspective

d) It gives exact solutions to every

problem

ICAl SM

45 | Profit motive is a merit of

a) Socialism

b) Capitalism

¢) Mixed economy
d) None of the above

Making pdfs, photocopies, xerox, sharing or seling MVSIR's books is not allowed.
to strict legal action with monetary penalties
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ICAlI SM

ICAI SM

is also called as command
economy

a)
b)

c)

Socialist
Capitalist
Mixed economy

48

Unlimited ends and limited means
together present the problem of

a)
b)
c)
d)

Scarcity of resources
Choice

Distribution

None of the above

d) None of the above
ICAl SM
Which of the following statements
47 | is/are correct regarding business

economics?

a) Business

b)

c)

d) All the above.

economics attempts to
indicate how business policies are

firmly rooted in ecohomic
principles.
Business ecohomics uses icro

economic analysis of the business
unit and macro economic analysis
of business environment.

Business economics takes a
pragmatic approach towards
facilitating an integration between
economic theory and business
practices.

Answer Key —Chapter 1 (unit - 2)

CA Mohnish Vora (M\?E'SIR) :

|
|

3¢ (d) 2 (d) 3 (b) 4. (a) 5. (d) 6. (a)
7 (b) 8. (@ 9. (@) 10. (b) 115 (d) 12. (d)
13. (d) 14. (a) 15. (d) 16. () 17. () 18. (b)
19. (d) 20. (c) 21¢ (b) 22. (c) 23. (d) 24. (a)
25. (d) 26. (c) 27 (d) 28. (b) 29. (b) 30. (b)
311 (b) 32. (b) 33. (b) 34. (a) 35. (c) 36. (a)
37. (e) 38. () 39. (© 40. (d) 41. (e) 42. (a)
43. (d) 44. () 45. (b) 46. (a) 47. (d) 48. (b)
ole DNOToCOopIe ero @ eNe q R'S DOO Of C ° slele
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A.Q., MTP APr 23 MTP Dec 22, A.Q.
“If Americans today, for example
In the beginning the name of were to coptent to live at the level
1 economics was of the l_ndmn middle class people,
all their wants would be fully
4 | satisfied with  their . available
a) Economics of wealth ;?_2‘::‘::?5 and _ (capacity  to
itical econ - [ h.
@ fousicdyec b On the basis . of the above
¢c) Welfare economics A ¢
d) None of these statement, which of the following
conclusion can be made?
a) The possession of goods and services
MTP Mar 18 by USA ha; enormously increased to
exceed their wants.
b) The affluentiand developed countries
S : : e the
Economics is a Science which deals of USAgand g c=teiiEtion face
2 with wealth’ was referred b problem of scarcity even today as
y their present wants remain a head
of i their increased resources and
capacity to produce.
t eveloped countries
a) Alfred Marshal ¢) The affluent and d 2

are hot facing the problem of

b)

c)
d)

it B isay scarcity.
¢) Adam Smith
B ae! Bigou d). None of these
MTP Dec 22, A.Q.
AR Economics is a branch of
5 focused on the production,
Which of the following _is/are distribution and consumption of
3 limitation(s) of the wealth goods and services.
definitions of economics given by
classical economists?
a) Natural science
b) Physical science
c) Social science
: d) None of these
a) By considering. the problem of

production distribution & exchange
of wealth, they focused attention
Ooh  important issues with which

MTP Nov 22, MTP Aug 18, MTP Oct 20

economics is cohcerned.

By restricting the definition of — expressed the view the

wealth to material wealth & the 6 “Economics is neutral. between

heglect of immaterial services, they end”.

narrowed down the scope of

economics.

Both (A) and (B) a) Robbins

None of these b) Marshall )
c) Pigou

d) Adam Smith

Making pdfs, photocopies, xerox, sharing or selling MVSIR's books is not allowed. |

t will lead
to strict legal action with monetary penalties
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MTP Jun 22 m
Most of the economic problems are 11 | When we study why sm
high or low, we ar ; H
7 | of nature and are affected gEcerg . e studying
by a) Madcro Economics .
a) Complex, Several forces b) ?!g;%rii?':i?’smcs
b) Simple, Several forces g; Bcth ) c:na’ )
c) Simple, single factor . o 4
Complex, Single factor
d) comple, Sing PYQ Jun 22, jun >
MEieNgyiiZ Which of the following is pop™
Which of the following statements 12 :ub;ect matter of micro €Conomjce
g is true? : Y
a) The study of economics ensures that a) Behaviour of firms
all problems will be appropriately b) Location of (ndustry
tackled. ¢) Consumer behaviour

b) The study of economics cannot d) Foreign exchange rate

ensure that all problems will be e |
appropriately tackled. MTP Nov 22, AQ,

c) The study of economics does not ; 2
enable a student to examine a 13 W‘;:i;c:;cerned with welfare
problem in its right perspective. " P

d) None of these a) Normative Economics e

b) Positive Economics
PYQ Jun 23 c) Both (A) and (B)
9 Economic is classified into___ 97 Nohe of these
L —

a) Normative and positive A.Q

b) Micro and macro : : By :

c) Internal and external 14 | BUsiness economics is __ in its

d) None of the above Approach

a) ldealistic

A.Q. b) Pragmatic

c) Both (A) and (B)
d) None of these

Which of the following statements
is correct? :

10
A.Q

“Generally a business manager is
concerned with problems of his

a) Employment and economic growth own business units. He does not

are studied in micro-economics
h L : 15 | study the economi blems of
b) Micro economics deals with balance y (SiELa v eths onal
el A economy das a whole. “State

whether the above statement

c) Economic condition of a section of i<

the people is studied in micro- T
economics

d) External value of money is dealt a) True
with in micro-economics b) False

c) Partly True
d) Partly False

Making pdfs, photocopies, Xerox, sharing or selling MVSIR's books is not allowed. It will lead
to strict legal action with monetary penalties
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MTP Aug 18, MTP May 20

Which of the following statements
16 | would you consider to be q
normative one?

a) Faster economic growth should
result if an economy has a higher
level of investment.

b) Changing the level of interest rates
is a better way of managing the
economy than using taxation and
government expenditure.

¢) Higher levels of unemployment will
lead to higher levels of inflation.

d) The average level of growth in the
economy was faster in the 1990s
than the 1980s

A

"A wise individual or a society likes
to provide for its growth of
20 | productive capacity.” This requirves
that a part of its resources should
be devoted to the production of __

a) Consumer goods |
b) capital goods |
c) Defense goods
d) None of these |

MTP Decs 22

The problem of “what to produce :

ek relate to ’

MTP Mar 22, Dec 22

Taxation involves which aspects of

2 normative economics:

a) lncidence

b) Fairness

¢) Incentive to work
d) All of the above

MTP Nov 22.

18 Business economics is

a) science

b) An art

c€) Both science and art
d) None of these

PYQ Jun 23

Which of the following refers to the
sum total of arrangements for the
product and distribution of goods
and services in society?

19

a) Economic system

b) Business system

¢) Capitalist economic system
d) Socialist economic system

a) The choice of goods and service :
b) Distribution of income ‘
c) The choice of technigue
d) None of these

MTP Nov 22, MTP Apr 19, Oct 20,

Which of the following is not one of

& the features of capitalist economy?

a) Right of private property

b) Freedom of choice by the consumers
c) No profit, No Loss motive

d) Competition

MTP Jun 22, MTP Now 22

The regulatory mechanism of the

22 market system is-

a) Self interest

b) Private property
c) Competition

d) Specialization

CA Mohnish Vora (MVSIR)
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P‘(Q Jy

If there is no central planning
authority to make the fundamental

|

In a socialist __ ecm

28 allocation of resources s donet:

economic decisions and thus to

24 | allocate productive resources, how

a) Market Price
b) Consumer preferences

c) The free market economy uses the

gan ":he" free  enterprise o ¢) A central planning authority
capitalist economy solve its d) The level of corporate Profite
central problems?
§
a) Through the power of God MTP Dec 22,4
' 29 | production _ where goods

services are produced

c) Absence of Consumer choice

d) Competit;

impersonal forces of the market to
solve its central problems a) to generate profit O
d) None of these ‘ b) directly. for use
c) Both (A) and (B)
A.Q. d) None of these
The industrialization and economic I
development of the UsA, dGreat L AQ
25 | Britain and other Western e
European countries have taken Which of the following is not
place under the condition of _? 30 merit of socialist economy? ]
a) Socialism and planned structure X L e
b) cCapitalism and laissez fajre
) Mixed economic structure a) It provides equal access to heq|th
d) None of these care and education -
b) Workers are ho  longer exploiteqd
MTP Dec 22‘1 because they own the means of |
production ‘
26 | The cf?aracteristic' of capitalist c) Profits are hot spread equitably‘
€conomics does not include? among all workers according to |
their individual contributions.
a) Right to Private property d) Natural resources are preserved for
b) Freedom of economic choice the good of the whole

MTP Mar 19

oh '
PYQ Jun 22—1 L

Which of the following economic
system is self regulating and run by
invisible hands 7

27

31

Which €conomy is now a myth
only, as no country in the world is
having that type of economy?

Mixed economic system
Socialistic economic system
Capitalist economic System
Plannhed economic system

b)
c)
d)

a) Capitalist Economy
b) Socialist Economy
c) Mixed Economy

d) None of the above

Making pdfs, pPhotocopies, xerox, sharing or sellin

to strict legal act
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B o e |

incentives
Which of the following statements for — . '
| 52 | Is/are correct  gbout mixed a) Efficient business decisions E

| caanamlg system? b) Efficient government decisions !
Mixed economle syste 2@ c) Efficient non-goverfiimental | |
a) y#cem depends on decisions !

both markets and governments for
alloeation of resources
b) Mixed economy s not always a

d) Efficient economic decisions }

welfare of the people of a society

W NGre oF the aboug involves the predominance of

38 | bureaucracy and resulting
inefficiencies and delays

gofdtzn path between capitalism and » “WMTP May 23
soclalism, 2 T E
e) It (8 very difficult to waintain a A6 ;ﬁﬁ..gﬁf;’?:”'*“"% T .
proper balance between private and :
public sectors, a) 1848
d) All of the above b) 1905 |
c) 1952 i
Extra MCQs d) None of these.
33 Which of the following statements : PYQ Jun 23 ‘
ls correct? ‘ |
- Encourage enterprise and risk '.
a Ih a two-good economy, the 37 | taking is considered as a merit of :
production possibilities frontier which of the following economy? '
reflects the maximum amount of S !
one good that can be produced a)"Soclal economy i
when a given amount of the other b), Political Economy
good (s produced. €) Mixed Economy ’
b) Microeconomics is the study of the d) Managerial economy
behavior of the economy as a whole. ;
c) Positive economics focuses on PYQ Jun 22 ||
!
!

Extra MCQs —
> a) Socialistic economy

Which of the followingd statement b) Capitalist economy
is correct? c) Mixed economy |
d) Free market economy

34

a) Mixed economy is not always a
‘golden path’ between -capitalistic
and socialistic economy

b) Socialistic economy is not always a
‘golden path’  between mixed
economy and capitalism

¢) Capitalistic economy is not always a
‘golden path’ between mixed
econamy and socialism

d) Local economy is hot always a
‘golden path’ between internal and
international economy

Making pdfs, photocopies, xerox, sharing or seling MVSIR's books is not allowed. It will lead
fo strict legal action with monetary penalties
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4 (] ” L)
1 B 11 A 21 A 31 '
2 B 12 D 22 c 32 " )
3 B 13 A 23 c 33 A
—
4 B 14 B 24 c 34 A
—
5 c 15 A 25 B 35 b
T —
6 A 16 B 26 c 36 A
7 A 17 B 27 c 37 ¢
8 B 18 C 28 - 38 D
2 B 19 A 29 B
10 c 20 B 30 c
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Chapter 2
THEORY OF DEMAND
AND SUPPLY

ICAI SM MCQs
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S
- 'CAIS
4 | Which of the following o~
goods is an example of SubStitl.:iJ
ICAI SM ||| a) Tea and sugar. |
b) Tea and coffee.
c) Pen and ink.
d) Shirt and trousers.
1 Demand for a commodity refers to: —
—
ICAl g
I th f alanaiN
. - h e case of a straight
a) Sﬁzl;i)’:zﬁcokdeiiy?y ability to pay for demand. o meeting “the lig
b) need for the commodity and S (£ the pnce:-elas.t(c(ty
willingness to pay for it demand at t.:he mid-point of ¢,
c) the quantity demanded of that line would, be:
commodity at a certain price. : 1 e
d) the quantity of the commodity a) 0
demanded at a certain price during 23]l
any particular period of time. CINEDES
d 2
ICAI SM | f ICAI S\
2 ;::?tractxon of demand is the result The Law of Demand, assuming
é other things to remain constant
a) decrease in the nhumber of establishes the relationshig
consumers. between:
b) increase in the price of the good
concerned. |
¢) increase in the prices of other goods. =0 tneclls of the consumer and the
d) decrease in the income.,  of g:ﬂ"g”tlty of a good demanded by
REichdsers: b) price of a good and the quantity
demanded.
ICAI SM c) price of a good and the demand for
its substitute.
d) quantity demanded of a good and
! the relative prices of  its
All but one of the following are
assumed to remain the sdme while complementary goods.
3 drawing an individual’s
demand curve for a commodity. ICAlI SM
thh“ iy ldentify the factor which generally
7 | keeps  the price-elasticity of
. demand for a good low:
a) The preference of the individual. a) Variety of uses for that good.
b) His monetary income. b) Very low price of a commodity
c) Price of the commodity c) Close substitutes for that good.
d) Price of related goods. d) High proportion .of the consumer’s
(hcome spent on it.
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quantity of a good demanded is
smaller than the percentage fall in
its price:

| ICAI SM ICAI SM
ldentify the coefficient of price- Suppose the price of i
Pepsi
elasticity of demand when the 12 | increases, we will expect tﬁle
g | percentage increase in  the demand curve of Coca Cola to:

a) Equal to one.
b) Greater than one.
¢) Less than one.

a) Shift towards left since these gre
substitutes

b) Shift towards right since these are
substitutes

¢) Remain at the same level

d) None of the above

ICAI SM

d) Zero.
ICAl SM
9 In the case of an inferior good, the
income elasticity of demand is:

13 All of the following are
determinants of demand except:

a) positive.
b) Zero.

c) Negative.
d) infinite.

a) Tastes and"preferences.
b) Quantity supplied.

¢) Income'of the consumer
d) Price of related goods.

[CAl SM

ICAI SM

If the demand for a good is
10 inelastic, an increase in its price
will cause the total expenditure of
the consumers of the good to:

A movement along the demand
14 [ curve for soft drinks is best
described as:

a) Remain the same.
b) Increase.

c) Decrease.

d) Any of these.

a) An increase in demand.

b) A decrease in demand.

c) A change in quantity demanded.
d) A change in demand.

ICAI SM

ICAl SM

If regardless of changes in its price,
11 | the quantity demanded of a good
remains unchanged, then the
demand curve for the good will be:

If the price of Pepsi decreases
15 | relative to the price of Coke and 7-
UP, the demand for:

a) Coke will decrease.
b) 7-Up will decrease.
c) Coke and 7-UP will increase.
d) Coke and 7-Up will decrease.

a) horizontal.

b) Vertical.

c) positively sloped.
d) negatively sloped.

e

ICAlI SM

16 | If @ good is a luxury, its income
elasticity of demand is:
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I ICAI SM o
The price of hot dogs increases by 21 | Which of the fom
22% and the quantity of hot dogs thcorrect statement?

17 | demanded falls by 25%. This

(s:

indicates that demand for hot dogs

a) Elastic.

b) Inelastic.

c) Unitarily elastic.
d) Perfectly elastic.

ICAlI SM

If the

the  cross-price

quantity demanded of
Mutton increases by 5% when the

18 price of chicken increases by 20%,
elasticity  of

a) When goods are subszrtmq\
the price of one (ceteric .8
leads to a fall (n (the q,ar'
demanded of its substitutes

b) When commaodities
complements, a fall in the Prie,
one (other things being equal).
cause the demand of the Othey
rise

c) As the income of the COnsy,
increases, the demand for
commodity increases
vice versa.

d) When |a commodity  becgy
fashionable people prefer to buy
and therefore its demand incregs

always

—

' ICAl

demand between mutton and
chicken is

a) -0.25

b) 0.25

c) -4

d) 4

ICAI SM

Given the following four

19 | Possibilities, which one results in
an increase in total consumer
expenditure?

a) Demand is unitary elastic and price
falls.

b) Demand is elastic and price rises.

¢) Demand is inelastic and price falls.

d) Demand is inelastic and prices rises.

Suppose the price of movies seen
a theatre rises fromRs.120 |
person toRs.200 per person. 1]
theatre manager observes that 1
22 | rise in price causes attendance a
diven movie to fall from :
persons to 200 persons. What is ¢

price elasticity of demand
Mmovies? (Use Arc Elasticity Methc
a) .5
b) .8
(@) ko]
d 1.2

Which of the following statements
20 | about price elasticity of supply is
correct? »

; ICAI S,

a) Price elasticity" of supply is a
measure of how, much the quantity
supplied of a good responds to a
change in theprice of that good

b) Price elasticity of supply s
computed as the percentage change
th quantity supplied divided by the
percentage change in price

€) Price elasticity of supply in: the long
run would be different from that of

o 4 the short run
- d) All the above

Suppose a department store has
sale on its silverware. If the pric
of a plate-setting is reduce
fromRs.300 toRs.200 and th
23 | quantity demanded increases fror
3,000 plate-settings to 5,000 plate
settings, what is the pric
elasticity of demand for silverware
(Use Arc Elasticity Method)

a) .8
b) 1.0
c) 1.25
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ICAI SM

—

ICAI SM

When the numerical value of cross

24 | elasticity between two goods is
very high, it means

a) The goods are perfect complements
and therefore have to be used
together

b) The goods are perfect substitutes
and can be used with ease in place
of one another

c) There is a high degree of
substitutability between the +two
goods

d) The goods are neutral and therefore
cannot be considered as substitutes

Suppose the demand for meals at a
medium-priced restaurant s
27 | elastic. If the management of the
restaurant is considering E“’ﬁaising

prices, it can expect a relatively:

a) Large fall in quantitysdemanded.
b) Large fall in demand; .

¢) Small fall in quantitysdemanded.
d) Small fall in demand.

e
L -y

o W ICAI SM

,g | Point elasticity is useful for which
of the following situations?

ICAl SM

If the local pizzeria raises the price
of a medium pizza fromRs.60
toRs.100 and quantity demanded
25 | falls from 700 pizzas a night to 100
pizzas a night, the price elasticity
of demand for pizzas is :(Use Arc
Elasticity Method)

a) .67
b) 1.5
cl2.0
d) 3.0

a) The  bookstore is considering
doubling the price of notebooks.

b) A restaurant is considering lowering
the price of its most expensive
dishes by 50 percent.

c) An auto producer is interested in
determining the  response  of
consumers to the price of cars
being lowered byRs.100.

d) None of the above.

ICAI SM

_ICAI SM

If electricity demaha is inelastic,
26 and electricity charges increase,
which of the { ollowing is likely to

occur? L W
[ -

A decrease in price will result in an

ZS increase in total revenue if:

a) Quantity._demanded will fall by a
relatively large amount.

b) Quantity ‘demanded will fall by a
relatively'small amount.

¢) Quantity demanded will rise in the
short run, but fall in the long run.

d) Quantity demanded will fall in the
short run, but rise in the lohg run.

a) The percentage change in quantity
demanded in less than the
percentage change in price.

b) The percentage change in quantity
demanded is greater than the
percentage change in price.

¢) Demand is inelastic.

d) The consumer is operating along a
linear demand curve at a point at
which the price is very low and the
quantity demanded is very high.
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ICAl SM

a) The good has many substitutes.

hecessity).

¢) The good is a small part of
Consumer’s income.

d) There is a great deal of time fo
consumer to adjust to the chan
prices.

b) The good is a luxury (as opposed to 4

the

r the
ge in

QN
30 | An Increase in price will result in is:ctzzzzs consumfiws ic\
i se in total revenue if: , om
PRy EINEsNIth to ' toRs.36,000. As g .-es,:{l‘t'“.qF

a) The percentage change in quantity 4 | consumer increases he, it
demanded is less than the 3 of compact discs (cDs) from ;hﬁ,
percentage change in price. to 30 CDs. What is the cons:“

b) The percentage change in quantity income elasticity of demqh"‘h
demanded s greater than the CDs? (Use Arc Elasticity Methd"
Percentage change in price. . \"“) |

¢) Demand is elastic. a) 0.5

d) The consumer is operating along a b) 1.0
linear demand curve at a point at (&)) it L
which the price is very high and the ||| d) 2.0
quantity demanded is very low. .|

- —m
[CAIISM 34 | Total utility is maximum whep,

31 Demand fo'r 4 9,°°d W,“! tend .to‘be a) Marginal utility is zero. |
Mmore elastic if it exhibits which of b) Marginal utility is at its p;
the following characteristics? bairs 'ghes

a) It represents a small part of the c) Marginal utility is negative
Consumer’s income. d).sNone of the above

b) The good has many  substitutes
available. =

c) It is q necessity (as opposed to a ICAI s
luxury). e . i

d) There |s little time for the consumer ‘ Which one is not an assumption o
to adjust to the price change. 36 | the tPBeory .of. demand based o

‘ analysis of indifference curves?
P a) Given scale of preferences g
ICAl. | ;
CASM between different Combinations of
—~ two goods.
b) Diminishin margi of
Demand for q good will tend to be substitutiogn. rdratats

e nf"ot': I:T:QSt“c i ;'t ¢xh¢}?t-ts.w:1|ch ¢) Diminishing marginal  utility of

of the following ¢ arqg}:ertstucs. b money :

Cohsumers . would always prefer
more of a particular good to less of
it, other things remaining the same.

ICAl SM

Ah indifference curve slopes down
towards right since more of one

3,6 commodity and less of another
result in:
a) Same level of satisfaction.

b)
c)
d)

Greater'sati.sfaction.
Maximum satisfaction.
Any of the above
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ICAl SM ICAlI SM
Suppose that workers in a steel What will happen in the rice
plant‘ mapaged to force a market if buyers are expectin
significant increase in their wage 40 higher rice prices in the nea?r
37 | package. How would the new wagde , future?
contract be likely to affect the

market supply of steel, other

things remaining the same? a) The demand for rice. will increase

and the demand curve will shift to

a) supply curve will shift to the (eft. the right . '
b) Supply curve will shift to the right. b) The demand for ricef will decrease
c) Supply will not shift, but the and the demand ecurve will shift to
quantity of cars produced per month the left ]
will decrease. c) The demand . for vrice will be
d) Supply will not shift, but the uhaffected as it is a hecessity
quantity of cars produced per month d) The demand for wheat will increase
will increase. and the demand curve will shift to
the right
ICAlI SM
Which of the following statements ICAI SM
£h is incorrect?
In the case of a Giffen good, the
a) An indifference curve must be 41 demand curve will usually be:
downward-sloping to the right.
b) Convexity of a curve implies that a) horizontal.
the slope of the curve diminishes as b) downward-sloping to the right.
one moves from left to right. c) vertical.

c) The income elasticity for inferior d) upward-sloping to the right
goods to a consumer is positive

d) The total effect of a change in the
price of a good on its _quantity ICAl SM
demanded is called the priceteffect.

42 | BY consumer surplus, economists
ICAlI SM meadn

The successive units of stamps
collected by a little boy give him a)

* | greater and greater ~sacisfaction. ||| ¥ [0S b neide the budger line
This tsac(eaf < of b) The area between the average
’ revenue and marginal revenue
curves.
c) The difference between the
a) Operation of the law of demand. maximum amount that a person is
b) Consumer surplus enjoyed in hobbies willing to pay for a good and its
K and rare collections market price.

| © Exception to the law of diminishing d) The difference between the market

b utility. price and the supply curve

fl) None of the above
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ICAI SM

Which of the following is a For a "°m
g Property of an indifference curve? & downward sloping dem

Y

ang

a) The price elasticity of
hegative; the ihcome elast;,
demand is hegative,

b) The price elasticity of

a) It is Convex to the origin due to
diminishing

marginal rate of
substitution

b) The marginal rate of substitution is

, . €m
constant as yoy move along an Positive; the income elq
indifference Curve,

: Stic
demand is negative.
€) Marginal utilit ¢) The price elasticity of dem,
move along an indi

positive; the income elastic
d) Total utility s greatest where the demand is pOsitive.
budget (ine Cuts the indifference d) The price elasticity of dem,

, hegative; the income elastig,
demand is pPOsitive.

L ———
IC
When €Conomists Speak of the
44 utility of q

: An increase in th
certain good, they are 47 is caused by :

a) Improvements in

e supply o?a
referring to

its  produ

techhoiogy
a) The demand for the good. b) Fall in the prices of Other g
b) The usefulness of the good in which cagn be Produced using
Consumption, same inputs.
c) The expected satisfaction derived ¢ Fall in the prices of factors
from CoOnsuming the good. pProduction used in its pProduction
d) The rate at which Consumers" gre d) all of the above,
willing to eéxchange one go0d  for
another, ¢

e —

ICAI
i Elasticity of supply refers to
L 48 degree of responsiveness of sup
. leAarsm °f A good to changes in ite:
N a) Demand,
A vertical supply curye parallel to y Price. '
45 | axis implies that the elasticity of ) Cost of Production.
supply is: W d) State of technology.
o e
! ICAl s
A horizontal supply curve parall
a) Zero 49 | to the quantity axis implies th
b) Infinity , the elasticity of supply is:
€) Equal to one a) Zero,
d) Qrea!:er than zero pyt less than b; B ite.
infinity.

¢) Equal to one. .
d) Greater than Zero but less than one.

ring or selling MVSIR’s books is not allowed. |t will le
I legal action with monetary penalties
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ICAI SM

Contraction of supply is the result
50 | of:

ICAl SM

a) Decrease in the
producers.

b) Decrease in the price of the good

number of

When income increases the mon

s4 | Spenton necessaries of life may not
increase in the same proportion.
This means

a) income elasticity of demand is zero

a) income elasticity of demand less
than/one

b) negative’ income elasticity of
demand

¢) zero income elasticity of demand
d) unitary income elasticity of demand

b)
c)
d)

concerned. _ b) income elasticity of demand is one
¢) Increase in the prices of other goods. c) income elasticity.., of demand is
d) Decrease in the outlay of sellers. greater than one
d) income elasticity of demand is less
ICAI SM than one
Conspicuous goods are al
s1 | o P g also known ICAl SMm
L) Prestige goods 55 The (ux.ury good:s like jewellery and
; = Ty fancy articles will have
b) Snob goods
c) Veblen goods a) low incomeelasticity of demand
d) All of the above b) high_income elasticity of demand
c) zero income elasticity of demand
ICAI SM d) none of the above
The quantity purchased remains
52 | constant irrespective of the change ICAI SM
in income. This is known as
a) negative income elasticity of - B A good which cannot be consumed
demand ] _ more than once is known as
b) income elasticity of demand less
than one
c) zero income elasticity of demand
d) income elasticity of demanda is a) Durable good
greater than one b) Non-durable good
c) Producer good
ICAI SM d) None of the above
As income increases, the consumer e
will go in for superior goods and
53 | consequently the demand for
inferior goods will fall. This means 57 | A relative price is
inferior goods have
a) price expressed in terms of money

what you get paid for babysitting
your cousin

the ratio of one money price to
another

equal to a money price

* Mohnish Vora (MVSIR)
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ICAlI SM

—

“\_‘\x
5g | A Point below the budget line of a Chicken and fish are gum
consumer 62 | the price of chicken incrga;%l”é}:
a) Represents a combination of goods __| demand for fish will :
which costs the whole of consumer’s a) lncrease or decrease butm‘
HIcorTe curve for chicken will not chang,
b) Represents q Combinhation of goods b) Increase and the demand
which COsts less than the

Curye s
2 for

COnsumer’s income
C) Represents a
which (s

fish will shift rightwards.
c) Not change but there
COmbination of goods

will .
movement alon
Unattainable +to the

g the demand ... °

bo

for fish. 1

COnsumer given his/her money d) Decrease and the demand curye for
(hcome fish will shift lefewards.

d) Rep_resents a combination of goods ———
which Costs more  than the ICAl gy
Consumers’ income ‘ | B

Potato chips and popcorn gy,
ICAl SM substitute-s. A .rise in the price 3
: : 63 | Potato chips will ————

59 | Pemand is the : the demand for popcorn and th

a) the desire for a COmmodity given its Yot pop;orn R it =
price and those of related & T —
CoOmmodities : a) increase; increase

b) the entire relationship between the

_ b) “increase; decrease
quantity demanded and the price. of c) decrease; decrease
a good other things remaining the d) decrease; increase
same :

c) willingness to pay for a good if
income is larger enough X
d) ability to pay for a good

ICALI SM

If the price
64 | increases,
ICAl SM Juice will .

of orange Juice
the demand for apple

1

Suppose potatoes have (-).0.4 as a) increqse because they are
60 | income elasticity. We can say from substitutes | 3
the data given that: \ _ b) decrease because they are
—_— : substitutes ;
a) Potatoes are superior goods. ' ¢) remain the. same because real
b) Potatoes are hecessities. - ihcome is increased
c) Potatoes are infe or goods. d) decrease as real income decreases
1 to increase the ;
; '?%ners so that they | , ICAI SMJE
gelapiichase ERgarges. An increase in the demand. _for
; : 5 | uters, other things remaining |
eof tomatoes increases 65 :Z::g’ i !;
Ple buy tomato puree. You
that tomato puree and a) Increase the number of computers
es are 1 bought. : . ne
> b b) Decrease the price but increase the
al goods ' ; ' humber of computers bought.
plements ' ' | ’ c) lIncrease the price of compute";- ik
itutes d) Increase the price and numbe .
or goods ~ computers bought. .




ICAlI SM

ICAl SM
When  total demand for q The i i
4 ant
66 | commodity whose price has fallen 71 quantity supplied of a good or

service i

oo e A R ice is the amount that
a) is actually bought during a. given

a) Income effect. time period at a given price
p) Substitution effect b) producers wish they could sell at 4

c) Complementary effect higher price

d) Price effect ¢) producers plan to sell during a given

time period at a given price
r—f ICAl SM d) people are willing to buy during a

with a fall in the price of a glven time period at a given price

67 commodity: ICAI SM

a) Consumer’s real income increases ”
b) Consumer’s real income decreases 72 | Supply is the
c) There is no change in the real
income of the consumer

a) limited resources that are available
with the seller

d) None of the above b) cost.of producing a good
c) entire . relationship between the
ICAl SM quantity supplied and the price of
r : - . good.
Z‘.“t:oaz l:ﬁ;‘easeaa:. thedet";::d:; d) Willingness to produce a good if the
68 iene, dyantity i technology to produce it becomes
also increases. This is because it is ;
k) available
a) Substitute good ICAl SM
b) Complementary good
c; Cbnsiicuous ggofi In the book market, the supply of
d) None of the above 73 | books will decrease if any of the
following occurs except
A M a) a decrease in the number of book
go | An example of goods that exhibit publishers !
direct price-demand relationship is b) a decrease in the price of the book
BN 7 ¢) an increase in the future expected
lfyen"goods price of the book
ch)) gol';"i,‘:”;‘:e”tarz goods d) an increase in the price of paper
ubstitute goods used.
d) None of the above
ICAl SM Al
. If price of computers increases by
In Economics, when demand for a A
70 commf‘édli-i?:l‘yflfincreases with a lel in a1 E20% and.s_upply iheredaes gyeasae,
s s ncelt T R o The elasticity of supply is :
2 '
a) Contraction of demand gg é'i
b) Expansion of demand A (2) 2.5
¢) No change in demand 4 (2) 0.4
d) None of the above .

e
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- s lie between
An increase in the number of sellers 79 | Comfort etween
75 of bikes will increase the a) inferior good; and ”eCGSSarieS
_ : b) luxuries and inferior goods
gg 'I;he p:;efg: Si:éie c) necessaries and luxuries
ema
. above
c) The supply of bikes d) none of the =&
d) Demand for helmets \M
ICAl SM 80 | In a very short period,the\sum
If the supply of bottled water a) can be changed e
decreases, other things remdining b) can not be changed
76 | the same, the equilibrium price — ¢) can be increased
MR P T . and the d) none of the above
equilibrium quantity ——————— ———
a) increases; decreases 81 Whe"_' supply curve moves to
b) decreases; Increases left, it means
Zg id:f::ass:ss-; 'iii;eazes , a) lesser quantity is supplied at g gi
ases; i ases bricl
1l| B) larger quantity is supplied at a gj
ICAlI SM price |
A decrease in the demand for c) prtce; have fallen apd quantity
77 | cameras, other things remaining supplied at a lower price
the same will d) none of the above
a) Increase the number of cameras ICAl
bought
b) Decrease the price but increase the g2 | When supply curve moves to rig
number of cameras bought , ‘ it means
D [ { .
c) d:fﬂrj:;zd th quantity of camera a) supply increases and more auant
d) Decrease the price and decrease in b) = surplctied at a given price .
the number of cameras bought. SUPPY decreases and less quantity

supplied at a given price _
¢ ICAI sMm ¢) supply remains constant at a giv

price
Which of the following statements ||| d) none of the above
about inferior goods is/are false? -
i. Inferior goods are those that g3 | The elasticity of supply is define
we will never buy, no matter . as the
how cheap they are. o0l oz ! .
o . Onsiveness of the quantit
78 | ii. Inferior goods are those that sup‘::lied of a good to a change in it
we buy more of, if we become Eiice
PAgVER: b) responsiveness of the quantit
iti. Inferior goods are those that supplied of a good without change i
we buy more of, if we become its price
Jricher. : c) responsiveness of the quantit
a) [ and lll only. | ?ti"gii”cfd of a good to a change il
2 'l”o:;my. d) responsiveness of the quantit)
d) 1, 1l, and 1II. demanded of a good without change

in its price

e
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ICAI SM

ICAI SM

Elasticity of supply is measured by
dividing the percentage change in
quantity supplied of q good by ——

84

a) Percentage change in income

b) Percentage change in quantity
demanded of goods

c) Percentage change in price

d) Percentage change in taste and
preference

The price of a commodity decreases
fromRs.6 toRs.4 and the quantity

ICAI SM

85 | Elasticity of supply is zero means

a) perfectly inelastic supply
b) perfectly elastic supply
c) imperfectly elastic supply
d) none of the above

ICAl SM

ge | Elasticity of supply is dreater than
one when

a) Proportionate change in quantity
supplied (s more  than _ the
proportionate change in price.

b) Proportionate change in price e
greater than the proportionate
change in quantity supplied.

c) change in price and quantity
supplied are equal

d) None of the above

ICAI SM

If the qualﬂtityz ';é-iipp(ied is exactly

g7 | edqual to the relative change in

price then the elasticity of supply
is Fui,

—

a) Less thah one
b) Greater than one
C) One

d) None of the above

)

88 | demanded of the good increases
from 10 units to 15 units. Find the
coefficient of price elasticity.

a) 1.5

b) 2.5

c) -1.5

d) 0.5

ICAlI SM
The supply function is diven as Q= -

89 | 100 + 10P. Find the elasticity using
point method, when price isRs.15.

a) 4

b) -3

c) -5

d 3

ICAI SM
The figure below shows the budget
constraint of a consumer with an
income ofRs.900/- to spend on two
commodities, hamely ice cream
and chocolates.
BN
20
.E.é
90 Eg)
g
(o lotnres = as S
Tups of Ice Creayn
The prices of these two
commodities respectively are;

a) Rs. 10 and Rs.20
b) Rs. 20 andRs.10
c) Rs. 10 andRs.5

d) Any of the above
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ICAl SM ) |

‘No matter what the price of coffee !f the price m

is, Arjun always spend a total of mcreagje;l Zro:n 'R5'3°.ooot'°'q

91 | exactly 100 per week ; 04 Rs.30, _an esultant Che, |
on coffee.” The statement implies demand is hegligible, we u=g'i
that: ‘ measure of. . ‘%‘e,1
measure elasticity. |

a) Arjun is very fond of coffee and ,

therefore he has an inelastic demand a) Point elasticity of dem

d Sihee.
for coffee _ a small change t
b) Arjun has elastic demand for coffee' b) Arc elasticity of demand Sihce it
¢) Arjun’s demand for coffee s small chang'e. i
relatively less elastic c) Price elasticity = based oh aver,
d) Arjun’s demand for coffee is unit prices method 4
elastic : d) Any of the above
—
ICAI SM - T
{ )
A firm learns that the owh price Given the following
elasticity of q product it

possibilities, which one will reg
in an increase in total expendit
of the consumer?

02 manufactures is 3.5. What would 95
be the correct action for this firm

to take if it wishes to raise its
total revenue? i

—

a),.Demand is unit elastic and pri

: rises
a) Lower the price because demand for b) Demand is elastic and price rises
5 the good is elastic. ¢) Demand is inelastic and price falls
) Raise the Price because demand for d) demand:is inelastic and price rises
the product is inelastic. ‘
¢) Raise the price because demand s
elastic. ICAI !
d) We need information in “order to ' ; :
answer this question. 96 ;:‘faﬁgpg SIS Shifts tosthe rig

a) improved technology

ICAI SM b) increased price of factors
production
¢) increased excise duty
‘ d) all of the above

At higher prices people demand
03 more of certain doods not for their : ! ICAlI S

worth but for their prestige value -

— This is called 97 | Which of the following statemen

_ | is correct?

a) When the price falls the quanti
demanded falls

b) Seasonal changes do not affect tt
Vv ect . ¢

S)) G?fliy‘:aer?s iafc)lcrzdox supply of a commodity

¢) Speculative effect c) Taxes and subsidiec do hot influenc
d) N%ne of the above i the supply of the commodity

d) With lower Cost, it is profitable t
supply more of the commodity.

Making pdfs, photocopies, xerox, sharing or sellig MVSIR's books is hot allowed. It will lec
to strict legal action with monetary penalties

CA Mohnish Vora (MVSIR) _




ICAl SM ICAI SM
| If the demand is more than supply The cross
’ elasticit b

98 | then the pressure on price will be i) Bread and DVDs is: ; i
a) Upward a) Positive
b) Dowhward b) Negative
c) Constant c) Zero
d) None of the above d) One

ICAlI SM ICAlI SM

The supply curve for highly Which of the following

99 | perishable commodities during very
short period is generally ——

0% statements is correct?

a) Elastic

b) Inelastic

¢) Perfectly elastic
d) Perfectly inelastic

a) With the. help of statistical tools,
the demand can be forecasted with
perfect accuracy

b) The more the number of substitutes
of a commodity, the more elastic is
the demand.

c) Demand for
elastic.

d) Gold jewellery will
ihcome elasticity.

butter is perfectly

have negative

ICAl SM

ICAl SM
100 | supply isa concept.
a) Stock
b) Flow and stock
c) Flow
d) Nonhe of the above
ICAl SM

The cross elasticity between Rye
101 | bread and Whole Wheat bread is
expected to be:

a) Positive
b) Negative
c) Zero

d) Can’t say

Suppose the income elasticity of
education in private school in
India is 3.6. What does this
indicate:

105

ICAI SM

The cross
102 | personal
wadres is:

elasticity between
computers and soft

a) Positive
b) Zero
¢) Negative
d) One

a) Private school education is highly
wanted by rich

b) Private school
hecessity.

¢) Private school education is a luxury.

d) We should have more private
schools.

education is a

Making pdfs, photocopies, xerox, sharing or selling MVSIR's books is not allowed. It will lead
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[

Li ¥y g ik . \\j"";L
Ll 1 My \7‘-
i ICAI SM . \'%‘
i : The following diagrq 3 ﬂ-\
; ' lationship  betyye,. Sho
rganizers of an upcoming re en
::Friz’lleet".gatch decide to increase Good X and quantis, 42"°°,
106 thé ticket price in order to raife of Qc:_'od Y. lthat o inf:q"i
its revenues, what they pdve the diagram is; by
learned from past experience is; v ‘
J - 1
1 | 108 |
a) The percentage increase in ticket T
rates will be always _equal  the %’
percentage decrease in tlck{ets sold = JENEE. ot
b) The percentage increase in ticket i D
rates will be always greater than ‘
the percentage decrease in tickets 0 Quantity dem
sold
¢) The percentage increase in ticket a) Good X and Good Y are per
percentage decrease in tickets sold b) Good X and Good vy are  per,
d) (a) and (¢) above are true

e e i

ICAI sM

Data on production of vegetables
for the past two years showed
that, despite stable prices, there

¢

) A substantial decreas

substitutes
c) Good X and Good Y are
substitutes
d) Good X and Good Y qgre

reme

107 | 5 a substantial decline in output
of cabbage leading to lower
supply into the market. Which of
the following can Possibly be the
reason?

a) An  increase ih  the price of
cauliflower which is equally
preferred by Consumers

b) Announcement of a subsidy by

government on vegetable

) More farmers
the
them

production
producing cabbage and
ihereasing Competition amohng

e ih the price
of capsicum

Clog
substitutes
g
: e ——
' ICAIS)
! r——
The diagram diven below shows
Y4 24
[ oa
R v e
109 -§p
(=8
A
\ D1
» ! Dz o
X o Qi » X
.

a) A change in demand which may be
caused by g rise ip income and the
good (s g hormal good

b) A shift of demand curve caused by
fall in the Price of a complementary
good

¢) A change in demand which is cqusel

by d rise in income and the good is
an inferior good

d) A shift of deman
rise in the price
the good is g hormal good.

Making pcfs
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| el
ICAlI SM ICAl SM
~ | which of the following
alternatives would be true if the
event presented in the following If roller- coaster Jfide is q
diagram occurs? 112 | function of amusement  park
b . s1 visit, then, if the P'ii‘d;’e of
- = amusement park entry falls
.-~"'f€—/ A ry
110 P e -l
a P
- s1
e S a) The demand for roller- coaster rides
L — X will rise and thendemand curve will
et shift to right
Quantity b) The demand for roller coaster ride
cannotgbe predicted as it depends on
a) A fall in wage costs of the firm the tastes of consumers for the ride
along with a fall in consumer c)
thcomes

b) A shortage of raw wmaterials and
consequent increase in raw material
price

c) An increase in subsidy by the
government and a reduction in taxes

d) Decrease in the market price of the
commodity in question

There will.be an expansion in the
demand for roller coaster drive as it
complementary

d) None of the above

ICAI SM

ICAl SM

The demand curve of a hormal
111 | 9°0d has shifted to the right.

Which of the four events would
have caused the shift? :

113

If a short run supply curve is
plotted for the following table
which  presents price  and

quantity of fighter aircrafts,
what will be its shape?

a) A fall in the price of a substitute
with the price of the good

unchanged

A fall in thehominal income of the

consumer and a fall in the price of

the normal good

¢) A fall (win.  the price  of a
complementary good with the price
of the hormal good uhchanged

d) A fall in the price of the normal

good, “other things remaining the
same

R

b)

Price in millions of $ | Number of Aircrafts
124 28
140 28
150 28
160 28
175 28

.. Making Pdfs, photocopies,

fo strict legal act
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a) Horizontal straight line parallel to
the quantity axis

b) Steeply risin
than one

c) Vertical straight line parallel to Y
axis

g with elasticity less

d) A perfectly elastic supply curve

Xerox, sharing or selling MVSIR’s o)
ion with monetary p

00ks is not allowed. It will lead
enalties




rr__,__"’:—

%{

AT

N
the \
foyy

Out u
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ICAl SM
=i . H ts WhICh Of
The average income of residen .
i of two cities A and B and the 116 statemenss is true gq
corresponding change.in d_emand consumer?
for two goods (s given in t:e a) The consumer is not MaximaN
followa.ng table. Wh’uch of? the utility at point K 2ip
following statements is true: b) The D hsumer is spending.he,
city | %lncre % change % income on both goods
In in change in ¢) The consumer gets equal plegs,
Inco dem demand points B and K ¢
me and for Good Y d) All the above
for
Good
___-——————_#__.5—-——;_____/——# 117 The effect on consumer ;"‘PE
12 6.5 -2.3 a fall in price from EtoFis
__/_d.——————"__’____’——‘_________——/——_ Y
a
B 9 5.6 BRRIS E
a) Both goods are normal goods in both e n
price - —-’______B c

cities A and B

b) Good X is a normal
cities; good Y (s an in
city A

c) Good X is a normal
cities; good Y s an in
city B

d) Need more |
accurate comment

good in both
ferior good in

good (n both
ferior good in

nformation to make an

gy

ey

)

ICA)|

@ o1

uantity

a) A decrease
EFGR

b) A decreasé
AER '

c) A decrease
EFCR

d) None of the above

in consumer surplus i
in consumer surplus §

in consumer surplus i

I
I

ICAI §I

l

118

When price

increase in
seller is

rises from F to E, th
revenue earned by thi

b) Consume more of

Good Y
¢) Consume more of X an
reach point K
d) Consume same

and more of Good X

ICAI SM
If this consumer is spending her
entire income and consuming at
point B, what advise will you
give her?
¥9
115 g B
2
2 ICa
ICo
1C+q
- Good X L =
a) No advise needed, as she is
maximizing her utility at B

Good X and less of

d less of Y and

quantity of good Y

a) Equ
b) Equivalentt

ivalent to area EFGR
o area EFCR

c) Equivalent to ared AER
d) None of the above

not all
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ICAlI SM ICAl SM

How would that budget line be During a recession, economies

119 | affected if the price of both goods experience increased
fell? 120 | Ynemployment and a reduced

_ : level of income. How would a

a) The budget line would not shift. recession likely to affect the

b) The new budget [m_e Must be parallel market demand for new cars?
to the old budget line.

c) The budget line must pe shifting to a) Demand curve will shifeto the right.
the left b) Demand curve will shift to the left.

d) The new budget line will have the c) Demapd will not" shift, but the
same slope as the original so long as quantity of cars seld per month will
the prices of both goods change in decrease. ' '
the same proportion. d) Demand will. not shift, but the

quantity of cars sold per month will
increase.
Answer Key —Chapter 2 (unit - 3)
1, (d) 2. (b) 3. (c) 4. (b) 5. (b) 6. (b)
7. (b) 8. (c) 9. (c) 10. (b) i, (b) 12. (b)

13. (b) 14, (c) 15. (d) 16. (c) 17. (a) 18. (b)

19. (d) 20. (d) 21. (e) 22. (b) 23. (e) 24, (e

25. (d) 26. (b) 27 (a) 28. (c) 29. (b) 30. (a)

31. (b) 32. (c) 33. (b) 34. (a) 35. (c) 36. (a)

37. (a) 38. (c) 39. (c) 40. (a) 41. (d) 42. (e)

43. (a) 44. (e) 45. (a) 46. (d) 47. (d) 48. (b)

49. (b) 50. (b) 51. (d) 52° (c) 53. (b) 54. d) |

55. (b) 56. (b) 57. (c) 58. (b) 59. (b) 60. (e) |

7

61. | (o) 62. (b) |" 63. | (a) 64. | (@ | 65. | (&) 66. | (d) |

67. (a) 68. (c) 69. (a) 70. (b) z1! (e) 72. (e |

1

73. (b) 74 (a) 75. (c) 76. (a) TAA (c) 78. (a) J

79 | (@ | 80.W () | 81. | (@) | 82 | (@ | 8. | @ | 84 | (o 1

|

85. | (@ |n86. | (@) | 87. | () | 88 | (@ | 89. | () 90. | (b) |

oL @ o2, | @ | 93 | @ | 94 | @ | 55 | @ | % | @ |

97. | (d) 98. (a) 99. (d) 100. (e) 101 (@) 102 | (o)

12030 | © | 104 | ® | 105 | © | 106 | ) | 107 (@ | 108. | (d)

109 | () |10 | ®» | 111 | (© | 112 (@ | 113 | (0 | 114 | )
| 50 ®» |16 | @ |17 | @ | 1z (@ | 119 | (@ | 120 | (v
%‘; ® g pd Pnotocopie ero aring or se e R's boo of allowed G
‘\ O cddl d @ oneig penaille

i CA Mohnish Vora (MVSIR)
|
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A.Q. Extra My
The economist’s concept of Which of the fo!(owing staterments
1 | demand is as desire or need are crus or faisse
or choice or preference or order. 1. Snob  Effect represents +he
. 8 desire of people to be exelusive,
a) the same thing to be different; to dissociate
b) not the same thing themselves from the "eammeon
c) (A)or (B) herd.
d) None of these 2. Snob Effect is a function of
price
MTP Dec 22, A.Q. 3

a) (1) & (2) are false
The most crucial determinant of b) (1) & (2) are true
2 demand for an item is c) (1) 1s true & (2) is false
=y d) (1) Is false & (2) is true
a) Income of consumer S—
b) Prices of other related goods Extra MCG
¢) Taste and preference of consumer
d) It's own price Highly priced goods are consumed
by status seeking rich people to
MTP Mar 18 7 | satisfy their need for conspicuous
If distribution of income is more ;ZZ::;’;P;:"' Ll hAPREES
3 | equal, then the propensity to
consumer of the country is a) Veblen Effect
; ; Effe
a) Re(atl'vely High 3 EZﬁZng(iE Effect
b) Relatively Low d) Price Effect
c) Unaffected

d) None of the above

MTP Nov 22
MTP Mar 18, MTP Dec 22

4 When price of a substitute of X

commodity falls, the demand for X __ Match the following
a) Rises LIST~1
b) Falls a) Tea and Coffee
¢) Remains unchanged

b) Car and Petrol
¢) Gold & Diamond |
8 | d) Ragi and Bajara |

d) Any of the above.

PYQ Jun 23 LIST 11 |

1. Veblen goods :

Increase in price of pulses leads to g Z‘i‘;zt't“te: |

5 | increase in demand of green 4' ‘L 999as i

vegetables - Complementary ‘

— :

a) Substitutes Codes: a b ¢ |

b) Complimentary goods (a) 1 2 3 4 |

¢) Normal goods (b) 2 4 1 3 |

d) None of the above (c) 1 3 4 2 |
(d) 1 3 2 4
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A.Q.

{

MTP Dec 22, m
1

o | An important generalization about
demand is described by____

13 when violation of law Ofm

occurs:

a) Law of demand

b) Factors affecting demand
¢) Quantity demanded

d) None of these

A.Q.

;

a) substitution effect is ncgatiVT\s

b) income effect is negative

¢) Negative income effect isless = tp,
substitution effect i

d) negative income effect is 9r@ate,‘
than substitution effect

—

‘Ceteris Paribus’ clause in Law of

¢
2 demand does nhot mean-

PYQ Jun )

The substitution effect will bmhdﬂ
o when the price of the product fallg

a) Price of commodity does hot change fallsy
b) Price of substitutes does hot change a) Zero
c) Income of consumer does hot b) Negative
change ¢) Positive
d) Price of complementary goods does d) Lower cost
not change —
o
A.Q.
|

MTP Apr 21

11 | In case of inferior goods:

a) lncome effect and substitution
effect work in opposite direction

b) Income effect and substitution
effect work in same direction

c) It leads consumer to purchase less

The price of a piece of jewellery
rises, the demand for it may also
15 rise as consumers attach a to
owning & displaying ex.pensive%
items.

!

—

a) money value
b) use value
¢) shob value

of a good and more of the
substitute d) None of these
d) None of these
MTP Mar 22, Apr 23
Extra MCQ 16 | For Giffen good the Engel curve is:

In the case of inferior goods, the
12 | expansion in demand due to a
; price fall will take place only if the

a) Positive sloped
b) Vertical

¢) horizontal

d) Negative sloped

outweighs the
effect
effect outweighs the

a) Income effe
substitu
b)

effect equals the
income effect :
None of the above

MTP Dec 22

Inspite of the fact that the price of
the television sets refrigerators, air
conditions etc. have been
continuously rising their demand
does hot stand any tendency to
fact because they are

17

—

a) Conspicuous goods

b) Giffen goods

c) Speculative goods

d) Conspicuous necessities.

not allowed. It will lead
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PYQ Jun 22

QOOdS, the

In case of Veblen
18 | demand curve is

PYQ Jun 22

) Horizontal
b) vertical . ;

) upward sloping to the right

4) Downward slopping to the right

The demand for petrol decreases
22 | due to increases in its price, it is
termed as

|
e

PYQ Jun 22

a) A decreases in demand
b) A change in demand

¢) A contraction in demand
d) An increases in demand

which of the following statements
19 | is not correct?

A.Q.

a) Giffen  goods  exhibit negative
relationship  between price’ and
demand

b) Conspicuous goods exhibit positive
relationship  between price and
demand

¢) Incomplete information and
irrational behaviour of consumer is
one of the reasons of exception to
the law of demand

Let QX = 1500/Px the elasticity of
23 demand of the good X when its
price falls from $ 8 to $ 2 per unit,
will be _ (Use Arc Method)

a) greater than one
b) less than one

c) equal to one

d) can’tsay

Extra MCQ

The price of a good decreases from
Rs 80 to Rs 60 per unit. If price
24| elasticity of demand = 2 Original
\ Qty demanded = 50 units. Calculate
the new qty demanded.

d) Law of demand states inverse
relationship between price of g
commodity  and its quantity
demanded

MTP Dec 22

When real income rather than
money income is kept constant in
20 | drawing a consumer’s - demand
curve for a commodity, the
demand curve is negatively sloped,

a) 25 units
b) 75 units
¢) 100 units
d) 0 units

MTP Oct 18

a) Always
b) Never
' ¢) Sometimes
d) Often.

If R point bisects the demand curve

25 | in two equal part, then elasticity
at R equals__

MTP Dec 22

a) Zero
b) Five
c) Two
d) One

21 | Empirical demand curves refer to
demandk'curves estimated from

h—

MTP Apr 21

a) utility theory
b) the

theory

¢) Information provided by individual
consumers

Actualmarket price-quantities
Observations.

hew approach to consumer

From the following demand curve
determine the elasticity at the
26 | given price

Q=1200 - 10P

When P = 5, dQ/dP = 10
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a) Elastic

b) Inelastic

¢) Unitary elastic
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o~

= MTP Ju,:;”

Q128 in McQ compiler (Pg 2.17)

A-Q-

PRICE (IN §)

10

D1

3 X

|
QUANTITY DEMANDED {UNITS)

which of the following stat;m\.n\
29 : t
is correct?

a) When the slope of L‘lju dclmam
is zero, demand (s inflnitely lasy
and when the slopg s mf’”hf
elasticlty is zero. )
when the slope of the demand CUryg
is zero, the elasticity 15 also 4,
and when the. slope (s infipy,
elasticity is also Infinite, /
¢) When the slope of the cl,cmam! CUrye

is zero, the elasticity s unity gy,

also when the slope [ 5 infinjge

elasticity (s unity. !
d) None of these

b)

—

In the above figure, DD1 is the
demand curve of a commodity.
There are two points on demand
curve i.e., A and B with (P, Q) as
(10, 2) & (8 3) respectively. If
initial point is A OR initial point is
B, price elasticity of demand will be

MTP Jun 2

The share of the tax borne by
30 | seller will be larger

a) same in both cases by point method
of price elasticity of demand

b) different in both cases by Arc
method of price elasticity of demand

¢) same in both cases by Arc method &
different by point method of price
elasticity of demand

d) None of these

a) If demand for product (s less elastie,

b) If demand for product is inelastic,

c) If demand for product has greater
elasticity.

d) If elasticity of supply of product (s
larger. J

ey

MTP Mar 22|

A movement along a curve rather
31 | than a shift in the curve can be ‘
measured by:-

MTP Mar 22

f'Price elasticity
en two points
rve is

| The Coefficient o
- 28 | of demand ‘bet
- | onh a demand eu

e

a) Cross elasticity of demand r
b) Income elasticity of demand ‘
c) Price elasticity of demand & Price|

elasticity of Supply ‘
d) None of these |

Extra MCQ

re

a) Arc elasticity
b) Point elasticity
c) Price elasticity

d) None of these : ' \ B

If demand for a good is inelastic,

|
[
32 | then as per total outlay method (

g) Quantg’ty Effect > Price Effect
) Quantity Effect = Price Effect

¢) Quantity Effect i -
A (c) <'Price Effect
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MTP Aug 18, May 20, Nov 22, SEQ MTP Dec 22, A.Q.

If increasing air fares increases During lockdown due to covip-

revenues and decreasing them 19, a consumer finds the vegetable
decreases revehues, then the

33 ' vendors selling vegetables in the
demand for air travel has q price 3g | street have raised the prices of
elasticity of: vegetables than usual prices. She

,.-—)—-E;O will buy vedetables than/as

a ‘ her usual demand showing the
b; g:‘eeatar than zero but less than one demand of vedetables is
c
d) Greater than one a) more, inelastic demand
—— b) less, elastic demand

A.Q. c) same, inelastic demand
If the price of a commodity raised d) same, elastic demand
by 12% and Ed is (-) 0.63, the

34 | expenditure  made  on  the MTP Mar 18, SEQ
commodity by a consumer will _ The income of a household rises by
et 20 per cent, the demand for
Alese’ = oF 39 | computer rises by 25 per cent, this
s means computer (in Economics) is
¢) Remain same i
d) Can’t Say

a) inferior good
MTP Mar 22 ||| b) luxury good
c) Necessit
When the demand curve is a dg can’t sa;/
rectangular hyperbola an increase
35 | in the price of the commodity

: MTP Oct 19
causesthe total expenditure of
consumers of the commodity to : 40 | Suppose income elasticity of bread
. is 0.25, its means that bread is-
a) Remain unchanged

b) Increase a) Inferior goods

c) Decrease b) Luxury goods
d) Any of the above c) Normal goods

d) Can’t say

A.Q.
Commodities such as prescribed MIESHg 12
36 | medicines and salt have and 41 | Which  of the following s
hence, have an demand incorrect?
a) Several substitutes, elastic ¥
b) Several substitutes, inelastic a) The cross elasticity of demand for
c) No close substitutes, inelastic two substitutes Is positive. .
d) No close substitutes, elastic b) The income elasticity of demand is
the percentage change in quantity
A.Q. demanded of a good due to a
: change in the price of a substitute.
| 37 | Demand for water is - c) The cross elasticity of demand for
Rl etic two complements is negative.
Dl elastic d) The price elasticity of demand is
) Perfectly elastic always negative, except for Giffen
d) Relatively elastic goods.
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Extra Mea

PYQ 5un 3

Whai the numstlieal value of eross
b ahmlnf Wetwanh twe  doods 18
veky Nigh, I+ mieans

A1 ke die peifert eaniplements dnd
Phetefeibe Have o Be dsed together
Fltinede i peflerl slibetitiites dAnd
el be Lsed with edse (K pldee of
e ApekHes

[

Wiegh  degiee  of

Advertising elasticity of demang | J
46 :
typically __

- x
a) Negative -

b) Positive
t) Alwdys zero
d) None of the above

\“

er theie  ls A N ———
o ek Wk sbiwerH  the two
'::,':,f‘..“‘“ ity  Betiwer 4 The objective of advertisement i
i riepde  dre nedtidl  dnd  therefore to
relHBE B releldered Aq slibstitutes — —
Extra Mca ’
| the  ereae  slastieity  between ||| o) shift dermand Curve to left & Reducg
AV | perasidl  Eomiputers  dhd  soft elasticity of demand ,
weiee |a: b) Shift demand Curve to right 4
inerease elasticity of demand
Al PeelEfve c) Shift demand Curve to left &
W Zetes incredse elasticity of demand
El Nedntive d) shift demand Curve to right g
i One } Reduce elasticity of demand
g MTP Mar 22
| Between bwe petfect subetitute — —
The slasticity of Substitutlon Mg MTP May 23
) » Zeiv
W) s2erw There will be in the
Bl ""“”WW 48 | demand Curve of cars with an
1 HitHItY 3 increase in the Price of Petrol
Extra Mcq ,
- a) Leftward shift
i i B b) Rightward Shift
‘ o c) Upward Movement
of  eross-price d) Downward Movement
4 H 2 goods (s only |
te, then it is a — |
A PYQ Jun 23 |
Il 49 | Moevement along the same demand |
|

O

Curve represents

e
Cliae Blibtibes

BHR Eaniplemeibe
Eresng o bviplebients

B—

a) Change in demand ;

b) Change in Quantity demand
€) Increase in demand

AUHAG et w!lmrﬂ-\*

{ ‘_" ', & [ “w 1

Malnish Vers {MVEIR)

o —

/ITH MoR et

\
) Decredse in demand {

SIR's books is not allowed. It will lead
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A.Q. A.Q.
50 | Luxuries are goods that are 55 | MU curve will be below x-axis
a) Enjoyable and essential when
b) Enjoyable but not essentiql a) MU is zero
¢) Essential but not enjoyable b) TU is falling
d) Neither enjoyable nor essentiq| ¢) MU is negative
d) Both (B) and (c)
A.Q.
People know utility of goods by , MTP Mar 21
51 means of MU from last unit consumed of
. commodity Y = 50 Units and Mum =
a) price : 56 | 10. Consumer is in equilibrium and
R/t ospection consuming commodity y only. Find
€} demand the Price of Commodity Y____
d) desire
a) 5
A.Q. b) 10
: - c) 40
52 By way of an optimal choice, a d) Nohne of these
consumer tends to
a) save money

Making pdfs, Photocopies, xerox, sharin

CA

fo strict legal act

Mohnish Vora (MVSIR);

MTP Oct 18, Oct 20
b) purchase large quantity Marginal utility approach to
¢) maximize satisfaction C D aemand a: given by,
d) Maximize satisfaction Subject to :
constraints  like  tastes  and a) J R Hicks
preferences b) Alfred Marshall
c) Robbins
SEQ d) A C Pigou
’ Extra MCQ
Consumer stops purchasing = the
53 | additional units of the commodity Which of the following is incorrect
when S& | relating to Law of Diminishing
Marginal Utility ?
a) marginal utility starts declining a) Law _may not apply in case of
b) marginal utility become zero prestigious goods . _
) marginal utility is equal to marginal b) Law may not hold in case of hobbies
utility of money c) Law applies in case of habit forming
d) total utility is (ncredsing commodities
d) Law may not be operating in cases
such as creative art
MTP Dec 22, A.Q.
— MTP Nov 22, MTP Apr 19
At saturation point of TU curve , : o T
54 . Cardinal Measurability of utility
i thg slope of TU curve is____ 59 Paies
a) 1 a) Utility can be measured
b) Infinity b) Utility cannot be measured
B Zero c)- Utility can be ranked
d) Positive d)

Utility can be measured in some
case

g or selling MVSIR's bo
ion with monetary penalties

oks is not allowed. It will lead




LU LT e i———
pp—

/
a CA Foundation — June ———
//""r—'r::,//'
MTP Mar 18 . (
IM LN
ar n

MTP Mar 18
el = A in case of necessaries the m
w of diminishing marginal utility utilities of the earlier Unii:g‘hﬂl

La
60 | may not apply to: large. N such cases the Consu,:'!
%

— surplus will be:
a) Money '
a) Infinite N
zZero

b) Butter
ndlly positive

c) Pepsi, coke etc. |

) leereom || & Marg| _
TP Jun 22 d) Marginally Negative

/ \\\

Em\ca

A consumer is in equilibrium when
61 | sthe s deriving —— onsumer surplus is rerSehTe\
m the goods- e T

satisfaction fro
e the demand curF\
and

. a) Ared abov
b) possdole below the price
b) Ared below the demand curve gp

c) maximum possible
above the price

d) None of these j
’/‘—'—- "
c) Ared on the right of demand curve

e Mar 22 ||| &3 (ope of the Ve
-3
—

/
g :
After reaching the saturation L e ———
f additiona! SEQ, MTP Apr 23
i

point, consumption 0
,_—.A'-—__-——_—_’
r income effect, consumer &

units of the commodity causeé:
a) Total utility to fall and marginal oiad| Unde 3

utility to increase
b) Total utility and marginal utility a) Move along
both to increase ' curve _
and marginal. b) moves O higher ~ or  lower
indifference curve

c) Total utility to fall
hases higher quantities |
|

a) maximum

62

original indifference|

utility to become negative
d) Total utility to become negative and c) always purc
marginal utility to fall ‘ of both the commodities
d) none of the above
PYQ Jun 22 ‘

—
MTP Nov 22, AQ

ty is diminishing,

when total utili

63 | the marginal utility is
a) Diminishes
b) Zero A cohsumer’s preferences are
¢) Negative 68 monotonic if and only if between
d) Increases two bundles, the consumer prefers
the bundle which has
SEQ '

C N
‘ MTP Nov ‘22, MTP Aug 18, Mar 19,

e ! Thg"[?( consumer surplus is
; b on: : a) more of one of the goods
b) less of at least one of the goods

a) indif%%e‘gtcurve analysis ¢c) more of at least one of the goods |

and less of the other good.
he goods

b) revealed preference theory
¢) law of substitution | d) more of at least one of t
d) E?:?ut;/aw of diminishing marginal and ho less of the other good. ‘

Maki - :
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A.Q,

|

\ |

—

MCQ Shastra - Volume i

e

MTP Apr 19

According to ordinal approach
69 | consumer’s behavigr- L

) consumer is able to fndm
exact amounts of utilities that he
derives from commodity o,
combinations of them,
utility being psychological feefing ;e

not quantifiable. >

) The consumer is capable of

E comparing the different
satisfaction.

4) Both (B) and (©)

any

)

simplh
levels

|
|

of

e

f" A.Q., MTP Jun zzﬁ!

which of the following statements

is correct regarding indifference |
curve? '

- . I c ~
g) Two ICs may not intersect each
- g
o
gunct -
-_— Pl -~ Y Ore O e -~ i .
b) Two ICs may I SELT each other
”’
. ~ ro -~ L =)
- WO LS are always paragile 0 each
C Eac
r—-reor
Udic
£ ol
= o ik S
d) NOone Oor these
- »
—_—

MTP Mar 21

When goods are complementary |
the indifference curve is :

o

L ‘H‘

(2%

73

Indifference curye

is convex to the
origin due to:

a)
b)
c)
d)

Falling Mrs
Rising MRS
Constant MBS ‘
None of the above

N

i
|

\
\

L

anSsd
A .

~

Extra MCQ

75

Which of the following is not a
property of the indifference curve ?

W\

)

\
Al

\\‘
{

D o rigevuor cleves Ao ’ Wl e
Crence curves sliope aOwnwardg
) e rioane
v e s L=
-,
-
-~ —— ~ -~ oo = £ AN “ire
c crence curves siope downward
o e
' = ~ DT e 5 = e -
- - L - - ¥ -
Srch o
— - VLT
= e e e
- - — = s e e
P
TS

i\

3

NoMErence curve for these Dwo
SDoDZs are sTroight parglie]l Gine with
2 constant siope along the curve

néifference curwe has o constant
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! MTP Dec 22 m

]

1

‘ : r
| The substitution effect for a fall in go | Weecan write the budget Constrg;
77 | the vprice of a commodity (ceteris for two goads X and Y as - t|

b) Change in demand
c) Change in utility
d) None of these

1. Linear indifference curve
2. Monotonic preference

3. L-Shape Indifference curve
4. Convex to the origin

I
| paribus) is given by a) Px.Ox + Py.Qy = B \
|| @ a movement up a given indifference b) Px.Qx + Py.Qy < B
| curve c) Px.Qx + Py.Qy > B
'| b) a movement from a higher to a d) Px.Qx +Py.Qy = B
| 5 .

lower indifference curve —
|
| &) A  movement down a given M?o(;tTg
' indifference curve Ty

r :
i d) any of the above. 81 ;.rshf slope of coggumier's budget (i,
| MTP Nov 22 a) Positive and constant U
: b) Negative and decreasing

g Match the following .LIST-l ¢) Negative and constant
; a) Two perfect substitute goods d) Positive and increasing
1 b) Two perfect complementary —
| goods MNP Dol
; ¢) Indifference curve is always T¥Decize
| d) Higher IC gives higher level of g2 Shift in the budget line when prices
| 78 satisfaction are constant are due to
| LIST — I da) Change in income
i
|
1
|

| MTP Mar 19
|| Codes: a b c d
[| (a) 1 2 3 4 When  the consumer is in
(b) 3 1 4 2 83 | equilibrium his price line is
(c) 1 3 4 2 to indifference curve
(d) 1 3 2 4
a) Parallel
A.Q. b) At right angle
c) Diagonally opposite
While drawing budget line of a d) Tangent

consumer consuming Nachos chips
and Pepsi, if the quantity of
Nachos taken on Y-axis and
79 | quantity of Pepsi on X-axis. The
f:zgz:: ':,';dg_et',:::: ';,fl“PZ:si, PN - 84 | The budget line is also known as:
Price of Nachos & M - Money
income of consumer]

MTP May 23

q) -E=
e, a) Production Possibility Curve
b) o=t b) Consumption Possibility Curve

c) lso Utility Curve
AN d) None of these
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A Fosnidad oy Fidpyu 1024

o Supply And stash el MTH A7 37 |
T} od o 4 Mk

Nl sboeh ary e e TP Aug 18, seq
e thirgs — e 1Seman must sall al of iy
) Klferan aally tateh bafora 16 spoifs gy,
tif!‘/“'g e SO PUrison W zlf’l’za‘“v:;mr;;’i@l: h‘y“ a”‘"d'
;,” pufh (1) And (€) fisherman's Pﬂg"? Mna'?gﬁwﬂyf
——— e | e L SUPPLY for frash ﬂﬁ&- ‘
L. '_:-(.M:.r!? Ma' zz ) ZEr, T T :
Rehavior of Supply depands upaee 11| Y infinite
LA Pands Upon &) une, ’

1) PhEnameEnan Covsldarad
U) pegree uf passlble N(”ur,”mjm ("
supply

i) unaple Lo be e

. tarmined from this
(Nfermeation,

(e Perlod under Coapglday 0 e —
:l} All the aboye even —— _ AQ
Q-;“-";":""—’h_w e — f(e!atlam_hw between slope  of
S MTI’ Mar 22 o1 WPP:V CUrve and  elasticity of
i Suppose we are drawing q ";PC_’T [ Supply Can be defined as -

‘ y

o c“ﬁ:‘ If;f n x:lr‘mer _Mllch_ of the A) Product of slope of supply curve and
fo :Vmﬂ l hot  be Ky ratio of duantity supply to price

gonstant, | b) Flagticity of supply is equal to the

a) Price of Inputs ' Slope of supply curve,
b) Weather Conditions ) Product of reciprocal of slope of
(}) Taehnology SUpply curve and ratio of price to
d) The price of the commodity upder fguantity supplied :
conslderation d) Elasticity of supply (s equal to
e —— . reciprocal of slope of supply curve.
= s6a |- s =
T T v TP Apr 21
Yesterday, seller A suppliad 400 || | i 4
units of a good x at re, 10 per When price of a good rises from
88 unit, Today, seller A supplies the 92 Rs. 20 to Rs. 30 the producer
same  quantity of units at rs, & supplier 20  percent more the
per unit. Based on this evidence, Price elasticity of supply is
seller A has experienced a (an) a 0.5
a) Decrease (n supply, ) 0.4
b) Increase in supply. c) 1 ;
€) Inerease in the quantity supplied. d) None of these a
d) Decrease (n the quantity supplied U ——
e ' - Extra MCQ
Extra MCQ
93 To Improve price elasticity of
The supply function is given as: supply an organsation can
89 - * 18p. Find elasticity of ||| o
iPply  using point method, If a) Improve the technology used
1S flce = Rs 20 b) Increase production capacity
a) -2 c) Expand storage space for stock
b) 1,56 while  making sure that products

can last long while stored
d) All of the above

holocopies, xerox, sharing or seling MVSIR's books Is not allowed. It will lead
16 strict legal action with menetary penalfies
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MTP Jun 22
Slope of supply curve is 0.6, supply is ,

94 | calculate elasticity of supply when | g |10 P—— h‘?f Profuce., &
initial price is $ 30 per unit & | there s igh  deg,, el
initial gty is 100 units. | compeeen '

a) 0.5 ; d) Less elastic o

b) 5.55 || b) More elastic

¢) (=) o.5 || ) perfectly inelastic

d) (<) 0.18 t d) Any of the aoove

_""""“-_.
MTP Dec 22 | T A%
!

Elasticity of supply at any point : Products that Mv:alyg—h;;
on a  supply curve passing | ee complex gproduction Processe,
95 through origin  point making || require welotively longer Cime

angle of 35 degree with X-axis is || produce exhibit
—

er th > ’ a) Gre elasticivy of supz

Cbl) Great('.qr than one ' b) Lower elasticity of suzsh

cg lézzzzctgnogze | c) Zero elasticity of supply

d) Any of the above i d) Noneof the aoove

| ..
, PYQ Jun 22 || MTP Jung
If price of sugar increases from The market demand cwve ;‘;
Rs. 8,000/~ to 10,000/~ per tone & perfectly competitive industry &
og | due to that quantity supplied of | 100 | @d = 12 - 2P and the morke
sugar  increases from 2000 to supply curve is: Gs = 3 = 7. T

2500 tones. Elasticity of supply market will be in eqguilibrium &

will be

a) ()1 g; g =f ahj :.'/ =9

b) 1 =5 an D=,

c) ()04 c) P=4and Q=4

d) 0.4 d P=2and Q=6

PYQ Jun 22 Extra MO
97 supply will be if firms are —_ Fepresents the &0
not worki ~tofull capacity 101 | 94ins to society from
. 4- b exchanges that are made 07
' particular market
/

a) Inel %@/

), Perfechir inelastlo a) Market Equilibrium

¢) Elastic . b) Cons

4) Any of the above Ensimer welfare
4 ' ¢) Social Efficiency

d) None of the above

A Mohnish Vora (MVSIR)
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Extra Mcaq

.—/
§ represented by the

area above the supply cyrye and
102 pelow the price line

/
consumer surplus

producer surplus
¢) consumer Welfare

d) (a) or (C)

;

A.Q.

Elasticity of demand and supply

103 | are
concepts

| —

a) Relative

b) Absolute

¢) Both (A) and (B)
d) Neither (A) and (B)

MTP Mar 22

104 | A theoryis:

a) An assumption

b) A hypothesis

¢) A validated hypothesis
d) None of these

CA Mohnish Vora (MVSIR)
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Business Economics

Chapter 3
THEORY OF PRODUCTION AND
COST

ICAl SM MCQs

MCQ Shastra — Volume |
(Micro Economics)
by MVSIR




o
Ill‘o‘;y: A

In the production of whege o
the following gre varisbie fﬁffﬂ

iICAlI SM

Which of the following 'is‘

1 | considered production in
Economics?

a) Tilling of soil.

b) Singing a song before friends.

¢) Preventing a child from falling into 4
manhole on the road.

d) Painting a picture for pleasure.

ICAI SM

2 Identify the correct statement:

a) The average product is at its
maximum when marginal product is
equal to average product.

b) The law of increasing returns to
scale relates to the effect of
changes in factor  proportions.

c) Economies of scale arise only
because of indivisibilities of factor
proportions.

d) Internal economies of scale can

accrue when industry expands
beyond optimum.
ICAI SM
3 wWhich of the following is not a
characteristic of land?
a) lts supply for the ceconomy s
limited.

b) It is immobile.

c) Its usefulness depends on human
efforts.

d) It is produced by our forefathers.

Which of the follawing statements

- is true?

a) Accumuldtion of capital depends

solelyfon thcome of individuals,
b) Savings | can be
government policies,
¢) External economies go with size and
internal economies with location.
d) The supply curve of labour is an
upward slopping curve.

influenced by

5 | that are used by the . ¢ g
| except: ioney
4) the seed and fertilizer uses o~
the crop is planted O

b) the field that hasgbeen clegro
trees and in whRich the cro. O
planted. v .

c) the tractor used by the forme.
planting and euitivating nor .,
wheat but alse corn and borley,

d) the number of hours that the for,,.,
spends g in, cultivating the ..
fields A

—_—

MCAH gy

T

¢ The marginal product of g varigy,
input is best described as:

a) “otal product divided by the nunie
of units of variable input.

b) the additional output resulting fom
d one unit increase in the vorigse
input.

c) the additional output resulting fom
a one unit increase in boith e
variable and fixed inputs.

d) the ratio of the amount of &=
variable input that is being uses =
the amount - of the fixed input &%
is being used.

..

S

ICAl SH

e

> | Diminishing marginal  retd™
implies:

e

a) decreasing average variable costs

b) decreasing marginal costs.

c) increasing marginal costs.

d) decreasing average fixed cost>

‘/
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il ICAl SM
The short run, as economists use Which of the followi i
i i owing is the best
8 | the phrase, is characterized by: 11 | definition of “broduction
. H ”
a) at least one fixed factor of function”?

productio'n and firms neither leaving a) The relationship between market
nor entering the industry. price and quantity supplied:
b) generally a period which is shorter b) The relationship between the firm’s
than one year. total revenue and the cost of
¢) all factors of production are fixed production.
and no variable inputs. c) The relationship  between the
d) all inputs are variable  and quantities of (nputs needed to
production is done in less than one produce a given level of output.
year. d) The relationship between the
quantity of inputs and the firm’s
ICAI SM marginal cost of production.
The marginal, average, and total
product curves encountered by the ICAl SM
9 firm producing in the short run
exhibit all of the following

The “law of diminishing returns”
applies to:

relationships except:

12

a) when total product is rising, average
and marginal product may be either
rising or falling.

b) when marginal product is hegative,

total product and average product a) the short run, but not the long run.
are falling. b) the long run, but not the short run.

c) when average product is atl a ¢) both the short run and the long run.
maximum, marginal product equals d) neither the short run nor the long
average product, and total product run.
(s rising.

d) when marginal product is ‘at a
maximum, average product: equals
marginal product, and total product ICAl SM
is rising.

13 | Diminishing returns occur:

To economists, the main difference
10 | between the short run and the long

run is that: ¢ . :
. a) when units of a variable input are

a) In the short run all inputs are fixed, added to a fixed input and total

while in the lohg run all inputs are product falls.

variable. ' : b) when units of a variable input are
b) In the short run the firm varies all added to a fixed input and marginal

of its inputs to find the least-cost product falls.

combination of inputs. c) when the size of the plant is
¢) In the short run, at least one of the increased in the long run.

firm’s'input levels is fixed. _ d) when the quantity of the fixed input
1) In the long run, the firm is making a is increased and returns to the

Constrained decision about how to variable input falls.

use existing plant and equipment
efficiently.

aking pdifs, photocopies, xerox, sharing or seling MVSIR's books is not allowed. It will lead
fo strict legal action with monetary penalties
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Ise the following data to answer
‘uestions 14-16.

ICa; s '

J

Which of the following

M
18 is never ‘U’ sh m
ST . ga? o aped? e
tbour output roduct a) Average cost curve,
- B b) Margindl cost curve, \
¢) Average variable cost Curve,
100 100 d) Average fixed cost curye.
= g0 —
240 s |
Total cost in the short run
classified into fixed ¥
Ic cost
ATSM L 22 | variable costs. which ong o o
. i e
What is the total output when 2 y followiAgial variable cost?
hours of labour are employed? T —
: a? Cost of raw.materials.
20 b) Cost of equipment.
e c) lnterest; payment on past
s borrowings.
Fos d) Payment of rent on building.
\J
—
ICAl SM ICAI spm
i} —_—

¥

| What is the marginal product of

| the third hour of labour?

50
30

20

In the short run, when the outpyt
of a . firm increases, its average
fixed cost:

ICAl SM

the e product of the
hours of labour?

a) increases.

b) decreases.

c) remains constant.

d) first declines and then rises.

ICAlI SM

i ¢

pr=a g .-ﬁ.]

verage'cost.
larginal cost.
xed cost.

ariable cost.

l%ﬂqes continuously |

the qﬁéﬂi%@]producuon"

ICAI SM

21

Which one of the following is also
known as planning curve?

a) Long run average cost curve.
b) Short run average cost curve.
c) Average variable cost curve.
d) Average total cost curve.

—
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ICAl SM ICA
- I SM
If a firm moves from one point i
praduction isoquant top anotohne:‘ 26 :\I‘:':,h( Fr thf fOl.lo.wing is an
22 | which of the following will nat': i e LR
happen. a) L’nntereit .thc;t could have been earned
. — - retained earnings us
a) A change in the rqt(o th which the firm to finance expagnsiorfd ¥ the
inputs are combined to produce b) The payment of rentby the firm for
output. ' _ the building in which itis housed.
b) A change in the ratio of marginal ||| ) The interest payment made by the
products ofthemputs. firm for funds borrowed from a
c) A changle in the marginal rate of bank.
technical substitution. d) The payment of wages b i
: th
d) A change in the level of output. - : L ISR
T Use the following data to answer
ICAI SM questions 27-29.

with which of the following is the
23 | concept of marginal cost closely ||| 94tPut | 0 |1 | 2 | 3 | 4 | 5 |6
related? (©)

a) Variable cost.
Total R 24 |rs.33|rRs 410|548 | rs.54 |Rs.61|R569

b) Fixed cost. 6
c) Opportunity cost. cost 0|0 o\ 0| o0|o0

d) Economic cost. (T¢)
ICAl SM ICAI SM
A Which of the following statements o7 | The average fixed cost of 2 units of
is correct? output is:
a) When the average cost is rising, the a) Rs.80
marginal cost must also be rising. b) Rs.85
b) When the average cost is rising, the c) Rs.120
marginal cost must be falling. d) Rs.205
¢) When the average cost is risihg, the
marginal cost is above the average ICAI SM
cost. : : -
d) When the average cost is falling, the 28 I:e xarg'r"‘“ cost of the sixth unit
marginal cost must be rising. SHE R
a) Rs.133
ICAl SM b) Rs.75
" . : c) Rs.80
25 Which of the . followmg is an d) Rs.450
example of “explicit cost”?
ICAl SM

a) The wages a proprietor could have
made.by working as an employee of

Diminishing marginal returns start

a large firm. 29 | to occur between units:
b) The thcome that could have been

earned in alternative uses by the a) 2 and 3.

resources owned by the firm. b) 3 and 4.
¢) The payment of wages by the firm. ¢) 4 and 5.
d) The normal profit earned by a firm. d) 5 and 6.
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ICAlI SM

30 | Marginal cost is defined as:

a) the change in total cost due to a4
one unhit change in output.

b) total cost divided by output.

c) the change in output due to a one
unit change in an input. '

d) total product divided by the

quantity of input.

L |
Which of the followim
concerning mehgs‘

4 is correct
2 relationships among the thy
firm’s cost functions?

a) TC = TFC — TVC.
b) TVC =TFC - TC.
c) TFC =TC - TVC.
d) TC = TVC - TFC.

ICAI SM

Which of the following is true of

31 | the relationship between the
marginal cost function

average cost function?

ak Suppose output increases in
short run: Total cost will: ¢

and the-

is falling.

b) The ATC curve
curve at minimum MC. , :

c) The MC curve intersects the ATC
curve at minimum ATC.

d) If MC is less than ATC, then ATC is

increasing.

a) If MC is greater than ATC, then ATC

intersects the MC |

}

a) increase due'to an increase in fixed

costs only.
b) increase. due to an increase in

variable costs only.
c) increase due to an increase in boty,

fixed and variable costs.
d) decrease if the firm is in the regjgy

of diminishing returns.

L

~ ICAI SM

! ICAI SM

——

Which of the following statements
is true of the relationship among

32
the average cost functions?

i Which of the following statements
36 | concerning the long-run average
cost curve is false?

]

a) ATC = AFC — AVC.
b) AVC = AFC + ATC.
¢c) AFC = ATC + AVC.
d) AFC = ATC — AVC.

R A ' | ICAl SM

N
Which of th?following is not a

33 of the firm’s cost

7

a) The p;‘rod“u'iction function.
b) The price of labour.

c) Taxes.

d) The price of the firm’s output.

a) It represents the least-cost input
combination for producing each
level of output.

b) It is derived from a series of short-

ruh average cost curves.

The short-run cost curve at the

minimum point of the long-run

average, cost curve represents the
least-cost plant size for all levels of
output.

d) As output increases, the amount of
capital ~ employed by the firt
increasés along the curve.

c)
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ICAl sMm ICAI SH | '
The negatively-sloped (i.e. falling) A firm has a wvariable cost of |

art of the long-run average totq Rs.1000 at 5 umits of owtput If
cost curve is due to which of the 41 | fixed costs are Rs.400, what wsill be |
following? the average total cost at 5 umits of ¢

37

.seconomies of scale. ! output?

| i =L :
a) gimmishmg returns. T
b) ne difficulties encountered i b) Re.60 ;

c) coordinating the many activities of ¢) Rs.120

increase N productivity thgt

The ol 5
d) results from specialization, Ty
/ i ’ - {
ICAl SM Aﬁnnsaverqgeﬁxedoostxsizs_mh
42 | at 6 units of output. What will it |
The positively sloped (i.e. rising) be at 4 units of outpuzr? ‘;
part of the long run average totql | s
38 | cost curve is due to which of the Byies e
. £ S
following? c) Rel) .
4) Diseconomies of scale. d) Rs.20
p) Increasing returns. .«
¢) The firm being able to tgke ICAl SMm |
advantage of large-scale production > . ‘
techniques as (t expands its output. ||| 43| Which of the following statements
d) The increase in productivity that i Is true? i
results from specialization. '@ The services of oot
| considered production
ICALSMW|| b) Man can create mateer
) The services of a housewife are
A firm’s average total cost is Rs.300 ||| < Ch:<;i€r:r, e
at 5 units of output and Rs.320 at ) p,:,h;: f‘.\—i'r'-,f:“:t;:-:: el Ey
39 | units of output. The marginal cost ot el e - e
of producing the 6th unit is: A WS g e
a) Rs.20 ICAI SMm |
b) Rs.120 ; - :
C)) Rs.320 | 44 | Which of the following is a i
' | i 2 .
d) Rs.420 | function of an entrepreneur? i

—

|| @) Initiating a business enterprise.

ICAISM |/ b) Risk bearin

-
o
-

| +in
A firm producing 7 units of output Sz A’;fo‘ff:: o
has an average total cost of Rs.150 i QEGamove,
and has to pay Rs.350 to its fixed

40 | factors of production whether it JCALSM
Produces or not. How much of the In describing a given production
3",‘-'_'“!’93 total cost is made up of ||| s technology, the short run is best

\_L arable costs? described as lasting:

a) Rs. : -

) R: ﬁgo a) up to six months from now .
o) Rs.soo b) up to five years from now. ;
d) Rs.loo ¢) as long as all inputs are fixed. ‘
EB— d) aslong as a ne input

"FJL’I(‘.N & 1 - - - 3 - 13 ~ N
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16w ICAI SM |
: |
If decreasing returns to scale a‘r: |
i are ||
46 | present, then if all inputs i § AR nd egal of

increased by 10% then:

a) output will also decrease by 10%.

assumption that:

the technology is Cr_grim

il increase by 10%. a) i [~
b) output V‘_J”.' |m'crrrease/b‘/ less than b) there must be s’uh.e P ;
c) output will Increa guantity is Rept fixed. e,
10%. . der only physical ins
i e by more than c) we consider only physies| NPpuse
d) output will increase by not economically  proficap >
o lity
10%, monecary terms. y
ICAI SM d) the technology isigiven g
The production function is a 7 \lc,u&‘
47 | relationship between a given fon fined
3 : What is a production fun
combination of inputs and: 51 \ P Ction?
: 4 : T ical reiattonshs::am
. hat vields the a) Technica . betwen
% ?2&2’“@2&1’?“”“”" i g physical inputs and physical oy, -
' ] | hip between fixed #... -
b) the highest resulting output. b) R?lat“;zsc_':gn aend :;'” ‘;J['k::— factoy,
c) the increase in output generated by < Z"O i Sillel ¥ AVIE Tactors
onhe-unit increase in one output. Pro gcuo}n; P 1
d) all levels of output that can be c) Relations BE ;—Lv;)un a4 factor
generated by those inputs. production and the utility Creaty;
by it.
ICAl SM d) Relationship between _Quantity ,
output produced and time takep ..
If the marginal product of labour is produce the output. -
48 | below the average product @of
labour, it must be true that: m
. : —
a) the marginal product of labour is Laws of production does o
EoEtE >2 | include ......
b) the marginal product of labour is : =
zero. a) returns to scale.
¢) the average product of labour is b) law of diminishing returns t 4
falling. factor,
d) the average product of labour is c) law of variable proportions.
negative. d) least cost combination of factors.
N ICAI SM || 53 | An iso quant shows
. a) All the alternative combinations o
: The average ‘product of labour is twp thputs that can be produced by
49 max‘in@%.ze_ when marginal product Usthg a given set of output full
i of labou : and in the best possible way.
| ! | b) All the alternative combinations o
j 3 two  products among which ¢
a) equals.  the average product of Producer is indifferent because they
labour. yleld the same profit. ,
@sgtals £ ; c) All the alternative combinations o
c) is maximized. tWo inputs that yield the same totd
d) none of the above. product.

d)

Both (b) and (¢).
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ICAl sm

gconomies of Sca!e exist because as
a firm increases its size i, the long
run:

Labour and . Managemen
a) cpecialize in their activitjes
As a larger input buyer, the
b) et finance at lower
purchase (hputs at a low
f'rf,ztﬁrm can afford to e
Soplqistipated
roduct[Oh.
4 All of these.
e

p—

can
Mmore.

ﬁl’m cahn
Cost ang
€r per unit

mploy more
technhology in

\
T ————

ICAlI sm

\
\

55 | The production function:

— ]
"

a) is the relationship betweep the
quantity of inputs used and the
resulting quantity of a produyct.

LR ICAI SM
57 WhiC!'l of the following is q variable
i €ost in the short run?
d) rent of the factory,
b) wages paid to the factory (abour.
c) thterest  payments oh  borrowed
financial capital.
d) Payment on the lease for factory
equipment.
B
ICAl SM
The efficient scale of production is
58 | the quantity of output that
Minimizes
a) averade fixed cost.
b) average totql cost.

c) .average variable cost.

: d rgi

output from a given Combination of

inputs.
¢) Expresses the technological ICAl SM

relationship between thputs _ ang

ou:tp#t Ol;coc:/epmdmt 59 | In the short run, the firm's product
g the ' curves show that

ICAl SM
r cti i ‘

2 ;:fou\fe?ci?bi:::n FeoGpas described a) Total product begins to decrease

when average product begins to
decrease but continues to iherease
at a decreasing rate.

b) When marginal product is equal to
daverage product, average product is
decreasing but at its highest.

¢) When the marginal product curve

cuts the average product eurve from

below, the average product is equal
to marginal product.

In stage two, total product (hereases

at a diminishing rate and reaches

Mmaximum at the end of this stage.

d)

Number of Workers Output
0 0
1 23
2 40
3 50
a) €onstant marginal product of labour.
diminishing marginal product of
_ labour.
9 increasing return to scale,
hcreasing marginal product of
S oy
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[ . - e st NS IF. . -y
S o 7 1Al g
: . - | Marginal product, mathemagi,, ™~
9 ] 1 fipad inpist is defined as OV (e siops of th | caly
|

a) total prodyct curve, h
4) Thgt ingut whose quantity can be b) average product curye.

il ety chgnged in the short run, In ¢) marginal product curve.

responss Ay the desire of the d) implicit product curve,

/,4)77;3,4;;;-/ 14y /;h/,lrlggf 5 pf(}d’JCf.ifJﬂ, - %

) Thpa st yhgse quantity cannot

We quickly changed in the short run, B IFA' M
in  resyonse i the desire of the | .
cornpany 4 change ive production, Suppose the first four units of 4
£) That ingut whose /,;uani;itiez can be variable Ii' Inp”t generate
corlly ehanged [n response Lo the ||| o, | corresponding  total outputs |
derirg 44 increqase or reduce the 200, ,35_0‘)4'50, 500, The marginql
loyel of production, product of the third unit of inpys

4) Thgt ingut whose demand can be It "W s
2osily changed in response to the s &
desire 1o increase or reduce the ‘ '
loyel of groduction, 1] 2) 50

b) 100
_ —r——————J| | ¢) 1%
1l sm ||| 4 200

Avergge produdct is defined os - L P

4) dutal P(f/dul;“‘, divided by the total o T 1l i
L5,

V) totpl producs divided by marginal ‘ Which of the following statements
prodict, 66 | Is false in respect of fixed cost of 4

&) sl product divided by the nurnber firm?

9 wnitg of yariavle input, ‘ . — —

4) margingl groduct divided by the
musrnyer of inite of varigild input,

e —— | | 4) AS the fixed inputs for a firm cannot ||
w N T ICAl M | be changed in the short Fun, the TFC
; — : are constant, except when the
. 3 lowing statements prices of the fixed inputs change,
s AT ! S _ b) TFC continue to exist even when

4) Mier the inflegtion point of the production is stopped in the short
Produstion function, o greater yse of run, but they exist in the long run
5 varigle input  induces a4 eveh  when  production is  not

. Tediction in ehewnarginal product. stopped,

V) Refore rgaching the ineyitable point ||| €) Total Fixed costs (TFE) can be
oA Aecr, drginagl returns, the defined as the total sum of the costs
duantady Sof output obtained can of all the fixed (hputs associated
2€ 40 incm,a;ing rate, ~ with production in the short run.

<) The firg€ 5% COrresponds o the d4) In the short run, a firm’s fixed cost
range i yhich the ap s increasing CANNot be esecaped even when
9% & result  of utilizing hereasing production is stopped, |
Avdriities of yarigble inpyts, :

4) Al the avoye, J ¥

M = = 2 ————— ;

) 10X, sharing or saiii RIB o o T ’
ot Lot arnd OF $6ling MVSIR's books Js not allowed, |t will lead §
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ICAI sm
7 ——— ICAl S
T ominishind marginal returpg ¢ wh g e
Tpi first four units of q variable 69 av;: marginal costs qre below

; : =i : e
6 | inp“ - sequence: a) average fixed Costs are rising
i e o
_— 0, 50,50 i average total costs gre falling.
~50, %5, 180, 260 o dverage total costs gre rising.

;) 50, 100, 150, 200 dverage total costs gre minimized.

¢) 2 90,120, 140 N .

ICAI sm 70 | A firm’s {qu#?gn’@*average total
_—Tyee the following diagram o £OSE curve isupg )

s answer the question given below it a) lder::tical to itsy long-run marginal-
e cost curvey

o= st p

‘-g-—"""’"— b) Also tts “long-run supply curve
el ) Total outpu because. it explains the relationship
z ‘ betwgen price and  quantity

- supplied.

Eiu ¢) In fact the average total cost curve
o of the Optimal plant in the short run
[ as.It tries to produce at least cost.
| . d)#Tangent to all the curves of short-

rdh average total cost.
, )
‘ o ! & L:borln:ut : i
(workers per day) ICAI SM

r 9 : In the long run, if a very small

nal physical product y :

The g:;-;glunit ';fylabourpisd tﬁ: 71 | factory were to expand its scale of
ey 'Wofthe labour is Ne_gc'ttive operations, it is likely that it
‘ol MP : would initially experience
o
a) Si; fOl;“'dth a) an increase in pollution level.

b) Six; th”;' b) diseconomies of scale.

¢ Six; fift 4 ¢) economies of scale.

4) Six; sixt d) constant returns to scale.

B ICAI SM 72 | A& firm’s long-run average total

i cost curve is.

LA

. | In the third of the three stages of a) ldentical to its lohg-run marginal-

Gl production: cost curve as all factors are
p < variable.

b) Also its long-run total COst curve

because it explains the relationship

(d) the marginal product curve has a [COSt and  quantity supplied in the
positive slope. ORgir Ui,

b) the ‘marginal product curve lies c) In fact thg average total cost curve
completely below the average of the optimal plant in the short run
product curve. ds it tries to produce at least cost.

&) total product increases. d) Tangent to all short-run average

d) marginal product is positive. total cost the curves and represents

‘ the lowest average total cost for

producing each level of output.
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ICAI SM

Which of the following statements

A c = 3 Yy
76 The most important funcy 4\@
entrepreneur is to o o

—-—..._.'.-'qh

b)
c)
d)

73 | describes increasing returns to
scale?
a) Doubling of all inputs used leads to

doubling of the output.
Increasing the inputs by 50% leads
to a 25% increase in output.
Increasing inputs by 1/4 leads to an
tncrease in output of 1/3.

None of the above.

a) Innovate
b) Bear the sense of respongipj|;,
¢) Finance 3y
d) Earn profit

ICAl SM

Economic costs of Productioy

from  aceounting  cog, ‘M
o

77

74

The marginal cost for a firm of
producing the 9th unit of output is
Rs. 20. Average cost at the same
level of output is Rs. 15. Which of
the following must be true?

a)
b)
c)
d)

marginal cost and average cost are

both falling
marginal cost and average cost are

both rising
marginal cost is rising and averdge

cost is falling
it is impossible to tell if either of the

curves are rising or falling

production because
a) Economic eosts include m
"fﬂ

for hired resources

? Wi
accounting costs do not, "l

b) Accounting costs inclus
opportunity costs which %
deducted later to find paid ;1'-:
costs, ut

¢) Aecounting costs inelus

for hired resourg

expenditures
while economic costs do not.
d) ‘Economic costs add the opportuny
cost of a firm which uses (ts ou

ICAl SM

75

Implicit cost can be defined as

a)

b)

c)

d)

Money payments made to_the hon-
owners of the firm for the self-
owhed factors employed in the
business and therefore not entered
into books of accounts.

Money not paid out to the owners of
the firm for the self-owned factors

employed in a. _ business and
therefore not entered into books of
accounts.

Money payments which the self-
owned and employed resources could

have earned in their next best
alternative employment and
therefore entered into books of

accounts. .
Money payments which the self-

owned and employed resources earn
in their best use and therefore

resources.
————,

ICAISM‘

78 | In figure below, possible reason

why the average variable cot
curve approaches the  averag
total cost curve as output rises is:

AC
aAre
S AVE

|

I

| ) ‘ !
\ 74 . |
“/ . |

P |

|

- A

Cost

a@ﬂﬂtj

a) Fixed costs are falling while 0%
costs are rising at rising output-
b) Total costs are rising and averdd
costs are also rising.
¢) Marginal costs are a
variable costs as output rises.
d) Average fixed costs are fallnd ¢
-

bove averdd |

entered into book of accounts.

output rises.
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ICAI SM

g) Totol cost
) Avwerage cost
fcg Varisble cost
X

Quaritity of output

The falling part of long run average
cost curve is tangent to the ___

83 . X
—— of corresponding short run
average cost curve(s). ‘Ah

a) falling part

b) rising part

c) minimum point

None of the above

vary with change in

varigble cost and
total fixed cost we get the average

N - g - I .
d) Total cost is obtgined by adding up

et ey ]

the fixed cost and total variable
' cost.
Il ICAI SM
|l s Which of the following statements
is incorrect?
called. the

=) The LAC curve
planmning curve o

b)) Total revenue = price pergunit x
sold
€) Opportumity cost is alsg scalled

|
l s =
| meariber of units
|
|

glternative cost.
¥ total reveruecs
mamber of units sold we
marginal revenu

i\

ICAI SM

The vertical difference between TVC
and TC is equal to-

“ohnish Vora (MVSIR)

ICAI SM

Which one of the following is an
external economies of scale in long
run?

a)
b)
c)
d)

Risk bearing economies
Financial economies
Development of skill labour
Nane of the above
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)
T

M $hestra Vot
MTP Aug 18, SEQ \A

<
: ich one of the follom
1 | Production may be defined as an ¢ | Whic 9isp

national objective of an entgy,, . 8
- gct of _ Prise;
~ Crontimea tilt ﬂ) To pFOVide fa'r deal Lo the emplo‘/ﬂn
23 ff,_::f;'; Y at different levels. L
e ::';;o"'if'ﬂo;t‘f‘ b) To remove thequality i
e j::_f'.,,.y_ﬁ'{e‘:\if‘ctgr opportunities & . Pprovide fu
e R . opportunity to all to work and t:
ress. i
PYQ Jun 22 prog g
; £ c) To produce acceording to Natigy,
2 | tand is heterogeneous’ implies priorities.
which of the following? d) To help the country become Sel
- ; : reliant & avoid dependence op Otho,
@) Vwo lands are alike . <
= ‘ : hations.
2) Two lands are not alike —
) Two lands are fixed T
4) Two lands are mobile ; Ag,
An enterprise has social objectiy,
MTP Mar 19 A .
3 Which of the following is not the T~
characteristic of Labour? a) It has to make profit from the
_ R ; . oTr society.
e !j’j:fj'_r[f_‘ ii‘(y [Peglsha[b[et L thi b) It lives in society & it cannot grg,
5 :'f’:"fﬂi; ;zs - O;r s lale] unless it meets the needs of the
2. J:’C‘J‘> (.‘:,\— y CO\Jel"e SOCfety.

: ;W:Tas[e:parab[e g ¢) It has a separate legal identity.
WE S 1

d) None of these

: O
A

=

Q)
\
A
N
0
w

a strong bargaining

- A-Q,

cre dgirectly related in the initial e ——

stages g Human objectives of an enterprise
— are-

MTP Apr 19 a) To provide fair deal to the employees
| 4 | capitatisa- at different levels.

- b) To develop new skills and abilities
g) Stock concept and provide a work climate in

|
| & Flow Concept which they will grow mature.
’_ c) Both (a) and (b) c) Only (A)

d) None of the above d) Both (A) and (B)

] - “ |
| N MTP Mar 19 AQ |
{ s | Which of the following statements , _ 4
i is incorrece? 9 Which of the following is not a
e problem of an enterprise? J
i @) The serviees of doctors, lawyers, e
f tzachers . etc. gre termed as : : .

| orode iy a) Problem relating to location & size.

!f 5) Man cannot create matter b) Problem of mqking hf‘ge ety <
| © Accumulation of capital does not ¢) Problem relating to finance. S |
| depend solely on income d) Problem relating to QrganizaCii {
' None of the above structure. 4
= 3
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of Law of
MP becomes.

b) Negative
c) Positive
d) None of these

||
e
MTP Oct 19 |||
e ——
production function || MIP Octi1o
n 15 When Marai %
i ginal product is zerg
; | then Total product is - i
") Returns to a ""l:to [l a) Zero
a; .ayiS £0 SCale | :
) Returns €0 = || B) Falling
,én soth @ fj_j";; Il €) Rising
4) Noné oF s d) Maximum
//;
A.Q. E
_ xtra MCQ
] i ith List Il :
patch List | wi and choose Which ;
+he correct answer using the codes LR ;Jf \She_ following stage(s) of
A B 16 . o ariable Proportion are
given Rhown as “economic non-sense” or
LIST | economic absurdity”
A MP is larger than AP i g)) Stage 1
=T : ) Stage 2
AP =
2 B N Ts equal to AP ¢) Stage 3
c MP is smaller than AP d) Both (a) & (c)
ST 2
L AP (s at its maximum MIBiARg 18
1. AP is falling Read table & answer questions 17-18
Hi. AP Is rising Labour Output | Average Marginal
Input Product Product
Codes a b c 0 0 - e
(A) r I 1l 2 25
(8) 11 l Il + 90
© I 1l [ 6 129
‘ 40
L (D) ] I I 8 -
10 14
MTP Mar 21 1 a8
_ ’i:«mducer’s demand for a factor MTP Aug 18
roduction is governed by the X
N Lof Yhar ractor 17 | At a labour of 2, output is:
9) price a) 25
9 marg; o b) 30
o . rdinal productivity
9 availabil; c) 50
2 Profitapility d) 75

s .
"'d pdfs, photocopies, xerox,
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‘ |
MTP Aug 18 | m
‘ : A
‘ 12 At a labour input of 4, output per % 22 Linear homogeneous PQU
\ worker is: [ means: fl-lncti%J
| X v
| a) 20 || a) Input and output mcrem
b) 22.5 | proportions. ¥ Sapy,]
c) 45 | b) Input incredses by some prop
d) 90 ! and output Increase mOre‘:"’?mt
proportionately Thay
MTP Aug 18 ¢) lnput increase by some prop,
o and output less than tion
19 | The law of diminishing returns: oroportionately the
d) None of these

20 | produce in which stage of law of
variable proportion:

a) States that beyond some level of a
variable input, the average product =
of that variable input begins to | m
increase steadily. ) : i
. : A factor of production is saqj
sEUmMmes it th s wlogical : : aid
b) (‘«, umes that tnere | technologic 23 superior if its expenditure elg to
Improvement over time. | Sticity
¢) States that beyond some level of a ||| a) Is negative T e
variable input, the marginal product b) lies fhunit interval
of that variable begins to decrease || c) exceeds unity
steadily. || d) is zero
d) Informe a firm whether or not to ! ——
use a factor input. ’ M;P::;\
; =
MTP Mar 22 - -
| 24 Production function:
A rational producer will always § Q= 4. L2, K@3)
| .
i

a) increasing returns to scale
b) decreasing returns to scale

a) Stage |
b) Stage Il ¢) constant returns to scale
c) Stage Il d) increasing returns to a factor
d) None of these
& A.Q. MTP Nov 22, May 23
-'_“_‘f!..-" 7|
If all inputs are‘ffini‘:’reased in the
same proportion, then it is the case In the Cobb-Douglas production
of & function given as:
‘ 25 | @=A. L2 . KO- |

21 | 3. short run production function share of labour in total production

2. Long run production function is

2. Law of Variable Proportion |

4. fa&gf Returns to Scale L EFET

» :
: a) a

a) 1&2only b) 1-a
b) 2 & 3 only _ c) A |
c) 1&4only d) alL ‘
d) 2&4 only L

- ; 3 - o0 |
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MYP Nov 32, A6,

Axxartien (A An mtasﬁnlm i #

straight line,
Reason (RM The warket rate of
exehange between the twe inputs
{8 eanstant,

e I T et (e

_MTP Mar 22

Whe deseribiss produstion funstion
He the rvelatlonship batwesy ihe
MARIMLIN AMBLUIE of sutput can be
produced and the input required to
make that output o |

i ] o e 1 S e g e ey TEEEE s ey e ad JE SRS P TR a: SR
B) (A) {8 true and (R) {5 falge Al Samueleor
B) Both (A) and (R) are true & () (& the B) Malthes
correct explanation of (A) ©) Fliels
2) Both (A) and () are true & (R) (& not i) None of these
the correct explanation of (A) e ————

s

D @) is fatse and (R) (s true M1V Deas 22, A.G.

| c;o_yt: hhrin&ﬁrretl wﬁlah has

i

MTE Apr 21

— a1 | 'no  relevance’ to future planning
ar I The slepe of Isocost tine is are nt R .
B wir i) Margindl Gost
B riw b) Sunk cost
D rxw ) Book Gust
) None of these ) Averuage cost
MTP Jun 22 MTP Apr 21

Whieh of the Fo"éwlng Ie corvact ||| 13 » Whieh of the rolmlim;ving”f; a varlab!re
regarding the slope of igo=cost line? cost in the short runt?
Slope of (so-cost line can change B i -

28 | due to ) Rent
1. Change in factor(s) price(s) b) Wages 7
2. €hange in total outlay or total ¢) Internal payments on  borrowed
cost. fineneial capital
e s d) None of these
B 1only o
"’f ? g,;n?,t,yugﬂ-| MTP Mar 18, Apr 19, Oct 20

) None of these

= e e e s TR .

Suppose that an owner is earning
MTP Jun 22 total revenue of Rs. 1, 00,000 and is
gy | Ineurring explicit cost of Rs.
60,000, If the owner could work for
W, another company for Rs. 30,000 a

lsoquant word is made up of two year, we would conclude that:
29 | words i.e., 180 & Quant. Where lso
| maans equal then Quant means- R

T

a) The firm is earning economic profit

o5 A § or Rs, 10,000

| ) b) The firm Is earning accounting profit
:g g:gg‘h‘t}f pold or Rs, 40,000 . s
B Quantity demanded ¢) The flrm [s earning economic profit

of Rs, 40,000

B Quantity supplicd d) Both (a) and (b)

e e e

— — - .
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MTP Aug 18, May 20

sura) is a high schg i

24 If there au' lmpllclcwsuof thinking Aot bccom'

production; economic research__gge’ %

2) Economic profitwill be equal to Shyam just graduated froy, c;‘:q

accounting profit. 39 | with an economic degre, ,

b) Economic profitwill be less than looking for a job as an e, 4?
accounting profit. research  dssistant. For Who,

¢) economic profits will be zero. the college tuition an Oppory, lg

d) economic profit will be more than cost? ity

|___accounting profit ____ 2) suraj T~

i MTP Oct 19 ||| b) Shyarm

In the production of wheat, all of
the following are variable factors

c) Both Suraj and Shyam
d) Neither Suraj nor Shyam

——

the crop is planted

% | that are used by the farmer ||["oo0q the following paragraph “"‘T“Tﬂ?
b R question no. 14 o
a) The seed and fertilizer used when Nicole owns a small pottery factory, g

can make 1,000 pieces of pottery per

b) The field that has been cleared of ||| year and sell them for Rs. 100 each, i
trees and in which the crop s costs Nicole Rs. 20,000 for the raw .
planted materials to produce the 1,000 pieces o

¢) The tractor used by the farmer in pottery. She has invested Rs. 1,00,000 i
planting and cultivating not only hér factory and equipment: Rs. 50,000
wheat but also corn and barley from her savings and Rs. 50,000 borroy,y

d) The number of hours that the at 10 percent. (Assume that she could
farmer spends in cultivating the have loaned her money out at 10 per
wheat fields ceént too.) Nicole can work at a |

B e —————— S completing pottery factory for Rs. 40,009
MTP Oct 19 ||| pér year.
36 | Example of Fixed cost is- MTP o;;l

a) Electricity bill The e o it at Nicoledhil

B) Interest on loans 40 fa:to:m?a' & profitiat Nicoles

: y is:
¢) Expenses on raw material
d) Wages of daily workers a) Rs. 75,000
= b) Rs. 35,000
. MTP Apr 19 c) Rs. 80000
S Rs. 3000
37 | variable cost includes the cost of & £0¢ _|

a) Buying land and building MTP Mar 22

Zg m‘;sr‘;:t'regiicﬁir:ﬁfhmew Which of the following is not part

d) Material'Bodght 41 | of the opportunity cost of going on

‘ holiday?
%3 MTP Mar 19 a) The money you spent on a theatré
| & g&# how

38 ic cost means > |

' . b) The money you could have made if
a) Accounting cost + Implicit cost you had stayed at home and worked
b) Accounting cost + Marginal cost ¢) The money you spent on airllne;
¢) Cash cost + Opportunity cost tickets

_d) lii cost d) The money you spent on foD;

Making pdfs, photocopies, xerox, sharing or selling MVSIR's books [s lowed. It Wil lec?
to strict legal action with monetary penalties
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MCQ shastra - Volume |

The area of a rectangle formed by
drawing perpendiculars on both
axis from a point on AFC curve is
equal to

a) Total cost

The Shape of TC Curve of ‘the

|
PYQ Jun 22 | MTP Oct 19
|
Total economic costs = explicit || The total cost of producing 30 units
costs + Implicit cost + : of output is Rs. 300. If average
47 | fixed cost at this level of output is
|| @) Ssuper normal profit Rs. 7, then the total variable cost
|| b) Super normal loss : - :
- will be - :
c) Normal profit
d) Economic profit a) Rs. 160
b) Rs. 140
MTP Nov 22 ||| ¢) Rs. 90
d) Rs. 120
Given TC = 2000 + 15Q - 6Q2 + Q3,

43 How much is TFC at Q = 20007 A.Q.
a) 2000 The areas of all rectangles formed
b) 975 4g | by drawing perpendiculars on both
c) 30,000 . axis from different points on AFC
d) Can’t be determined curve are

A.Q. a) same
b) different

c) (A) or (B)
d) can’t be determined

MTP Mar 18

Suppose the short run cost function

b) Marginal cost 49 | can be written as TC = 250 + 10Q.
c) Average cost Average Fixed cost equals:
d) Total fixed cost
a) 250/Q
b) 250
MTP Apraa ||| 5 70

d) 250/Q + 10

i ¢) Inverse S Shape
d) None of these

e monopolist is PYQ Jun 22
Which cost decreases continuously

a) U shape 20 with increase in production ?

b) S Shape

a) Average fixed cost

b) Average variable cost
¢) Marginal cost

d) Average total cost

MTP Apr 21

Extra MCQ

A mfgt\cgmpdny has TFC = 120

A firm’s average variable cost is Rs.

1 ;46 Mkhsi‘a;yg = 100% + 7Q2 + 0.25Q3 200 at 4 units of output and Rs. 230
g Cﬂ?‘-’ aﬁ; the McC? 51 | at 5 units of output. Total Fixed
— % 2 Cost = Rs 100. The marginal cost of
a) 100 + 12 + 0.75Q> producing the 5th unit is ?
b) 120+ 7Q% + 0.25Q3 a) Rs. 30
€) 100+ 7Q2 + 0.25Q3 b) Rs. 350
d) 107.25 ¢) Rs. 230
[ d) Rs. 130
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McCQ Shastra - v

T

ui_:m ﬁl_cﬁ

52 Marginal Cost s the slope of

@) Toval €ost

b)) Total Fixed Cost
&) Total Variably Cost
) Both () & (e)

MTP Dee 22, A.Q.

| B3 ]_Whlgicf following is ineorract ?

—— =¥ W TS i T L e g ey
@A) TE = AC x @
P) Y MEaTE

) Y ME = TVE
) N ME «+ TFC = T¢€

4 - e

Diminishing ramrnsm
reasing retury,

57 and inc t
due to S ary
a) Internal diseconomies, m
gconomies Erng)
b) Internal economies, Inter
diseconomies nal
¢) External diseconomies, '”t‘v"’nal

geconomies

d) Internal diseconomies, externq

economies

MTP Apr 19

54 When average cost curve (s rising
t:‘__ljin, marginal cost

@) Must be decreasing

B) Must be above the average cost
curve

€) Must be constant |

) Must be equal to average cost

iy .M‘TP Jun zi
| Whieh of the following s corract

| regarding long run cost? :
It I8 least cost of producing each
85 | laval of output

| LAC eurve (z envelopa of SAC
‘ 11 ﬂﬂl’\f'lp 3 | -
LAC (s U=shaped

a) 1 &2only
b) 2 &3 only
¢) 1 &3 only

Certain benefit

58 | when it expands its ¢

an Indust

cale
production is known as: o

a) Internal economies S
b) diseeconomies
¢) external economies
d) Profit

- —\
B MTP Jun 23

b Economies and
scale explain wh

s T ——
diseconomies of
y the

a) short run averag

SR, |
e fixed cost curye

declines so long as output increases
b) marginal cost curve must intersecs

the minimum

point the firms

average variable cost curve.

¢) long run averag
typically U-shaped

d) short run average
U- shaped.

€ CcOost curve s

total cost curve is

) 1,283

MTP Dac 22

MTP Mar 21, Apr 23

) economy of scale

) diseconomy of scale

) diminishing  marginal  rate  of
substation

) None of these

The distinction

between selling

60 [ cost and production cost was

made by:

a) Chamberlin

b) Sweezy

¢) Mrs Joan Robinson
d) None of these
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MCQ Shastra - Volume |
X,Y and Z are confused with the
formula for defining Tc :
a) X Says : TC = TVC +TFC 62 :T:":m:t“?w‘ s not def“‘lt“ by
61 | b) Y Says: TC = AC x output ” W
c) Z Says: TC = IMC + TFC -
ldentify who amongst them
is correct a) MC Curve
b) TC Curve
&) 5 1| © Ac curve
b) d) AFC Curve
c) Z
d) Al of them :
Answer Key - Economics Chapter 3
Sl LTS S BT R R R ss | B | &} D |
2 B 12 B 22 A 0 B o c 52 D 62 A 1
3 C 13 B 23 C 13 D 43 A 53 B 5
|
4 A 14 B 24 A 24 B 44 D 54 B |
!
5 D 15 D 25 A 35 B 45 c 55 D
6 A 16 D 26 B 36 B 46 A 56 B
7 B 17 C 27 A 37 D a7 B 57 A
8 D 18 B 28 c ag A 48 A 5§ A
9 B |19 c | 20| 8 | A || Al c
10 D 20 B 30 A 40 D 50 A 60 A
Making rdfs, photocopies,
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ICAI SM

Caf 2aa

Suppose g firm is producing a lewed
of output such that ME > IAC, wmifias

[l 4
| ' should be firm do to macrize &
1 | In the table below what will be || 7 'M‘J : to vize its
equilibrium market price? - itk
a) The firm should do notimes
) f: ) — - = o B e - =
Price | Demand (tonnes Supply (tonnes per 0) e 1 should 2 == abouwr
(rs.) _per annum) annum) i1 € The firm should inaecseprice
Ll 24) The Srvm < G INEY s OuWEours
1 1000 400 S letssnidiods ' Lo b
2 900 | 500 | SCAI Sh
|
= it . <t 5 Marginal Revernie is equal to-
4 700 ; 700 _
| a) The change,in price divided by the
= 600 ' g00 chnarigelin Ot UuE
[ L -1 = - = - o - - - -
6 SOO ‘ 900 :’JJ ne :’SKE: 7 ESC bl ERE TR Y =
7 400 | 1000 o ot b ameilgleaginth o P
g 300 1 1100 | NIE :”;srdga N OUtpest
a) Rs.2 || D ::y:a,jjt o f the firm is a price
b) RS 3 | Searcne
c) Rs. 4 : T
d) Rs.5 ICAI SM
| Suppose that a sole proprictorship
ICAI sM || is earning total revenues of Rs.
Assume that when price is Rs. 20, || : I‘g?c’sooi r:;a 7“,5 ‘r‘cu;r_rr’ Wt
the quantity demanded is 9 units, € - ol S i
2 : could work for ancther company |
and when price is Rs. 19, the for Rs. 30,000 a year, we weould
» | quantity demanded is 10 units. concliade 11m il R R ]
Based on this information, what is - et
the marginal revenue resulting a) The firm is incurring an economic
from an increase in output from 9 loss
units to 10 units. b) Implicit costs are Rs. 25,000
a) Rs. 20 c) ~rff, ,:,:,:: EConomic coOsts are Rs
b) Rs. 19 o ¢ St 1 ot B =
&) Rs. 10 e BRI e I Bl
d) RS.l econo C pProic O N=o- 22,000
Assume that when price is Rs. 20, ICAl sM
the quantity demanded is 15 units, :
% U 3 - ; : ; . ‘
hd - ’.“?" pricey is .Rs ot 1.:he Which of the following is not an |
3 quantity demanded is 16 units. P eeortit condotie of pure ||
Based on this information, what is combetitions
the mardinal revenue resulting f § :
_ from an increase in output from 15 |
Y Units to 16 units? ,
i a) Large number of buyers and sellers f
‘;g Rs. 18 b) Homogeneous product i
% Rs. 16 g c) Freedom of entry !
Rs. 12 d) Absence of transport cost {
' d) Rs. 28

Making pdfs,

MVSIR)

pPhotocopies, xerox, sharing or selling MVSIR's
to strict legal action with monefary penalfi




}(—, ’ CcA Foundation — June 2024

/i
ICAI SM . ICa) n !
What is the shape of the demand i AU o i supply  curye ™
g8 | curve faced by a firm under perfect " | decrease ih demand causes
competition? a) an overall decrease in priceb\ut
a) Horizontal increase in gquilibrium quantity. ap |
b) Vertical b) an overa'll increase N price by )
c) Positively sloped decrease in equilibrium dquantity ~
d) Negatively sloped c) an overall decrease tnvprice ang |
decrease in equilibrium quantity, O‘.
ICAl SM d) no change in overall price byt
reduction in equilibrium quantity
Which is the first order condition —
9 | for the profit .of a firm to be m
, = "
Lt b G e It is assumed in econamicﬁ‘
c) MR = AR ; a) decision making within the m
d) AC = AR usually = undertaken by managers
but hever by the owners. ‘
ICAl SM b) the u{timate goa( Of the firm (s to
maximise profits, regardless of firm
10 which of the following is nhot a size or type of  business
characteristic of a “price-taker”? organisation.
) TR=PxQ c) ‘as the firm’s size increases, so do its|
b) AR = Price goals. el ki :
c) Negatively — sloped demand curve ) Sl I?as!c_ geLision makindy i
d) Marginal Revenue = Price dpy FlumisLEs OV Ers.
11 Which of the following statements
is false?
Assume that consumers’ incomes|
and the number of sellers in the|
14 market for good A both decreast ;
. : Based upon this information, we |
a) Economic  costs include the can conclude, with certainty that |
opportunity costs of the resources the equilibrium: {
owned by the: firm. 1
b) Accounting costs include only
explicit costs.
c) Economic ﬁkgﬁt,\{vil! always be less e
than accounting profit if resources
ownéd and used by the firm have
any opportunity costs. a) price will increase.
d) Accounting profit is equal to total b) price will decrease.
revenue less implicit costs. : c) quantity will increase.
d) quantity will decrease.
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ICAI SM HEAT /4
If supply increases in a greater Suppose  the  technalagy  fov
15 | proportion than demand producing  parsenal  covaputers
b A s improves and, at the sevia  tivne,
individuals disetrver raw des for
a) The new equilibrium price and 17 | pereonal eomputers s that &ﬂgf.g ¥
quantity will be greater than the greater  utilisation of pérstrial
original equilibrium  price and computers. Whickh of the follewing
quantity. will happen to @quilierium  price
b) The new equilibrium price will be and equilibriury quansity’
greater than the original equilibrium a) Price will increase; guantity convet |
price but equilibrium quantity will be determined ‘
be higher. b) Price will dégrease; quantity tonvit |
c) The new equilibrium price and be determined,
quantity will be lower than the €) Quantity WIll tncreases; grice cavnviest
original equilibrium price and be determined
quantity. d) Quantity will decrease; price convict
d) The new equilibrium price will be be determined
lower than the original equilibrium — ————————— e
and the new equilibrium quantity IGAL S/
will be higher. — S ————————"
Which of the follewing is net o |
18 condition of perfect covipetition? !
a) A large nurber of firms 1
ICAl SM b) Perfe:gct mobility of factors '
€) Informative advertising to ensure |
that CONSUMEers have acrd
information. ‘
Assume that in the market for d) Freedom of entry and exit into and
good Z there is a simultaneous out of the market
16 | increase in demand and  the =T R i
g::antnty supplied. The result will ICAS SIA
Which of the followirg is net 4
19 | characteristic of a perfactly
competitive market?
a) an increase in_equilibrium price and = <
quantity. !
b) a decrease in equilibrium price and |
quantity. a) Large number of firms In the ’J
¢) an increase in equilibrium quantity industry, :
an_d uncertain effect on equilibrium b) Outputs of the firms dre perfect |
price. substitutes for one ancther, ,'
d) a decrease in equilibrium price and c) Firms face downward-stoping |
Increase in equilibrium quantity. demand curves, - J;
d) Resources are very mobile, .'
{
f
S |

Yendities
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For a price-takRing firm:

Which of the following is not a4 24
20 | characteristic of monopolistic : .
competition? a) margindl revenue is te%
; b) marginal revenue s equal to ric e
a) Ease of entry into the industry. argindl revenue is  greq €.
b) Product diﬁfeyrentiation. 2 g:riceg. . ! thanl!
¢) A relatively large nhumber of sellers. d) the relationship between

q &9 . rai
d) A homogeneous product. revenue and price (s mdeterminqgg”q'f
e |

ICAI SM i \K:A'SM

)\

21 Monopoly may arise in a product Monopolistic compe_ti.tion differ‘
market because 25 | from perfect competition prip,,.°|

P because Ty

a) A significantly important resource ,- |
a) in monopolistic compeMi

for the production of the commodity ;
is owned by a single firm. can differentiate their products

b) The government has given the firm b) in perfect competition, firms canl
patent right to produce the differentiate their products. nj
commodity. c) in, monopolistic competition, ept,

c) The costs of production and. into the industry is blocked. 4
economies of  scale  makes lI| iy Smonopolistic competition, there|
production by a, single producer are relatively few barriers to entry, |
more efficient. - : )\J

d) All the above. : . : ICAI M |

] e ~

22 Oligopolistic industries are The long-rur_l e.quahbrlum outcomes|
characterized by: sk | in monopolistic competition ang|

. : perfect competition are similar,

a) a few dominant firms _ and because in both market structures |

substantial barriers to entry.
b) a few large firms and 'no entry

barriers.

a) the efficient output level will be
produced in the long run. |
c) a large number of small firms and nho b) firms will be producing at minimum |

entry barriers. ‘ average. cost.
d) one dominant firm _and low entry ¢) firms will only earn a.normal profit. |
d) firms realise all economies of scale. B

barriers.
Price-taking firms, i.e., firms that ; SMj
operate in a perfectly competitive ‘ ' ICALE
23 market, are said to be “small” ; ' —
| relative to the market. Which of IR oL oilowing is aell
:&sz:élsz?mi ke g 27 distinguishing characteristic |}

2 2 | oligopolies?

a) The individual firm must have fewer N : i

than 10 employees.
b) The [ individual firm faces g ; 1
downward-sloping demand curve, a) A standardized product _
=) ;I:':e ir!;div;'%u(alkﬁrm has assets of less lg)) _-If_-:s ighota;lrzgppro;it maximizcglt;f?r?ﬂs |
an Rs. akhs. ! '- endence amon
d) The individual firm is unable to d) ;%Vggvgq;q-sloping demand curv®
! Y Tirms. '

affect market price through its
output decisions.
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F e Sl = 7 T f
- il NCAI SM | Ay mj}'
In which form of the market i the ok oA g g
structure is the degree of control || 3% | binwed MM W& e&; 11‘3
over the price of its product by a | | desigrned o ereisin — ﬂ
o firm very large? : . ransrerues e —
= sca Ll 8) Price avid okl seiar v/ R i
a) MOﬂOPU!y i ! '//} Pricé ‘/}2;;/;74‘/ W li
v) “‘Ylpeffect competition | £) Price leadersriie ’
C) O'IQOPO’“\/ ! ! 4) Cotluston Gty (g S E
f d) Perfect competition ;’! o e e —
| | A SAA
% ICAI SPA 4
A mﬁrmmafﬂfw;fmmﬁsnk
29 Average revenue curve is also 34 | MR B 4 pricetibe). Taig
u known as: designation o6 ¢ wice. e i
a) Profit Curve based on the ausarnylioe CRk <
b) Demand Curve 4) the iy Voo L, G A
¢) Average Cost Curve Corn s G et h bt
d) Indifference Curve srice,
" ‘9/ there ove =0 mony © ,,1/’ i eZNErs
. ICALSM ||| ing the) market that day oA it
TR T ; ||  fikrn connot offect the ok
; u_nd_e_r which of the following forms | ! c)gealh firm produces ¢ Nowicgeresis
30 | Of market structure does a firm SHOLUCE,
. | have no control over the price of ||| 4) ¢tizrz iz zosy encry irtn or cnit S
3 A': lts PrOduct, ‘f 4‘-,(‘, s a,/,/{«; -/f//'r///‘
a) Monopoly
b) Monopolistic competition { F LCAE SHA
c) Oligopoly
d) Perfect competition |
1 Suppose thot the demond Cave for
ICALSM ||| 35 | the XYZ Co. slopes dowvnmward cad |
- | to the right. We con condinde thot |
M Discriminating monopoly implies | | :
| 31 | that the monopolist charges % :
| different prices for his commodity:
: [
a) from different groups of consumers || |
b) for different uses || @) the firm operotes in o perfecty
¢) at different places L comppoericive iamlort
) any of the above, || b) the firm can sefl all that it wants to
T T N 1 at the establishied market price
. X ICAISM ||| ¢) the XYZ Co. is not o price-toker i
liscrimination  will  be :ﬁ:e ma"iﬁi:ﬁtr%.f/f—‘/’;é' J:’t st (ouwer
!y if the e| 15t rcity of ?(E;e L £eli SR EIO G s OF
in different sub- markets G it ;
_ | d) the XYZ Co. will not be oble t |
- maximise profits becouse price ang |
| unifo : revenue are subject to chignge

) dtheret
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s ICAl SM B

36 | If firms in the toothpaste industry Suppose that, at ¢, 4
have the following market shares, maximizing level of outp,, Py
which market  structure would finds that market pric | *fi,
best describe the industry? 3p | than average total (o ly

RIS Wiufuivh greater than average variq," by

Market share  |(% of market)] Which of the following stq . Cogy

Toothpaste ) 18.7 is correct? atem%

D‘—'f"t,'PC‘StG 143 a) The firm should shutdown

Shinibright N e 11.6 | to minimise its losses. o Ord,

[ can’t believe its not 9.4 b) The firm should raise jt5 .

toothpaste g A enough to cover its losses, Prie

Brighter than white 8.8 c) The firm sljould move: its resoyr

Pastystuff — 74 to another industry. Ceg

Others — [ 308 d) The firm should _contmue t0 Operg,

Others — in the short run in order to mim-mf“e

a) Perfect competition. its losses. 4

b) Monopolistic competition. ]

c) Oligopoly. ; ICAI sy

d) Monopoly. when price is less than m

variable cost at the profi.
ICALSM ||| 4D |\ avimising level of output, :aff,:n

37 | The kinked demand curve model of ,_| should:

oligopoly assumes that a) produce where marginal revenus

equals marginal cost if it i
operating in the short run.

b) produce where marginal revenu
equals marginal cost if it i
operating is the long run.

a) the response (of consumers) to a
price increase is less than the
response to a price decrease.

b) the response (of consumers) to a
price increase is more than the
response to a price decrease, ¢) shut down, since it will lose hothing

¢) the elasticity of demand is constant in that case.
regardless of whether price d) shut down, since it cannot ew’
increases or decredses. cover its variable costs if it staystl

d) the elasticity of demand is perfectly business.
elastic if price (ncreases and e
perfectly inelastic  if price ' {CAI S
decreases.
/

A firm encounters its “shutdown

38 | point” when: A purely competitive firm’s suppl

41 | schedule in the short run ¥

a) average total cost equals price at 4
the profit-maximising level of determined by
output. -z e
b) average variable cost equals price at
the profit-maximising level of.
outputis a) its average revenue.
c) average fixed cost equals  price at b) its marginal revenue.
the profit-maximising { ney curvé

evel of ||| ©) its marginal utility for mo
output. . ' d) its marginal cost curve.

d) marginal cost _equals price at the

profit-maximising level of output.

photfocopies, xerox, snarnng or sellina MVSIR' < : W’HHEC"
15, XEIOX, SANNgG or selling MVSIR's books is not allowed. I
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ICAI M

e

1 D

One characteristic not typical of
ollgapolmdc lndustry ls

MU

4z

9) hqrt/ur wtal demand curve
b) too much importance to
competition,

non-price

Under perfect competition, in the
46 | long run, there will be no

a) normal profits
b) supernormal profits.
¢) production

L) price leadershiy
4) a small number of firms in the
industry
ICAlI SM

The structure of the toothpaste
43 | industry in India is best described
as

a) perfectly competitive,

b) monopolistic,

£) monopolistically competitive.
d) oligopolistic.

ICAlI SM

The structure of the cold drink
industry in India is best described
as

a) perfectly competitive.

b) monopolistic.

¢) monopolistically competitive.
d) oligopolistic.

d) costs. l
IcAl sm |
When __ _ __ _ _
47 | _, we know that the flrms a e
earning just normal profits
a) AC = AR
b) MC = MR
¢c) MC = AC
d) AR = MR
ICAI SM ||
when i O~ .
we know that the firms under
48 perfect competition must be

producing at the minimum point of
the average cost curve and so
there will be productive efficiency.

|
|
\
i
|

|
e

ICAl SM

a) AC = AR
b) MC = AC
c) MC = MR
d) AR = MR

Which of the following statements

45 is incorrect? Fely

ICAl SN\T

a) Even a monopolistic firm can have
losses.

b) Firms in _a perfectly competitive

beneﬂcml for a firm in a

Perf tly mpetitive discriminate
pric
Kinke emand curve is related to

an oligopolistic market.

When

—

there will be allocative efﬁmency
meaning thereby that the cost of
the last unit is exactly equal to the
price consumers are willing to pay
for it and so that the right goods
are being sold to the right people
at the right price.

49

dfs, photocopies, xerox, sharing ¢

a) MC = MR
b) MC = AC
c) MC = AR
d) AR = MR
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W
(=]

Agricultural goods markets depict

characteristics close to |

}o

|| a) perfect competition
ol i
|| b) oligopoly
"\ -~ o~
] ©) monopoly.
|
: A e s el - -
] @) MOoOnNopoustic competitio
] §
| ICAI SM |
| 0 I
Which of the following is not a |
S1 | characteristic of a competitive |
. market? '
: \
) There ~rs -~ A =allor— ~
{ ] & CIFC arc many ouyers ang seuers u
‘ the market
! Y Thho -~ o = o LR Lo = o sre
Q) InN€ goodgs aojicred jor sales are
largely the same.
| ¢) Firms generate small but positive
! supernormal profits in the long run
) Sirvnc ela Sl Dy oA v it TNne
| L { = La CCy Enctc o EXiT Liic
market.

iICAl SM

|} 52

Which of the following markets
would most closely satisfy the
requirements for a perfectly
competitive market?

o N’ N

n Oy L6 e & |

A e

ity

b Eas

= { S g { &8
- -._’-\ ——— - -~
Capie tewevisior
™ o~
UK
\)T"-

IR

ICAI SM

s3

wWhich of the following statements
is accurate regarding a perfectly
competitive firm?

The market for hand tools ¢
hammers and  screwdrm. o
dominated by Draper, 3
Craftsman. This marke:
described as

ov|

> P = & Ul - T -
G INOPOUSTICLaNY o R (Ve
b) a MOoNOPC
D 7] v
h - o~ 3
® arn GO0
~. b R
- iyt R 4
A Deriect MPCTIIVE
£ - - Vs o =
—

mﬂ

| A market structure

in 3’4‘;’1:....( -~
| firms sell products that are “*"Mr
| but not identical is knowsn

b L o e 4 e e ey Sy 2
- Y ONGo0 SECICOMPETTIC
b) mongpoh
- e e oy P Sy
~ ~ | ¥ =
e be Coh e e Wl LA
A) - ~ T30
i & SaFp I
W
s

When an oligopolist individagil
chooses its level of production o
maximize its profits, it charngs g
price that is |

-~ — = oy g
. IS - -~ ~ e i g
e el o et 2 = - T AR e
(" ALY ~ ~u - sl 4

~w
~

s e -

- e~ - -

AT o~ N R e et »
Tne § e Cchargsa 9y &
y o o
S~ S i, - - 3
AT WSS <~ IS YU
e e s] bt ol b S RTE ;{."‘
- e - - -~ .~ - s
3 - o |
Fhe mrhss oo iy 8
¥ - LN ~ :““
" - e
angd mores than T LA
CoOMmoStit R
a COMPETITIVE K

WAl S

™3 1 &
ZOW

Demana curve is d ward S{GPEP(
The damand curve always lies above
the marginal revenue curve
Average frevenue need not be equal
to price :

Price is given and is determined by
the equilibrium tn the entire market

57

In the long-run equilibrium 3 &
competitive market, firms
at

the intersection of the ma¥™
€Ost and marginal revenus

their efficient scale

ZEro economic profit

all of these cm\. ers are cormeet




————

ICAI SM ICAal s
which of the following is not a , |
64 | AR is alse know : :
88 | characteristic of a monopolistically i i
competitive market? a) price
4) Free entry and exit L s ‘,
| p) Abnormal profits in the long run £ SN ,
) Many sellers d) none of the above
ifferentiated products
d) Diff p ICAL SM

ICAI SM

59 | In a very short period market:

a) the supply is fixed

| p) the demand is fixed

¢) demand and supply are fixed
| 4) none of the above

ICAl SM

=

Time element was conceived by

La
a) Adam Smith
| b) Alfred Marshall

| ¢) Pigou
d) Lionel Robinson

ICAlI SM

61 | Total revenue =

a) price x quantity
b) price x income

 ¢) income x quantity
d) none of the above

ICAI SM

is the revenue

| Average revenue
| earned

 d) per unit of input
b) per unit of output
€) different units of input

d) different units of output

ICAlI SM

58 | Al symbolically written as:

B) Price x quantity
e TR/ Q@
) none of the above

‘ohnish Vora (MVSIR)

Marginal revenue can be defined as |

65 | the change Iin total revenue
resulting from the:
a) purchase of an additicnal umt of a |
commoaodity ’
b) sales @f am additianal umt or a |
commodity
¢) sale of subsequent units Qof a
product
d) none aof the above
ICAL SM
66 | When e > 1 then MR is
a) zero
b) negative
c) positive
d) one
ICAI SM
67 | When e =1 then MR is
a) positive
b) zero
c) one
d) negative
ICAI SM |

68 | When e <1 then MR is

a) negative
b) zero
c) positive
d) one




ICAl SM

In Economics, the term ’‘market’

69
refers to a:

a) place where buyer and seller bargain
a product or service for a price

b) place where buyer does not bargain

c) place where seller.does not bargain

d) none of the above

Price ' MC ATC

ICAl SM

Under perfect competition a ﬁrm is

Zg the

a) price-maker and not price-taker

b) price-taker and not price-maker

c) heither price-maker nor price-taker
d) none of the above

75 | At price P1, the firm in the figur
would produce

\ AVC o
e -w‘\’m\wﬁ/ﬂ/w*//fp""”'”&,
4 ..y 1

B =L R n.

P |9 H Fa= MR=aG, . g

F-“ P‘ E’JR|.AR“ |
g

(v] 01 Ozoﬁa‘a-‘aOOY 03 o"’

a) Zero output
b) Q3.
c) QS.
d) Q6.

26 | secular period is also known as

ICAl SM
71 | A Monopolist is a
a) price-maker
b) price-taker
c) price-adjuster
d) none of the above
ICAI SM

Price discrimination is one of the

72 features of

— — —

a) very short period
b) short period
¢c) very long period
d) long period

a) monopolistic competition
b) monopoly
c) perfect competition

Stock exchange market

s example of

a) unregulated market
b) regulated market
c) spot market

d) none of the above

d) oligopoly
ICAl SM
73 Under monopoly, the degree of
control over price is:
a) hone
b) some

c) very considerable
d) none of the above

General!y, perishable goods like
74 | butter, eggs, milk, vegetables etc 3
will have

The market for the

78 3
consumers is known as

a) regional market
b) local market

¢) hational market
d) none of the above

a) whole sale market
b) regulated market
c) unregulated market
d) retail market

Making pdfs, photocopies, xerox, sharing or selling MVSIR's books is not allowed. It will 1ea0
io strict Iegal action with monetary penalties

CA Mahmsh Vora (M




g

]

¥isd

cA Foundation — June 2024

,~,

ICAI sM

ICAI SM

is

The condition for pure competition |

3 large number of buyer and seller,
free entry and exist

) homogeneous product

¢) both (a) and (b)
large number of buyer and seller,

Under _ __ _ __  _ the
84 monopolist will fix a price which
will take away the entire

consumers’ surplus.

a) second degree of price
discrimination

b) first degree of pricediserimination

pure oligopoly is based on the
80 | __ _ products

hormogeneous product, perfect c) third degree of price discrimination
unowledge about the product d) none of the above.
ﬁ
ICAl SM ICAI SM

85 | Price discrimination is related to

75 differentiated

b) homogeneous

¢) unrelated

d) none of the above

a) time

b) size of the purchase
c) income

d) any of the above

ICAI SM

ICAI SM

In oligopoly, when the industry is
dominated by one large firm which
is considered as leader of the
group, Then it is called:

W

The firm and the industry are one

28 and the same in

a) full oligopoly

b) collusive oligopoly
¢) partial oligopoly

d) syndicated oligopoly

a) Perfect competition
b) Monopolistic competition

ICAlI SM

c) Duopoly
d) Monopoly
ICAl SM
g7 The demand curve of a monopoly
firm will be ——

5 When the products are sold
82 | through a  centralized body,
: oligopoly is known as

a) organized oligopoly
v) partial oligopoly

€) competitive oligopoly
d) syndicated oligopoly

a) Upward sloping

b) Downward sloping
¢) Horizontal

d) Vertical

ICAl SM

[
| When the monopolist divides the
| consumers into separate sub
83 | markets and charges different

fr'g: s in different sub-markets it is

as

If the average cost is higher than
88 | the average revenue then the firm
incurs ____

d) first degree of price discrimination
) second degree of price
discrimination
€) thirg degree of price discrimination
none of the above.

a) Normal profit

b) Abnormal profit
c) Loss

d) No profit, no loss

ies, xerox, sharing or selling MVSIR's books is not allowed. It will lead
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| _»7___«,____-—(’ —e S ‘ 5 ’\J‘wd
e —— n Yy
il "-—M- P = T b 'CA' SM | \
i of the following statements 93 | Average m
8 | s eorrccf? o p hAR || a) The chqngem

- unit chdange in OUtPu(s dye o

~»;;-).-.-I4‘,’7‘».“;.-”L“‘(“'y (5 an (mport ant feature I oching & .
of monopoly. _ '9 ut price b
alll . . ceible under output. oh
p) Selling costs dre possivie = €y
. , ¢) The change in |
perfect competition. 4 ‘ ‘ duantis
tion factors of change in price. diviq(

¢) Under perfect competi (
production do not move freely as d) craphically

postrictions. supply curve.

(i dehotes :
there are legal o ) he ‘
d) An (ndustry consists of many firms. E—W — = |
. s rreomysec) e e s PR ‘\

S

ICAI SM L | ;
, ok Example of am
90 which of the following statements ‘ have an Internationg| Marksq
, g,
el mm_l‘_imotmg:l e a) Perishable Goods.
a) Under monopoly  there is ho (|| b) High Value —and sy

difference between d firm and an commodities.
(ndustry. ¢) Product, whose trading s re
by government. ]

b) A monopolist may restrict the
d) Bulky Articles.

output and raise the price.
¢) commodities offered for sale under a i

perfect competition will be i \l

heterogencous. : ‘ - J
d) Product differentiation is peculiar to ok Weekly market is example of

monopolistic competition. - Market:

' ' a) Regulated Market
ICAl My, b) Spot Market
gy | For market the assential condition ||| ¢) Forward Market
is - s d) Unregulated Market
ICA

a) A particular geographical place

J

b) Control of the government
¢) Close contact between buyers and 9k Conditions for equilibrium ofd
sellers are:
d) None of these [ . L B
a) MR = MC
ICAIl SM b) MC Should cut MR from be[OlI‘\\//\R
: ¢) MR = AR and MC should cut
Assume that when Price is Rs. 10, below.
the quantity démanded is 5 units d) MR = Mc and MC should he
and when Price is Rs. 12 the positive slope
quantity demanded is 4 units. ———
hent

92 . —
Based on this informdtion, what is ||| 9% | Natural Monopoly arises W

the Marginal Revenue resul :

- ting A i

from increase in out 5 [ ene

units to 5 units. Pug, from a8 i ;he;ef.‘s enormous 900“‘”'“
AR Y trm. lega[ {

b) There are: stringent

a) Rs. 5
).k regulator ' t. ‘
- { ry requtremen mieé
¢c) Rs. 2 ¢) There are very large gcon?
d) Rs. 3 ( | S |
cale. e
d) There are Business combind

, __ Cartels. ”J
Jorselling MVSIR's books is W
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ICAI SM ICAI SM
j” Price Discriminai.:ion cannot persist Combination of Monopoly Market
i under the following market form: 100 | and Monopsony Market is called
e as: _
a) Perfect Competition
b) Monopoly a) Duopoly Market
C) MOHOPO“St!’C b) Ohgopo[y Mal’het
d) Oligopoly c) Bilateral Monopoly Market
= d) Monopolistic Market
ICAI SM
ICAI SM
Sweezy’s  Model explains the .
99 | concept of price rigidity relating to Price varies by attributes such as
following market form: 101 location or by Customer Segment
is degree of Price
@) Oligopoly Market Discrimination.
b) Perfect Competition Market -
c) Monopoly Market a) First
id) Monopolistic Market b) Second
‘ c) Third
i d) Fourth

Answer Key —Chapter 4 (unit - 3)

q: (c) 2° (© 3 (c) 4. (d) 52 (c) 6. (a)
7 (d) 8. (a) 9. (b) 10. (c) 113 (d) 127 (c)
13. (b) 14. (d) 152 (d) 16. (c) 17, (c) 18. (e)
19. (c) 20. (d) 21 (d) 22; (a) 23. (d) 24. (b)
25. (@) | 26. (c) 27. (c) 28. (a) 29. (b) 30. (d)
gsr d | 32 (b) 33. (b) 34. (b) 358 (© 36. (c)
37. (b) | 3s. (b) 39. (d) 40. (d) 41. d) | 42. (a)
43. (c) 44. (d) | 4s. (c) 46. (b) 47. (@) | 48. (b)
49 (c) 50. (a) 51. (c). 52. (d) 53. (d) 54. (c)
E55°0 (a) 56. (d) 57. (d) 58. (b) 59. (a) 60. (b)
| 61. (a) 62. (b) 63. (e 64. (a) 65. (b) 66. (o)
Bl & Y @ o @ 7o & @ | 72. | )
B OWE | o |5 @ olel o TEe o
b %0 » [ O T2 W e © | s | ®
8s. (d) | sge. (d) 87. (b) 88. (c) 89. (d) 920. (c)
L 91. (c) 92 (c) 93 (b) 94 (b) 95 (d) 96 (d)
m (c) 98 (a) 99 (@ | 100 | (o 101 | (c)
xerox, sharing or selling MVSIR's books is not allowed. It will lead
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MTP Mar 21, SEQ

MTP Nov 22

The study of demand and supply

1 | The opportunity cost of a good is 6
. model is useful in explaining
a) the time lost in finding it a) How government works
b) the quantity of other goods b) How markets work
sacrificed to get another unit of c) How consumers behave
that good d) None of these
¢) the expenditure on the good
d) the loss of interest in using saving MTP Dec 22, PYQ Jun 23
On the basis of nature of
MTP Mar 19 7 | transaction the market is
2 | Economic goods are goods which: classified into
a) Cannot be increasgd in quantity a) Regulated and Unregulated market
b) Obey the law of Micro Economics b) Wholesale ahd Retail market
¢) Are limited in supply and are scarce c) Spot and future Market
d) Are limited to man-made goods. d) None of these
MTP Jun 22 PYQ Jun 22
In economics, we are concerned When commodities are sold in
3 | with g8 | small quantities are called as
which of the following ?
a) Value in use only
b) Exchange value only 8 I‘Q/e hill‘;staelj ::2:}}::5
¢) Both value in use and exchange 3 Spgt i
value :
d) None of the above d) Retail market
) MTP Nov 22 MTP Oct 18, SEQ
B 2 A I ller realizes Rs. 10,000 after
41| Value in exchange is also knowhjas sfel?insge 100 ur:izts and Rs. 14,000
a) Value in use g after selling 120 units. What is the
b) Economic value marginal revenue here?
‘ c) Rs. 200
MTP Nov 22 d) Rs. 100
‘rs which one of the following features AQ.
| of the term market is incorrect?
rg
If the price of a product s
a) Market is the collection of buyers 10 Rs.20/unit .and its price elasticity
and sellers with the potential to of demand is (=) 0.25. Its MR will
tradel® .9 be
b) A market heed not be a formal.
¢) A market need not to be held in a Q) 60
particular place. b) 100
d) A market must be formal or to be &) - 60
held in a particular place. d) None of these
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MTP Jun 22, MTP Nov 22

”'— — Y

11

When total revenue is increasing

a)
b)

c)
d)

Marginal revenue may be either
positive or negative.

The demand curve s
ihelastic.

Marginal revenue is positive.
Marginal revenue is negative.

}e(atively

“I am making a loss, but )
rent | have to pay, | cany Wit A

shut down at this poin of‘:_ffordt:
tm

PYQ Jun 22

12

Which of the following statement
is not correct ?

a)

b)

d)

Marginal revenue is the revenu of an
additional unit sold of a commodity
Total revenue is obtained by
multiplying the total number of
units sold with the price per unit of
a commodity

Average revenue is the
earned per unit of an output
Total revenue is the sum, total of
average revenue

revenue

o 2;&?2‘: pronenr 15 attemy ey
P"Oflts or 3 lhg ty
losses, his behavior in thmi"’ile
run is: € Shoy
a) Rational, if the m
its variable cost C°V€ring

b) Rational, if the firm is Cover;
fixed cost g

¢c) lIrrational, since plant closin

hecessary to eliminate lossee i
d) Irrational, since fixed  ¢oste
eliminated if a firm shuts 4o,

7

In the long run any firm wij

15 eventually leave the industry if

a) . Price does hot at least cm‘
total cost. %

b) Price does not equal marginal cost.

¢) Economies of scale are being reapeg

MTP Oct 19, Oct 21, SEQ, ICAl SM, MTP
Mar 18, Apr 19

d) Price is greater than long
average cost
PYQ Jun 23
‘ Which one of the following is not
16
element of market
a) Buyer
b) Service
c) Firm

d) Bargaining for price

d)

A firm encounters its “shutdown

13 A i

point” when:

a) average total cost equals. price at
the profit-maximising level of
output.

b) average variable cost equals price at
the profit-maximising level of
output. {

c) average fixed cost equals price at
the profit-maximising level of

output.
marginal cost equals price at the
profit-maximising level of output.

MTP Mar 21

e —

17 | A rise in supply and demand in

Making pdfs, photocopies, xerox, sharing or
fo strict legal action with monetary penalties

CA Mohnish Vora (MVSIR)

equal proportion will result in

: B L ; d
a) Increase in equilibrium price 4

decrease in equilibrium quantity
b) decrease in equilibrium price
increase in equilibrium quantity a
¢) ho change in equilibrium pricé
increase in equilibrium quantity
d) increase in equilibrium price 4"
change in equilibrium quanttty

and

selling MVSIR's books is not allowed. "
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MTP Oct 18 Extra Mt:.‘.QT
A drought in India leads to In market, price being
unusual.ly lou{ level of wheat 21 | given, a firm decides only about
production. This would lead to a the output.

18 | rise in price of wheat and fall in
the quantity of wheat demanded ||| @) Monopoly

due to: b) Monopolistic competition
| Ll c) Oligopoly
1) excess demand at the original price. d) Perfect competition
) excess supply at the original price.
1) the supply curve shifting to the SEQ
right. -7 :
{) the demand curve shifting to the 22 A perfectly competitive firm has
left control over
a) price

MTP Aug 18 b) production as well as price
¢) production, price and consumers

Suppose consumer tastes shift d) none of the above
toward the consumption of apples.
Which of the following statements MTP Oct 21, MTP Mar 22, SEQ

4 is an accurate description of the

impact of this event on the market 23
for apples?

Full capacity is utilized only when
there is

a) Monopoly
b) Perfect competition
c) Price discrimination

g) There is an increase in the quantity

demanded of apples and in the ||| % _Oligopoly
supply for apples
b) There is an increase in the demand MTP Aug 18, SEQ
and supply of apples. s " .
€) There is an increase in the demand 24 Iofu;ui?rintgif;:;\{erec;nmueczioubles L=
for apples and a decrease in the
supply of apples. a) doubles.
d) There is an increase in the demand b) more than doubles.
for apples and an increase in the c) less than doubles.
quantity supplied. d) cannot be determined because the

price of the good may rise or fall

MTP Mar 18 MTP Oct 18, SEQ

- In the short run if a perfectly
{ In perfectly competitive firm, MC 25 | competitive firm finds itself

[T

curve above AVC is Curve of operating at a loss, it will:
firm 3
‘ N a) Reduce the size of its plant to lower
a) A i fixed costs.
b veragecost b) Raise the price of its product.
) Marginal revenue ¢) Shutdown

c) : ‘ ;
S gsm‘l‘"d d) Continue to operate as long as it
E pely covers its variable cost
Bl

:

hotocopies,ﬂ XErox, sharing or selling MVSIR's books is not allowed. It will lead
to sirict legal action with monetary penalties
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A.Q. ﬁ competitive firm sells
product it chooses at a mafhetch s of
RE. 100 per unit. Its fixed cost Price ot
ahd its variable costs (in "Upee;; Rs. 3
different levels of production gy for
in the following table. Use Tableet; Oy

dhswer questions 27 - 29

For a competitive firm, longd period
normal price will

a) Equal AC and MC of productioh
b) Equal MC of production only

¢) Equal TC of production only
|4 _None of these e |
AT Variable zi:setd Total Cost AVC ATC F\Mc
Cost
0 0 . 3 7 3 :
5 270
10 490
15 720 -
20 1000 B
25 1370 T
30 1870 B
35 2540 T
40 3420 |
‘ 45 4550
’i 50 5970
When production is 35 units, the If the market price drops from Rs.
: 30 | 100 to Rs. 74, the firm short run

24 average variable cost is 3

response should be: .

|
| @) Rs.7.25 _
b) Rs.72.25 a) Continue to produce the same
c) Rs.72.57 number of units as before the drop
d) Rs. 85.50 in price .
b) Produce 10 untts
In the table marginal cost per unit ¢) Produce 20 units
28 | that corresponds to 25 units of ||| @) Produce25units 0 _—
production is mm——
AQ
a) Rs. 3.50 _//
p) Rs. 74 ot
¢) Rs. 450 31 A firm reaches a break-even po!
d) Rs. 370 ' (normal profit Pw
s tf

MTP Oct 21, MTP Mar 22, SEQ £
‘ a) Marginal revenue curve cu

horizontal axis. vs the.
Marginal cost curve interset= g
average variable cost curve.- ol
¢) Total revenue equals
variable cost. st A
Total revenue an &

equal.

To max_iinize output, the firm
29 | should produce ' b)

a) 30 S
b) 35 , {
c) 45 d)

4 total

0

il led
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ma nrh And other factors of ||| 36 | Price taker firms :

" 18 Wot mohopoliced, and
& ot Unionised in which

iy
1 Of Market structure:

a) vnapo!y
W) Peifert competition

A Monopolistic competition
4) Bligopoly

——— ]

MTP Apr 21

Ahimale had destroyed the
ehtire crope of a4 farmer what
effect it will have oh the price in
petfert eompetition:

Price Will Yelidin constant
Price will decience

Price Will deriease

Nove of theze

MTP Oct 21, Mar 21

1 =0~

a) Advertise to increase the
their products. .
Do not advertise beeause most
advertising is  harmful _for the
society.

Do not advertise because they can
sell as much as they want at the
current price.

Who advertise will get more profits
than those whe do not

demand for
b)

c)

d)

MTP Noy 22, MTP Oct 18 May 20
—

37 | Excess capacity is not found under

doubles,
more than doubles.
lées tHan doubles.

a)
b)

c)

d) connot be determined because the

price of the good may rise or fall

W owhich type of marhet buyers A JLTF Mar 13, MTF Mar 58
r“ Ho  preference  between In the long run, normal profits are
fent  sellers and  between 38 included in the curve.
| Alfferent  unite  of  commodity
| offered for sale 7 ) LAC
b) LMC
B Peifert opmpetivion
B) Mohopnlistic Competition MTP Mar 22 |
) Blignpnly 39 | In the Short run level of output the
_ — firm at the optimum will be:
d) Minimizing total losses
MTP Mdr 21 ||| 1) Marimizing total profit |
c) Either maximizing total profit or
S minimizing total losses
kBhahde madrket is an d) None of these
| MTP Mar 21
| When  firm is in long run
40 uilibrium in perfect competition,
which of following is not true -
a) AC = MR
b) TR =1c

HHIEH Vara {MVSin)

¢) firm will earn supernormal profit

d) Mone of these

< AV
AY

ciY
iy i
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Extra MCQ
Here, PC firm is 45 The dilemma faced by q
¥ Monopolistic is setting
MC
6 i a) Price
& - b) Output
¢) Bothaandb
41 d) Eitheraorb
p 'E" P = AR = MA
g Monopolistic Competition ¢
46 | architect was : heg
0 Q  outPuT X a) Roden
. b) Marx
g) Incurring Losses . c) J R Hicks
) Earning super-normal profit d) Chamberlin
¢) Earning normal profit
d) Any of the above
EERAMCR 47 | Which is not the characteristics
In case of Monopolistic monopolistic competition:
42 Competition, the less differentiated
the product is from its competitors, a) Large number of sellers
the ______ demand curve will be b) homogeneous Product

c) freedom of entry and exit

a) Less elastic . ; S -
2 d) non price discrimination

b) More elastic |
c) More steeper ,
d) None of the above

MTP Nov 22, A.Q. Average revenue curve

48 | elastic under monopolisti
| The monopolistically coempetitive competition than monopoly due to
43 | seller's demand curve gl Pecomsa a) low degree of governmental control
ERE clastic, the b) lack of close substitute
a) more significant = the barriers to ¢) availability of close substitute
entering the industry. d) none of these
b) Greater the degree of product
differentiation. MTP Oct 2
c) larger the number of competitors. J
d) smaller the number of competitors 49 A Monopolistic Competitive firm
advertises :
Y- MTP Apr 21 ——
shampo{manufactures is an a) Because it has no control over pricé
= exampg' of : of its product.
' b) To lower its cost of production
a) Perfect Competition _ ¢) To increase its sales and profits 3
b) Monopolistic Competition ‘ d) Because it cannot raise price of !
¢) Monopoly i product
d) None of these -

. : . : q
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| Exeess Capacity is the essential
“characteristic of the firm in the
| market form of:

a) Monepoly
) Perfect competition
Monopolistic competition

Oligopoly
|5 - P

MTP Aug 18

The sale of branded articles is
eommon in a situation of

@) Excess capacity

B Monopolistic competition
'.s Monopoly

d

Pure competition
MTP Dec 22
| When the industry is in long-run
equilibrium,  the  monopolistic

competitor will produce at the
lowest point on its LAC curve,

a) always
B) never
3 gometimes
‘__ cannot say.

Which of the following statements
about price and marginal cost in

' compct:ﬂvc and nonopolized
-8

markets is true?

a) In competitive markets, price equals
marginal cost; in monopolized
markets, price equals marginal cost.

b) In competitive markets, price
exceeds marginal cost; in
monopolized markets, price exceeds
marginal cost.

¢) In competitive markets, price equals

marginal cost; in  monopolized
markets, price exceeds wmarginal
cost.

d) In competitive markets, price
exceeds marginal cost; in

monopolized markets, price equals
marginal cost.

CA Foundation « June 2024 MCQ Shastra - Volume |
MTP Mar 19 MTP Aug 18, SEQ

I
|
l
i

AQ.

With respect to the pure
monopolist’s demand curve it can
be said that

56

a) The stronger the barrier to entry,
the more elastic is the monopolist’'s

demand curve.

|
| , .
|| b) Price exceeds marginal revenue at
PIQJ“"” ) all outputs greater than 1.
Non-price  competition s } ¢) Demand is perfectly inelastic.
‘observed (n  which type of ||| &) Marginal revenue equals price at all
following market? | outputs
) Monopoly i ¥
Monapolistic competition | Q.
| 33::3% If a monopolist could perfectly
—— o discriminate the which of the

MTP Oct 18, SEQ

the relationship
rage and marginal
is as follows:

goincides wzth the MR

Ve lies below the MR curve
Ve A8 paraltel to the MR curve

Tohnigh \ ord \\‘\ S'?{\

following statements would be
true?

a) Every increment of the goods would
be priced separately so as to capture
the entire consumer surplus.

b) Every increment of the goods would |

be priced eveniy.
¢) Every increment of goods would be
priced higher than the previous one.
d) Every mcrementofgoocmn
priced lower than the previcus one.
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produe s .

li) a’F"U

D) Very amall

) Migh

d) Elther (a) er (10

P Y T R ] P

I the following éﬂdbi‘ari-i the
Maonapaelist (s naurring

rlplf

i A

60
_;%
. I U-——W"fﬁfﬂ'?-"‘"
a) Lesses .
b)) Mrofit
¢) Super normal profie
() Nunc'_u( these o
MTP Mar 21
|3 11 araremmmp sy RN R ‘—‘——_— VRS

pynamle fare charged by tndian

61 ,.a‘wayﬂlu an example of |

a) pure moenopoly
g) perfect competition .,

ren=tinig T Apr 31, Apras ||
g | Unigue supply autve (h menepely (8 ||| a3 | THe shape of m“""“’llf,“if';‘
I RLLLLEL [ J—— s menapg!_!:t; Pt Gl nﬁh-.l
fa) P xMe JtiL ) r«llr:-lrl‘J;c"‘—fHJWf ————
I‘.‘ l: € A 1y (nverted u sl ped .
@) PsME @) dawnwgrd sloping
‘”k None of these d) rang of these
‘_ T mmemaras || WS
a I e n-mam : T o=y (<17 - ‘1*-‘-.;,,!*““ l’\
Croms elastiolty of damand for the A manapolist who (g “"“Hﬁ"\'
89 | monepoligt's product or any ethar 48 parkets inowhieh damgyg l" g
identieal — will  be o

Wy
maxlmize his profits un ‘g:':ﬂ:‘l; !o

e it B e b

a) Sells helow costs of produepor ™
both e rkets Oh Iy

) Practlees peiea discrimination

¢) Equates the valume of sale
R Ets,

f) Fguates
i ralial

I by,

GCOKLE

marglnel Wl
revenue (n one “’l(irk:‘i‘

. t-"”y |
e A
rA,A-.ub AP LT i e e = ..,___._‘_-.
MTF Nov 22, MTP og
- s = r -
g4 | Monopolles  are allocativy
ineffielent because!

a) They restriet the output to keep th
price  higher than under  perfe
competition,

b) They charge a price higher than the
merginal cost,

¢) Both (@) and (b) are correct.

d) Both (a) aned () are incorrect

S = .

e |
]

—
e

r Extra MQ

| L

soaps or blscult

Family pack of ot

tends to cost less per
smaller packs. It (s case of

:

b) diseriminating menopoly
o) none of these

m_r— YTy T R P T

MW‘ NI 4

ﬂg Flrat degree of price ﬂ‘ll&it;l'll’nfﬂmtlml‘“
b) Second degree of '
diserimination o
u; Third degree of price digeriminat &
d) Fourth  degree of f
diserimination
——
Tt . B
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MTP Jun 22

56Q

Marginal Revenue of a monopoly
firm is less than the price because

a) Demand curve has a positive slope.
p) Demand curve has a negative slope.
¢) Monopolist incurs losses.

d) Monopolist is in equilibrium.

If oligopolists engage in collusion
71 | and successfully form a cartel, the
market outcome is

e

: MTP Mar 22, Apr 23

_ If the monopolist incur losses in
67 | the short run then in the long run:

a) The same as if it were served by a
monopoly

b) The same as if it were served by
competitive firms

¢) Efficient because cooperation

d) Known as Nash equilibrium

a) It will stay in the business
b) Go out of business
c) Will break even

l
. - |
improves efficiency :
|
|

MTP Oct 18

Which one of the following is the

) . 72 | best example o agreement
d) Any of the above is possible between ’:Ng:pollsts: ’
MTP Mar 22 a) GATT
63 A cartel which is market sharing 2 SUPTEOC
will reach the monopoly situation: d) UNIDO
a) Always when the productis
homogenous MTP Dec 22
‘ hen th '
0) A!ways B riequct is In the kinked demand curve
differentiated 73 ddlsieheiall li
&) Sometime models, the oligopolists

d) None of these

a) Recoghize their interdependence
b) Do not collude

c) Tend to keep prices constant

d) All of the above

MTP Nov 22

MTP Mar 22
769 The price elasticity for demand for
monopolist’s product is :
a) <1
b) >1
c) =0
d) None of these
™ ™ MTP Nov 22
— ) -

o | A monopolize t*‘;‘:.‘fharket is in long
| run equilibri gwhen

a) Zero economic profit is earned by
the monopolist
b) Production takes place where price

is equal to long run MC and AC

¢) Production takes place where long
run MC is equal to MR and price is
not below the long run average
cost.

d) All of the above are correct

A point of ‘Kink’ in the kinked
demand curve indicates

74 | I. Price rigidity

Il.  Quantity rigidity
ll. Price flexibility
IV. Quantity flexibility

a) | &Il are correct
b) Il & lll are correct
c) Il & IV are correct
d) | &IV are correct

Tk
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AL
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) Monopaly
¢} Imperfact campetitiar

Marginal cost s equal 1o marginal

revenue, average cost s equal 1o
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8 k1 ooanly
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Price Total Total
_, y m (c.'g‘ ‘::::l’: - :/:a::gln Reven Marginal
“en ® (ATC) e | ol coar amie
@ per unit)
0 250 500
1 240 730
2 230 8§70
3 220 950
4 210 1010
5 200 1090
& 190 1230
7 180 1470
8 170 1850
9 160 2410
r MTP Mar 18 MTP Mar 18

what is the value of fixed cost
s incurred by CC?

84 | production increase from 3 to 4

a) Rs. 252
b) Rs. 730
¢) Rs. 500
d) cannot be determined

What is the marginal cost when

MTP Mar 18

What is the average total cost
when 5 units are produced? -

a) Rs. 218
b) Rs. 1090
¢) Rs. 730
d) Rs. 210

units?
a) 140
b) 80
c) 60
d) 240
MTP Mar 18
To maximize its profit or

85 minimize its loss, what level of
production should CC choose?

L 4
MTP Mar 18

a) 7 units
b) 6 units
c) 4 units
d) 8 units

rginal revenue (per

What is the
un, increase

83 | unit) when production
)m 7 units to 8 units?

MTP Mar 18

At the profit maximizing level,

g what price should be charged?

a) Rs. 190
b) Rs. 200
¢) Rs. 210
d) Rs. 220
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ICAI sSM

A leading indicator ¢

yariable that t
h_lWlth t_he level of €Conomic ae
4 variable that tengs to

of aggregate

ends to move dlong

tivity
move in
€Cohomic

a) Durable goods and service sectors.

b) Non-durable goods and service
sectors.
¢) Capital goods and non-durable goods
sectors.
d) Capital goods and durable goods
sectors.
ICAl SM

. | A decrease in government spending
would cause

a) the aggregate demand curve to shift
to the right.

b) the aggregate demand curve to shift
to the left. .

' ¢) a movement down and to the right

along the aggregate demand curve.

' d) a movement up and to the left along

~ the aggregate demand curve.

not allowed. It will lead

monetary penalties






)

~ have serious
) well—being of

b) Adam Smith
€) J M Keynes

d) Schumpeter

IcAl spm |
According to i
21 | trade cycles occur due 0 onset of |
innovations. .
l
a) Hawtrey

"y dlre ion of economy
1 d) JE@lusxon

es which predict

Y ]

(RA TN TR ¥ I £

»

a) Leading indicator
b) Lagging indicator
¢c) Coincident

d) All of the above

ICAI SM

a free market economy?

Business cycle generally originates
24 | in free market economies, what is

a) The economy where government is

in possession of major assets

b) The economy where private firms

control major assets
c) The economy where decisions

productions are taken by public

sector undertakings
d) The economy where price
controlled by government.

of f’

Copies, xerox, sharing or selling MVSIR’s books is not allowed. It will lead
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a) at peak

b) contracting

¢) expanding

d) at lowest point

1) Troug‘ﬁ"
?) Depression
1) Contraction
{) Expansion

o/




i Aa

rone to the
business

i
“i:ﬁig;’;
- Market
They are
ney do
homies.

e,
d)

CS—

Which of th Mrp Mgr‘fﬂ
is  false w‘:thItowihg

taterme 1
Cycles Fespect o p,, SinZ:: _;;

T ——
b Y Occur Perlodlcally, |

ey generally
€COonomiec,
nternatio

not

9inote |, fro

na! iﬂ f‘}-ia ron
affect g

’," Er

r‘gp”,ﬁfrr;

business cyep,,
on  nearly gy

Pervasive in nature
Occurs  in  restrictive market ||
economy |
Periodical regularity

It has same reasons always

PYQ Jun 22

18

Which of the following statement
is correct ?

a)
b)
c)
d)

a vperfectly

No economy follows
timed cycle

Economy follows 4 perfectly timed
i/{ocsli of the  economy follows
perfectly timed cycle
Capitalist economy
perfectly timed cycle

e

a

follow

w
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economy  the

rate remained

ears while the

2 ate duri

ame pel.rtod was just 39 §. ehe
!’:Vc::" be 1.:he Cohsequences of

, Jthe right option from the

ons given below,

savings— Lower |

o0 eg ;ﬁi;owie(r,mvestmentﬂ

i employment— oy

W . —  Overall
IC activities
expenditure—

income -
activities

in gross  domestic  Product,
production levels and living
standards.

b) Due to bursting of Information
Technology bubble stock markets
crashed and countries began feeling
of down turn in their economies.

¢) The Sub-prime crisis led to chain
effect and it had worldwide impact.

d) The cycle business has seen d
slowdown in growth over a period of

time '

MTP May 20

| If demand for goods and services is
. | more than their supply, the
| resultant inflation is:

a) Cost push inflation.
b) stagflation

¢) deflation.

d) demand pull inflation.
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- Chapter 6
NATION OF
NATIONAL INCOME

-1 ’- NATIONAL INCOME
; AccouNTl NG

o
M“"vj |7
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to a citizen of lndla wi

units solely situated in

The unit having >
economic interest in the
territory of the countr

year or more irrespective
nationality or legal status

A citizen household which hai
living in India during the accou
year and one whose econc
interests are solely in India
Households and business enterpris
composed of citizens of India aloi
living in India during the accounti
year

Read the following statements dnd

answer the following questtah.

I. Intermediate consumption

consists of the value of the
goods and services consumed
as inputs by a process of
production,
Intermediate consumption
excludes fixed assets whose
consumption is recorded as
consumption of fixed capital.

production of @geé
they are meant
and leisure time'ae
those which resulth
self consumption &
included in
calculation

Only | is true
Both l'and Il are true
Only Il Is true
Neither | nor Il is true
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: ICAl sM i ICAI SM
of ﬁw'hf:nu:ﬁrgldgu not ||| 15 | The basis of distinction between
r Into t culation of market price and factor cost is
i tional Income? arket price facto cmt :
J!lﬁ - r » a) net factor income from abroae
s) Exchange © previously  produced b) net indirect taxes (i.e., Indirect: taxes
oods - - Subsidies)
gxchange of second hand goods ) net indirect taxes (i.e, Indirect taxes
;) Exchange of stocks and bonds + Subsidies)
4) All the above d) depreciation ( consumption of fixed
= Capital) ‘
A ICAI SM —
" | which of the following enters into - ICAl SM
7 | the caleulation of national income? 11 | 'f net factor income from abroad is
a) The value of the services that positivc,m :
accompany the sale a) hational.income will be greater than
b) Additions to thventory stocks of domestic faetor incomes.
final goods and materials . b) national income will be less than
¢) Stocks and bonds sold during eth domestie factor incomes.
current year ) net exports will be negative
d) (a) and (b) above d) domestic factor incomes will be
greater than national income
ICAl SM
P Gross National Product at market weahies
prices GNP MP s 12 | The GDP per capita is
a) GDP MP + Net Factor Income from a) a measure of a country's economic
Abroad output per person
b) GDP MP - Net Factor Income from b) actual current income receipts of
Abroad persons
¢) GDP MP - Depreciation ¢) hational ihcome divided by
d) GDP MP + Net Indirect Taxes population
d) (a)and (c) above
ICAl SM
ICAl SM
9 | Choose the correct statement
Which of the following is an
: e example of transfer payment?
A GNP includes earnings of Indian y ¢
corporations = overseas and Indian
residents working overseas; but GDP
does not include these a) Old a i :
ge pensions and famil
b) NNPFC = National Income = FID pensions ¥
(f“CFO:" iIngome earned in domestic b) Scholarships given to deserving
0 territory) ~ NFIA. . diligent students.
Capital © goods and inventory c) Compensation given for loss of
INVestMeént are excluded from property due to floods
d CoOmputation of GDP _ d) All the above
) NDPMP = GDPMP + Depreciation

Anish Vora (M%lk)
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Chapter 6
DETERMINATION OF
NATIONAL INCOME

Unit 2 - THE KEYNESIAN
THEORY OF DETERMINATION
OF NATIONAL INCOME
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N
N il ICAI sm I
ian cross diagram, the ik ey

Under uatibn c= : by b=0.8,
which € aggreqq - af - 2
'i,‘o' B o theg 4: 11 | what is the value of 2 sector

e ; e line indicates cr: expenditure multiplier?

41 B : — il a) 4 ‘
1o level of full employment thcome. b) 2 tope
) tess than full employment ltevel of c) s
18 gquilibrium level of tNCOmMe  which il
Il may or may not be fy|| eEmployment
1l tevel of income
il ) autonemous level of Income which
\ may net  be  fyll employment
| level of income

| e ICAl sMm |
[ & closed economy, aggregate
110 | demand is the sum of

i @) consumer expenditure. demand for
1l a

e

Il exports and government spending.

; , ) consumer ex.;\emtétur.e, planned

¢ mvestment spending and ||
| government spending. !
Q) consumer expenditure actuatk '
i mvestment sPending, government i
| spending and net exports.
1A consumer expenditure planned||

nvestment spending,

&

governmant

| spending, and net exports

sﬁ € 9 * () |10 ‘l (b) l 11. @ |
S | | |
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ICAI SM
4 | Choose the correct statement
. ICAISM ||| @) Fiscal policy involves the use of
ST = changes in taxation and government
Redistribution policies gre likely to spending; while monetary policy
1 | have efficiency costs because involves the use of price and profit
- . controls.
a) ggizm\ﬁgn;duce Fne efficiencyfof b) Fiscal policy involves ‘the use of
G - rice and rofit _controls; while
b) Thoe‘}; ay:;ysaszeate disincentives to fnonetary poﬁcy ihvolves the use of
0 governments have to forego taxes taxation and gqverr(}menisgezil:gbf
d) They are likely to make the poor ¢) Fiscal policy e, A2 e
le dependent on the rich chang‘es tn taxation and governm 2
peop spending; while monetary policy
. involves the use of changes in the
ICAI SM supply of money and interest rates.
| S d) Fiscal policy. involves the use of
. s ok changes in the supply of money and
y Macroe_zconomtc stabilization may interest rates; while monetary
be achieved through policy involves the use of changes in
taxation and government spending.
a) Free market economy ICAI SM
b) Fiscal policy ——=— >
¢) Monetary policy 5 The Justl_ﬁca.tlon for government
d) (b) and (c) above tntervention is best described by
a) The need to prevent recession and
inflation in the economy
b) The need to modify the outcomes of
ICAI SM private market actions
c) The need to bring in justice in
distribution of income and wealth
Which of the following policies of D Al the above
3 | the government fulfils the Read the followin .
o, e y g statements:
redistribution function 1 0 The market-generated
allocation of resources s
I usually imperfect and leads to
inefficient allocation of
resources in the economy
6 | 2. Market failures can at all times
a) Parking the army on the horthern be corrected through
borders of the country government intervention
b) Supply of food grains at subsidized 3. Public goods will not pe
Prices to the poor people produced in sufficient
c) Controlling the supply of money quantities in a market economy
through monetary policy Of the three statements above:
Y All of the above a) 1,2 and 3 are correct
b) 1 and 3 are correct
¢) 2 and 3 are Correct
. - d) 3 alone is correct 4
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ICAl SM

When a government
unemployment benefits and also

offérs

7 | resorts to progressive  taxation |
which function does it seem to
fulfill? |

a) It is trying to establish stability in

b)
c)

d)

an economy
It is trying to redistribute
and wealth
It is trying to allocate resources to

their most efficient use

It is creating a source of market

failure

income

a) to the industries whieg
losses due to the introg
b) to compensate for the (g
GST on essential items
c) to the states to com
loss of revenue
introduction of GST .«
d) to compensate for thel
tax credit in manufact

ICAl SM

Government of Emeline Land
decides to provide most modern

it i

Which of the following
respect of the role
Commisswns in India?
The distribution betw
and: the states of the
of taxes ‘

‘i'Allocatlon between

/ Recommende
integrated GsT on
movement of goods a. d

To | recommend
decentralization amoi
states

& road infrastructure throughout
the nation. This can be classified as
a) Distribution function
b) Allocation function
¢) Stabilization function
d) None of the above
ICAI SMZ
Which function does the'-"
9 government perform when lt
provides transfer payments to offer
support to the underprwuleged
a) Allocation
b) Efficiency

d)

Distribution
None of the above

a) | and Il are correct

b) ll and lll' are correct
¢) 1,1l and lll are correct
d) All the dbove are correct i

]
i

i
Y 4‘,1
e

ICAI SM

Which of the. followmg is true in

10 | respect of  centre and ‘ 1state
government finances? i
a) The centre ican tax agrlcultural
income and mineral rights
b) Finance commission

c)

d)

recommends

distribution of taxes between the

centre and states

GST subsumes majority of direct
taxes and a few indirect taxes
IGST is collected by the

state
governments |

Making pdfs, photocopies, X€rox, sharing or

I a federal set
/13 | stabilization function
| effectively performed by

a) Respective state governme
b) Ministry of taxes

¢) The government at the Ce
d) None of the above :
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ICAl SM

ICAl SM

2 of the following is concerned
" division of  economic
onsibilities  between the

and state Government of

Which of the following is not a
criterion for

18 riter determining
distribution of central taxes
among states for 2021-26 period

a) Demographic performance

ICAI SM

Federalism

refers to

154 i

a) organizing and
development plans

p) Sharing of political power between
centers and states

») The management of fiscal policy by
a hation

1) Division of economic functions and
resources among different layers of
the government

implementing

ICAl SM

b) Forest and ecology
¢) Infrastructure performance
d) Tax and fiscal efforts
ICAl SM
19 | As per the supreme court verdict in
May 2022
a) The union has greater powers than

b)

c)

the states for enacting GST laws

The union and state legislatures
have  “equal, simultaneous powers
“to . make laws on Goods and
Services Tax

The union legislature’s enactments
will' prevail in case of a conflict
between those of union and states

I Corporation tax

I Wealth tax
lncome tax
None of the above

ICAl SM

1e percentage of share of states in
central taxes for the period 2021-

26 recommended by the Fifteenth
_| Finance commission is

38 percent
41 percent
2 percent

The €OMmmission has not submitted
(ts report.
S

d) The state legislatures can make
rules only with the permission of
central government

ICAl SM

20 Providing social sector services

such as health and education is

a) the responsibility of the central
government

b) the responsibility of the respective
state governments

c) the responsibility of local
administrative bodies

d) none of the above

ol e G T R | i+

ing : : ; : g
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R ———— w0
i cAl SM

which of the followin
$ argument for provi i
: good by government?

1)

[0

d)

3.

‘Market failure’ is a situation
which occurs when

private goods are Nnot sufficiently
provided by the market o
bublic goods are hot sufficiently
provided by public sector

The m\:rkctp fail to form oOr they
allocate resources efficiently

(1) and (¢) above '

Governments have huge )

their disposal =
public goods will nevepse
type of externality 1
Markets are ‘unlikely ¥g
sufficient quantity of py

provision of public goods
profitable for any gover

ICAl SM

Which of the following is an

example of market failure?

Adequate amount of ' SUre ¢
& | good will not be provide
private market because

Prices of goods tend to rise because

of shortages

the possibility of free riding
the existence of very lowh
. low profits

b) Merit goods are hot sufficiently o) \governments would
produced and supplied ‘ Se'broduce them, so theke
¢) Prices fall leading to fall in profits [} overproduction -

s u.lnd clg%ure of firms ") there are restrictions as '(dFr
| d) None of the above taxes on Pf'OdUCtiOh of public '
ICAl SM |

& Wi -
w . ‘1 . 1] ‘]E X - —
3 oul;;comeo;‘f the followm?g_{;wlsﬁ an ' The free rider problen
market power? = = 7 Bécause of
a) makes price equal to marginal cost ‘ e .
and produce a positive ‘external 2 al;;l;cy ff Pa?’b!c‘l{i‘ant[s
benefit on others ~ b) g ;aulzero frardii sy
b) can cause markets,to be efficient mcllrgma beneﬁi
due to reduction in.costs . , calculated due  to
¢) makes the firms price makers and BlEgeent L )
restrict output 'se' as to make €) the good or ehbagle
allocation ineffiecient d) general poverty and unem
\D kb\ JHCKC) above Of people

4 Markets do not exist

ICAl SM

b)
c)

d)

goods which have | positive
externalities

for pure public goods

for goods which have

T hegative
externalities ' €9 I

| A chemical factory
g | information regarding the
a product, but continuese
This is possible because ¢

!

none of the above |

Making pdfs. photocopies, xerox
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b)
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asymmetric information
moral hazard
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ICAI SM

¢ an individual tends to drive his

'car in a dangerously high speed
pecause he has a comprehensive
insurance cover, it is a case of

e riding
freoral hazard
or upbringing

1)
7) mo
5 P efficiency

13 | you suggest for reducing
externality? N

a) Production subsidies
b) Excise duty

¢) Pigouvian taxes

d) All of the above

5 smoking in public is a case of
L

) Negative consumption externality
| Negative production externality

) mtemalising externality

) None of the above

14 | A Pigouvian subsidy

) i
T ICAI SM

P

Read the following statements

I. The market-based approaches
to control externalities operate
through price mechanism

Il. When externalities are present,
the welfare loss would be
eliminated

Ill. The key is to internalizing an
externality is to ensure that
those who create the
externalities include them
while making decisions

11

a) cannot be present
externalities are present ;
b) is a good solution for hegative
externality as prices will increase
¢) is not measurable in terms of m
and therefore not practical
d) may help production to be sociall
optimal when positive externalitié
are present ’

If governments make it com
15 | to avail insurance protecti
because

) Il and lll are correct
) lonly is correct
) llonly is correct
) Land lll are correct

2 | Which of the following statements
~ | is false? ‘

a) Insurance companies need to.
runhing profitably b
b) Insurance will generate me
hazard and adverse selection =
c) lnsurance is a merit good @
government  wants  people -
cohnsume it :
d) None of the above

) Tradable permits provide incentive
to inhovate and reduce negative
€xternalities

) A subsidy on a good which has
substantial  positive externalities
would " reduce its cost and
Consequently its price would be
lower

)Substantial hegative externalities

are involved in the consumption of

Merit goods.

Merit goods are likely to be under-

Produced and under consumed

w market mechanism

The Competition Act, 2002 a

16

il
PRl

a) protect monopoly positions of fil
that  have  developed  unie
innovations E

b) to promote and sustain competit
in markets 5

c) to determine pricing under natdl
monopoly. i

d) None of the above

SKing pifs, photocopies, xerox, sharing or selling MVSIR's books is not allowed. It will lead
i to strict legal action with monetary penalties




ma)‘ket based poli.
' .‘v‘ ves the government , 4§

‘the €ost to the firme f“ \‘
Ote the PYOduCt[o n
‘-,mg pOSIt(ve externa([tle

to externalities .
b) Is a method of solving
of public good =
¢) May help solve mark:
information failure
d) Reduce the problem of r
the product market

=

i)
Q
0
=S5
©
=
o
S
B
~
o
s
Q0
®
Q

18

a) A minimun’i

b 'more than o
agricultural

Ptimg

; be (ess than optimgl

farmers.
b) An externaltty is mjc
Ohes that generat e
mcorporate them :

subjected tgf
er ttOh by government
Jand c) above

c) The production a

than optimal undp"'
d) Compared to polluti
and trade i
administratively
to 1mp(ement
po(lutton (s min

for

19

a) Is a case o
b) Is a case of

c)
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owing statements 24 **«-MM_.'CA.,' Mi

Il costs are the total costs qoverﬂ'ﬂe"t failure vecyrs when

d by the society when ¢ a) Govemmmrf‘a_ﬁf to W acnsas

‘is consumed or produced. election prr)mi'_;\e'*.’ (,});:f/p/-',j/f?”'q"it e
xternal costs are not b) A government i ',N,(;'!L",

R s At > Undble to  geg

tements or consumers’ c) Government interyention I

j ineffective and producz;',“’—,r;g;/, ar:;

__ cost which s more serious problems i

dered for determining d) None of the aboye

ut‘ would be only private s
- or direct cost of
uction which does not

isions are efficient only
en private costs are
sidered

| of the above

’a)-iStatements | and Ill are correct
h) Statements L1l and lll are correct
¢) Statement | only is correct

d) All the above are correct

Answer Key —Chapter 7 (Unit - 2)

G b (Bl | 4| & | s | ©

8. (a) 9. | (b) ‘1o. (a) 11. l (d)

14, (d) 15. (c) 16. (b) 17. i‘ (c)
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deficit of a dovernment and its
debt service payments s

‘ccal deﬁci’g
7 Budget defiit
b) primary deficit

/) None of the above

c)
d)

ICAl SM
5 In NITI Aayog, NITI stands for
ICAI SM a) National Initiative for Transforming
India
The difference between the budget b) National Institution for

Transforming India

National Institute for Technology
and Innovation

None of the above

ICAI SM

Lo,

L ; _ 6 | The Appropriation Bill is intended
The following hypothetical figures relate to
A :
to country Rs. Crores ||| @) reduce unnecessary expenditure on
the part of the government
meceipts 20,000 b) give authority to government to
Re theur expenditure from and out of
Recovery of loans 1,500 the Consolidated Fund of India
sorrowing 15,000 ||| c)-give authority to government to
Receipts 5000 (ncur expenditure from the revenue
Yol : y receipts only
Expenditure on revenue 241200001 Sdbe passed before the budget is taken
account for discussion
Expenditure on capital 26,000
account ICAI SM
Interest payments 2,000 7 | Public debt management aims at
ICAI SM a) An efficient budgetary policy to
‘ AL : avail of domestic debt facilities
2 | The revenue deficit for country A is b) Raising loans - from internationtl
a) 5,000 agencies at lower rates of interest
b) 24,000 ¢) Raising the required amount of
) 4,500 funding at the desired risk and cost
|| 9) None of the above levels . :
Ea— d) Management of public expenditure
; ICAI SM to reduce public debt
3 l Fiscal deficit of country A is ICAl SM
a) 14, ! :
b) 24 888 & | The railway budget is
©) 23,000 ] i it ,
4 Nonhe of + a) Part of the general budget, but is
——_ W' above presented by the railway minister
ICAl SM b) Part of the general budget from the
; — budget for financial year 2017 -18.
Primary deficit of Country A is c) Part of the general budget from the
%) 26,000 budget for financial year 2021 -22.
b) 25'500 d) Part of the general budget but
c) 221000 presented on the next day of the .

general budget

akj : . : T 2 P T
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IcAl SM ||| The following tabl
; ~and expenditure fi
9 Outcome budgeting [ economy
a) shares information about the money - l
allocated for various purposes ih a :
budget (a) | Recovery of lo
b) establishes a direct link between |[|(b) | Salaries of govt:
budgetary allocations and : .
C E CUrE
performance targets measured (G| CapitaliExb higumy
through  output and outcome |f|(d) | Interest paymen
indicators : , (e) | Payments tow
c) establishes a direct link between
budgetary performance targets and ||| (f) | Other receipts
public account disbursals disinvestment) |
d) shares information about public @ | Tax revenue (ne
policies and programmes under the share). ©
DUdget = —
(h) Non-tax revenue
ICAL SM I (i) | Borrewings and ot
10 | Corporate tax  Ngghlities -
a) is collected by the union (i) [iStates’ share in ta
government and can be a capital 7 ‘ i
receipt or revenue receipt %va sl S
b) may be collected by the respective ‘g;kﬂz‘ The capital receipts a
states and fall under revenue"|lFE——= e
receipts a) 23.5
c) may be collected either by (the b) 19.7
centre or states and fal( uhde)’ )13
revenue receipts : d) None of the above
d) is collected by the W u,mon
government ahnd is a revenue receipt Hy §
—(| 18 | Revenue deficit iSj
¥l o IGALSM :
. a) 23.6
D, e ! ‘ b) 13.0
Government borrowings  from c) 7.0
11 | foreign govern\_ments. and d) 2.6
institutions S ;
.
a) Capital receipt 14 I:les c’:ﬂ;’;‘::';: caty
b) Revenue recelpt )
c) Accounts for fiscal deficit a) 45.1
d) Any of the above depending on the b) 16.7
purpose of borrowing c) 15.8
d) None of the above

Making pdfs, photocopies, xerox, sharing or selling MVSIR's books is not allowe
to strict legal action with monetary penalties
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ICAI SM ICAI SM
'p'ada"t is said to be unbalanced 19 Govern'ment borrowing is treated
as capital receipt because
: governmeht’s revenue exceeds a) It is mainly used for creating assets
whet ment’s expenditure by government
govern government’s  expenditure b) It creates g liability for the
) Whezds government’s revenue ~ government
gxcheer pudget surplus of budget ¢) Both a) and b) above are correct
Zletﬂcit ocecurs d) None of the above is correct
1 All the above
V ICAl SM
/
ICALSM 20 | ‘Retail Direct ‘scheme is
16 riscal deficit refers to a) Initiated by the Reserve Bank of
the excess of government’s revenue India ' |
expenditure over revenue receipts b) faahtgpe thvestment in government
the excess of total expenditure over securities by individual (nvestors.
total receipts excluding borrowings ¢) Direct sale of goods and services by
o) Primary deficit - interest payments goverhment departments
/) None of these d). Both (a) and (b) are correct
| A i
T ICAI SM ICAI SM
e Budget of  the government 21 | Non-debt capital receipts
giieially impaces a) do not add to the assets of the
g) the resource allocation in the government and therefore not
economy treated as capital receipts
b) redistribution of income  and b) are those that do not create any
enhance equity future repayment burden for the
¢) stability in the economy by government
measures to control price c) are those that create future
fluctuations liabilities for the government
d) all the above d) facilitate capital investments at low
cost
ICAl SM
ICAl SM
| Which of the following is a
18 | Statement submitted along with 25 Which of the following is a capital
the budget as a requirement of receipt?
FRBM Act
W .
9 Anhual Rl taceinent a) Licence fee received o
) Macro O o or P ATl b) Sale proceeds from disinvestment
\ Statement c) Assistance from Japan for covid
¢) Med; A e vaccine
Figg;ti‘ygc;l-irsrrgt age yrolicy tcum d) Dividend from a public sector
d) (b) y Strategy Statemen enterprise
and (c) above

. Photocopies, xerox, sharing or selling MVSIR's books is not allowed. It will lead
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of essential goods
c) use of governm
taxation and borrow
the fiscal deficits
d) and (b) above '
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a) Increase  taxes
government spendmg
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government spend ng
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a
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a) Rising unemp
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¢) Rising inflatie
d) Deﬂatlon

se in aggregdte

in all types
and/ or ar

) BYE and F.
in govern,rr-i*i
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b) government activities rela
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of essential goods .

c) use of government
taxation and borrowing for.,

~ the fiscal deficits, g
d) and (b) above

increasing government expe
nd increasing taxes

“to Keynesian eco
‘have inflation an eff

' ﬂg,ase corporate taxes.
redse aggregate demand.
ase government purchases)
e of the above is correct

If real GDP
declining ¢
2 | unemployment
increasing, th
should be to

a) Incredas taxes
govemm ent spending
b) Decrease both taxes an4
spending
¢) Decrease taxes ' | anf
government spendmg
d) Either (a) or (c)

1
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b) Falling unemploy.
¢) Rising inflation rate —- ol
' d) Deflatio v g - @fithe following may " °
¢) Follingimer, stagk wage  for || 84 decrease in aggregatc T
worker# 1 1 during l
f) Increosing d
g) Falling €
h) A, B and
i) B, CandF are . ment
i) D, E and F are most likel .- B asc 0 governT ]
W) A E and G are | N, ‘ / : decrease in tar=" .
P 1l ¢ - in go\/erﬂfr‘c-‘

I

fdecrease in taxs

__—4



sl
ining prices and rising
ectl
e o
emlining unemployment and rising
¢
)0
r(ceS' . 500
P eclining real (hcome and rising
¢ nemployment. o .
;'sing real income and rising prices
4 ©
I ICAI SM

which one of the following is an
9 | example of fiscal policy?

A tax cut aimed at increa;ing the
disposable income and spending
) A reduction th ~ government
b expenditure to contain inflation !
¢) An increase n taxes. and decrease in
government expenditure to control
inflation
4) All the above

e

ICA| SM
Which statemens 7o

(s) is (are
correct abouyt crowdi e

hg out?
I. A decline in private spending
may be partially

or completely
offset by the expansion of
demand resulting from an

increase in government
expenditure.

Crowding out effect
hegative effect fiscal policy
may generate when money
12 from the private sector s
‘crowded out’ to the public
sector.
When spending by government
in an economy  incredses
government spending
would be crowded out.
IV. Private investments, especially
the ones which are interest -
sensitive, will be reduced if
interest rates rise due to

. is the

b) The time required to identify to pass
a legislation

¢) The time required to identify the
heed for a policy change

d) The time required. to ‘establish the

| Outcomes of fiscal policy

increased spending by
[ 3 ICAI SM government
Which of the following would ||| ) | and (1 only
01 illustrate a recognition lag? b) 1, 1l, and I
c) I, 1, and IV
a) The time required to identify the d) 11l only
appropriate policy

ICAI SM |

[ ——

izt Sl ' ICAl SM

__Anf- equnéfbhary fiscal policy,

| taking everything else constant,
| would in the short-run have the
_| effectof - ,

11

Which of the following policies is
likely to shift an economy’s
12 aggregate demand curve 3
to the right?

) a relative arge increase in GDP and
o) *Mallerincrease in price .
4 '%ﬁl‘dtwe large increase in price, a
0 L‘;gﬁwety smaller increase in GDP
L sDP and price will be increasing
oF . ame proportion

: DP and price will be increasing
N adsmaller proportion

a) Increase in government spending

b) Decrease in taxes -

c) A tax cut along with increase (#
public expenditure

d) All the above

akj
"9 pdfs, Photocopies,

not allowed. It will lec
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ICAl SM

14 | Identify the incorrect statement

)

a) A progressive direct tax system
ensures economic growth with
stability because | it distributes the
burden of taxes unequally _

b) A carefully planned policy of public
expenditure helps in redistributing
income from the rich to the poorer
sections of the society.

c) There are possible conflicts between
different objectives of fiscal policy
such that a policy designed to
achieve one goal may adversely
affect another

d) An'l /i Incredselitiiny . Ehelii’size . iiof
government spending during
recessions may possibly ‘crowd-out’
private spending ih an economy.

Whilei resorting

16 fiscal policy

budget surplus L
expenditure will bring more
and more tax revenue
b) the government may
budget ' deficits because
reduce government incoriousms
government expenditures ol
revenues in a given year
c) it is important to have qiES
budget to avoid inflation giHm.
in stability k
d) Nonhe of the above will happef

17 | Contractionary fiscal policy

[

ICAI SM /

Read the following statements T

I. Fiscal policy is said taf«ffrbe
contractionary when revenue
is higher than spendmg(, l‘e.,
the government badget'r’ fis m
surplus;: i ases: . ;m o

Il. Other thmgs constanﬁ, a flsca(
expansion will raise interest
rates and "'cqud out” some
private mvestinent' e

Il. During mﬂation hew t;axes can
be levied "andf,», the rates of
existing taxes are rcused to
reduce disposable i incomes,

IV. Classical economists advocat’ed

15

solve the problem of mﬂatton
Of the above statements ;

a) 'ts, resorted to when ¢
expenditure is greater
revenues of any particu

W b) increase the aggregate

# ' sustain the economy

¢) to increase the disposabl
people through tax
enable greater demand

d) is desighed to restrain t
economic activity of tl
during an inflationary 1

|

18 | deliberately reduced tc

When government .spending

stability

contractionary fiscal policy to"’.;

a) | and Il are correct

b) I, Il and lll are correct
c) Only lll is correct

d) All are correct

’b) the

a) the government is
Contractionary fiscal ¢
government (s
expansionary fiscal polic
c) trying to limit aggregc
. Sustainable levels
d) (a) and c) above




ICAI sSm ICAl sm
" increase in personal income | Which of the following fiseq(
g ' 21 remedy would You advice whep an
19 | taxes ' T economy is facing recession ;
uces disposable incomes leading ———
a) "ed?a“ ih consumption spending and a)
to regate dema‘hd ; '

.ag%esimble during inflation or whep
is

the government

may cut (hterest
rates to €ncourag

€ consumption and

(hvestment
is excessive levels of aggregate b) the government may cut taxes tg
thﬁmn (ncrease aggregate demand
.deY:: compehsate the denﬁciency lh C) the govel"l’lmel’lt h’lay fO
¢) is

Howapolicy
effective  demand by boosting

of balanced the budget.

aggregate spending d) None of the aboye will work
4) both a) and b) are correct
| &/

T

ICAl sm
LealisM While if governments Compete witH%f
While the government resorts to 22 | the P"tvate_sector torzso‘:::‘\;\; ?o?zﬁ_l
deliberate fiscal policy it may not for S?C“fmg_ ! i
w attempt to manipulate €xpansionary fiscal policy
i i a) it is likely that interest rates will go |
) qovi;nment o i up and firms may not be willing to
wor .
i taxes Invest ' ,
%) ng ggf;émoieptzr;g;al AR b) it is likely thgt i_nFerest rates will go (|
c) government expenditures on goods uUp and the thdividuals too may be
ervices purchased by reluctant to borrow and spend . :
SQ\C/‘ernr;eht c) itis likely that interest rates will go |
i ilinag i Up and the desired ihcrease th |
d) The rate of (nterest prevailing in the AR Lo may oo
=kl realized
d) All the above are possible.
T B T |
L (@ 20 (© 3 (b)) GEEiE (v GRsE ., [ ()
\ \;\_‘_k "~
2 (a) 8. ) |i 9. (d) 10. (c) 11, (a) 12. (c)J‘
B :
(@) | (@) W= () @Eicil (o, @ d) | 1s. @
\\ : - p
. @ e [ (b) B2 () |
] i
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ICAI SM

The quanti

ty theory of m e
thik Y oney holds

e the incorrect statement

hing that wou}d act as g
Anyt m of exchange is money
mediu has generalized purchasing
Monéy and is generally acceptable in
p Wﬁ;ment of all transactions
sete is a totally liquid asset and
Monie;’es us with means to access
:9%\;5 and services

rency which represents money
j;‘;s not necessarily have intrinsic

a)

b)

changes in the general
Commodity prices

changes in the quan
there s strong relat
money and price (eye| and the
quantity of money is the main
determinant of the price
changes in the valye
purchasing power of money are
determined first and foremost by

changes in the quantity of money in
circulation

level of
are caused by
tity of money

onship between

of money or

medium of exchange, price control,
store of value

b)
c)

d) All the above
value.
ICAlI SM
pm—— ICAI SM
: ¢ | The Cambridge approach to
Money performs a;( bor the th"Te quantity theory is also known as
2 ions mentioned below, namely
function a) Cash balance approach

Fisher’s theory of money
Classical approach

b) unit Of account, store of value , ||| 4) Keynesian Approach
provide yields _
¢) medium of exchange, unit of ICAl SM
account, store of value ' -
d) medium of exchange, unit of F(sher§ approach and the
account, income distribution 7 | Cambridge approach to demand for
money consider
ICAL SM a) money’s role in acting as a store of
3 | Demand for money is value and therefore, demand for
money  is  for storing value
a) Derived demand temporarily.
b) Direct demand b) money as a means of exchange and
¢) Real income demand therefore demand for money s
d) Inverse demand termed as for liquidity preference
| ' ¢) money das a means of transactions
‘ ICAI SM and therefore, demand for money is
tion demand for money.
Higher the , higher would d4) Eglge z:ca:;:ilboved gha i Y
| # | be of holding cash
‘ and lower will be the ICAlI SM
|
R demand for money, opportunity g8 | Real money is
| COSt, interest rate
| Price [evel ;  Opportunity cost, a) nominal money adjusted to the price
tnterest rate level
©) real income | opportunity cost, b) real national income
fieh'mhd for money c) money demanded at given rate of
4 interest rate, opportunity cost, interest
woney d) nominal GNP divided by price level

sharing or selling MVSIR's books is not allowed. It will lead
fo strict legal action with monetary penalties




lhg to Baumol

a
roach to demang f:d
]optimal average

The precautionary money
people want to hold o

c

a) as income elastic and not very {|

b) as income inelastic and

d) are determined ‘primarily. by

sensitive to rate of interest

1) a positive function of inc

the price level P

3 posrttve function of trans

costs ¢,

“(a negative function of the

. interest rate i
J Al( the above

Ome

sensitive to rate of interest, ‘

) are determined primarily by the level
of transactions they ex.pect to mak i
in the future. i

actf

Nomj

current level of transactions

10 | Speculative demand

considered demang
S as an applicatio

b)

c)

a) is not determined by interest rates eneral theory of demzngf
b) is positively related to interest rates as;ets
c) is negatively related to mterest“- :
rates

d) is determined by general priée leve
11 | According to Key

interest rate is h
a) people will demand

because the capital gaix
would be less than rewﬁ _
people will expect the intere - le. bonds and stock

to rise and bond prlce to ff}f e 1 e fNs, rB and rE , respectively:
future. : | 'l-lfn"e'and vice versa

'pportumty costs of money

to fall and bond pnce gs - (.e. bonds and stock
future. Urns, rB and rE , respectively-

Either a) or b) will happ | et ‘and vice versa
vt | fopportunity costs of mond

fhge — (.e. bonds and stock
respectively

The inventory- ~ approacn ||
to the transactions demanc - 'hs, rB and rE
: 1in constant

thd q:) above

b)

c)

d)

between money
interest rate.
explains the po
between money d
price level
Z);plamg/.,
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ICAl SM

M1 (s the sum of

a) currency

b)

c)

d)

and coins with the people +
demand deposits of banks (Current
and Saving accounts) . + other
deposits of the RBI,

currency and cotns with the people +
demand and time deposits of banks
(Current  and, Saving accounts) +
Other deposits of the RBI,

currency inceireulation + Bankers’
deposits with the RBI 4+ Other
deposits with the RBI

none of the above

ICAI SM

Under the’ minimum reserve
system’ the central bank is

Making pdfs, pho

. ICAl SM
rve money is also known qg
central bank money
pase money

¢) high powered money

4) all the above

/_"'7 — e —— e c—

T ICAl SM

| choose the correct statement from

2 | the following

|| a) Money is deemed as somet hiha held
by the public and therefore only
currency  held by the public (e
included in money supply,

b) Money is deemed as somet hing held
by the public and therefore inter-
bank deposits are included in money
supply.

¢) Since inter-bank deposits are not
held by the public, therefore inters
bank deposits are excluded from the
measure of money supply.

d) Both (a) and (¢) above.

ICAlI SM

3 | Reserve Money is compased of

a) currency in circulation + demand
deposits of ~banks (Current and
Saving accounts) + Other deposits
with the RBI.

b) currency in circulation + Bankers’
deposits with the RBI + Other
deposits with the RBI,

¢) currency in circulation + demand
deposits of banks + Other deposits
with the RBI.

d) currency in circulation + demand
and time deposits of banks + Other
deposits with the RBI.

¢)

d)

empowered to issue currency to any
extent by keeping an equivalent
reserve of gold and foreign
securities,

empowered to issue currency to any
extent by keeping only a certain
minimum reserve of gold and
foreign securities.

empowered to issue currency in
proportion to the reserve money by
keeping only a minimum reserve of
gold and foreign securities.
empowered to issue currency to any
extent by keeping a reserve of gold
and foreign securities to the extent
of * 350 crores

The primary source of money
supply in all countries is (i

a)
b)
c)
d)

the Reserve Bank of India
the Central bank of the country
the Bank of England

the Federal Reserve

)

- “A Mohnish Vora (MVSIR)

tocopies, xerox, sharing or selling MVSIR's books is not allowed
to strict legal action with monet Iy

penalties
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o | UHM the fractlonal reser,,

| a) the momy dupply s &%
ban‘h"w" functlon of reserve v, .,
11 powered money) ap

7

dmnds an

a) the decision of the centm!
based on the authority conferred on

]
r I{(

it | multiplier,
b) the decision of the central bank and || b) :Dﬁc;?;)r:woyf s,,l:l:,pf,{,': £ deg
the supply responses of the ||| e Oney (

commercial banking system. powered  money) ar

| iplier.
¢) the decision of the central bank in, . multip ’
respect of high powered money. ¢) the money wsupply i< .
d) both a) and ¢) above. ‘ i function of reserve v,

powered money) and

function efmonecy mulvi,
d) none® ofy the aboye
determinants of wmore, Supply
ne differen

6 R S i

= ; S
+E ’ b ¢ K
LA @ r'm |

Banks in the counw ammm '
§ | to maintain dtpusm Wlth
centralbank 1

a) to provide the necessary reserves for
the functioning of the central bank,
b) to meet the demand for money by
the banking system S0

¢) to meet the central bank prescribed | W)iPpositively related to the

r

as

¢ | The imoney multiplier oy
' money supply are

reserve requirements and to meet ||| reserves ratio e,
settlement obligations. ' ) Pb) negatively related to the
d) to meet the money needs for the reserves ratio e.
day to day working of sthe ¢) not related to the excesc resery
commercial banks S " ratio e,

d) proportional to the excess resery

: 'WSM _ ratio e,
If the behaviour of th@ublic and ||| 10 | ICAI Sk

2 the commercial bank: % cohstant, | | 1 The currency ratio represents

1:%;‘ A ‘mm I : L » “"V
e ﬂ i d) the behaviour of central bank in the

issue of currency.

a) the total supply Qf hommq( money b) the behaviour of central bank if
in the economy. will vary directly respect cash reserve ratio.

with the .supp(;}’ of the nominal c) the behaviour of the public.

high- powere#'*mcney issued by the d) the behaviour of commercial bank

central bank in the country. A
b) the to‘ supply of nominal money — T
in the economy will vary directly ICAI Sk
with, the rate of interest e T
inv?se Y with reserve money i 13 | The size of the money multiplier!
© the tofal supply of nominal money [} determined by —

in the economy will vary inversely (|| a) the currency ratio (c) of the public
with the SUPP[Y of high powered b) the required reserve ratio (v) 4 at
central bank, and

the excess reserve ratio
commercial banks.

all the above

Xerox, sharing or se Hmr) MVSIR's books is net allowed: "

money

d) all the above are POS'Slble ‘ . c) (e) §

Making pdfs, photocopies,

Cl legal action with mor netary penalties
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5 tells us how muych
Tew money will be created by the
panking system for q given
| increase in  the high-powered
| money-

The currency ratio
a) The excess reserve ratio (e)
b) he credit multiplier

;% .;r—he currency ratio (c)

e ICAl SM

15 | The money multiplier will be large

4 for higher currency ratio (c), lower
required reserve ratio (r) and lower
excess reserve ratio (e)

p) for constant currency r_atio (c),
higher required reserve ratio (r) and
lower excess reserve ratio (e)

¢) for lower currency ratio (c), lower
required reserve ratio (r) and lower
excess reserve ratio (e)

d) None of the above

| e

—

ICAlI SM

The ratio that relates the change in
the money supply to a given
change in the monetary base is
called the

16

a) required reserve ratio.
b) money multiplier.

¢) deposit ratio.

d) discount rate.

Astra -

ok il
,

r",'.

ol

For a given level of the mons
17 | base, an increase in # ‘
reserve ratio will dcn_,gfc

a) adecrease in the money supply.
b) an increase in the money. supply,
¢) an increase in demand deposits,
d) Nothing precise can be said

&

-
————

1y
2o

a) decrease; increase
b) increase; decrease
¢) decrease; decrease
d). increase; increase

For a given level of the me
base, an inecrease in the ¢
18 | ratio causes the money m
to _ and the money su

P

o

If commercial banks r
19 2 s
holdings of excess reserve

PG PNOTOCOPIE €ro

T (d) 25 (c) |3, (b) |4. (@ |s. i )
\8 (e |9 (a) J;ofl (a) e
14. (c) 15. (c) ;

i

a) the monetary base increases,
b) the monetary base falls.

¢) the money supply increases,
d) the money supply falls,

K|
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which of the following
function of monetary policy?

is the

2 it stable

regulate the movement of cregit o
2 the corporate sector ,
regulate the level of production B s
rices L,
regulate the availability, cost AL

@ use of money and credit

\-
regulate the exchange rate gng keep

a) increases the cost of capital and the
real cost of borrowing for firms

b) mcn(feases the cost of capital and the
real cost of borrowing for firms an
households i

¢) decreases the cost of capital and the
real cost of borrowing for firms

d) has no interest rate effect on firms
and households

ICAI SM

finot’
T ICAI SM

5 During deflation

The main objective of Mmonetary
2 | policy in India is : ,

T)_r—educe food shortages to achieve
stability

b) economic growth with price
stability

¢) overall monetary stability in the
bankihg system

d) reduction of poverty and
unemployment

ICAI SM

The monetary transmission

mechanism refers to

a) the RBI reduces the CRR in order to
enable the banks to expand credit
and  increase the supply of money
available in the economy

b) the RBI increases the CRR in order to
enable the banks to expand credit
and increase the supply of money
available in the economy

¢) the RBI reduces the CRR in order to
enable the banks to contract credit
and increase the supply of money
available in the economy

d) the RBI reduces the CRR but increase
SLR ih order to enable the banks to
contract credit and increase the

supply of money available in the
economy

@ how money gets circulated in
different sectors of the economy
POst monetary policy

b) the ratio of nominal interest and
real interest rates consequent on a
Monhetary policy

€) the' process or channels through

which ‘the evolution of monetary

aggregates affects the level of

Product and prices

d) Nohe of the above

\

ICAI SM

Which of the following statements
is correct?

a) The governor of the RBl in
consultation with the Ministry of
Finance decides the policy rate and
implements the same

b) While CRR has to be maintained by
banks as cash with the RBI, the SLR
requires holding of approved assets
by the bank itself

c) When repo rates increase, it means
that banks can now borrow money
through  open market operations
(oMO) !

d) None of the above

Mgking Pdfs, photocopies, xerox, sharing or selling MVSIR's book :
to strict legal action with monetary penalfies
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. Reverse repo operation tths
wheni

10

A

I — e
RBI provides financial
accommodation to the commercial

7 | banks through repos/reverse repos
under ¢ N
a) Market Stabilisation Scheme (MSS)
b) The Marginal Standing Facility (MSF) |
c) Liquidity Adjustment Facility (LAF).
d) Statutory Liquidity Ratio (SLR)
cal M
is a money marléét
instrument, which | gnables
g collateralised short term.

borrowing and lending through
sale/purchase operatlons m debt
instruments,

{

a) RBl borrows money from
giving them securities

banks borrow money frop,
giving them securities

banke

b) RB|

¢) banks borrow = money
overnight segment of t}
market
d) RBl bornows:money from the
government
'h J'; . :-‘:‘ 7:1
1'1 The Monetary Policy Frame .
e Agreement is on

OMO
CRR
SLR
Repo

a)
b)
c)
d)

ical sm| |

In India, the term

refers to

q) the maximum repo rate that Rri

a) théimaximum repo rate thqt RB
chc'n'ge from government

b).. the maximum tolerable
“Yate that RBI should

Wachieve price stability.

Enﬂat{
target

IC
charge from the commercial bg hks

Jd) the maximum reverse repo rate thi
RBIl can charge from the commerqigilll
banks 1\l

‘Policy . rate’

The bank rate prescribed by the RBI
in its half yearly monetary policy
statement

The CRR and SER prescrlbed by RBI in
its monetary policy statement

the fixed repo= rate quoted for
sovereign sec%nttes in the overnight
segment of  Liquidity Adjustment
Facility (LAF)

thei fmed repo rate quoted for
soveretgp*secunttes in the overnight

segment of Marginal standing
Facility (MSF) o

a)

b)

d)

SEy

An open market operation is a
instrument of monetary polic
which involves buying or selling o

. from or to the public and
banks

a) bonds and bills of exchange
b) debentures and shares
€) government securities
d) none of these
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ICAl SM

h statement (s) is (are) true
ut Monetary Policy Committee?
" The Reserve Bank of India (RBI)
~ Act, 1934 was amended on
~ june 27, 2016, for giving a
i "' statutory backing to the
T:'-—*ff'_'_Mdnetary Policy Framework
. Agreement and for setting up
4 Monetary Policy Committee
-‘ "? The Monetary Policy
' committee shall determine the
policy rate through debate and
13 |  majority vote by a panel of
|||  experts required to achieve the
_ inflation target.
| . The Monetary Policy
~ Committee shall determine the
~ policy rate through consensus
- from the governor of RBI
| Iv. The - Monetary Policy
|  committee shall determine the
policy rate through debate and
majority vote by a panel of
bankers chosen for eth purpose

a) | only

b) land Il only
¢) lll and IV

d) Il only

Answer Key —Chapter 8 (Unit — 3)

(d) 2 (b) | 3 (c) 4. (b)

(c) RSN (D i o (©)

:II__': (b) an 3

10. (a) 113 (b)
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" McQ Shastra

ICAl SM

Which of the following holds that a
4 | country can !‘ncreasewﬁgﬁyealth by

i enhcouraging gx,pai‘ﬁfs, and
[which of the following dogs s deeiaand iovo N

| yepresent a  difference between ||| a) capitalism

nternal trade and International ||| b) socialicm

| wrade? b ¢) Mercantilism

#’ﬁd,,mﬂc‘tlung [ l”l’U-HHMU CUrrencies 4) Laissez faire

) homoegenelty of customers qpq o ) ICAl SM

aurrencles )
) differences (h legal systeme 5 | Given the humber of labour hours
d) none of ;‘;’,'j‘i_‘i'_"f?’,_‘f?w A e Rl to produce cloth and grain in two
- codhtrf@s, “which  country should
ICAI SM produce grain?
TF r Wi i
g T&:.‘:h::az of absolute ddvantage - ‘Labour cost (hours) for production
o O T of one unit
a) natlenal wealth ang Power are best P W Country A | Country B
served by nereasing exports and
decreasing (mports Cloth 40 80
) natlons can nerease their economic : 40
well-being by specializing i the “raif 9

production  of goods they produce
l';!"lt;)l‘c‘ effieiently than cmycmci'tsc. g; gga:z:yg
¢) that the value or price of . a ¢) NeitheryA hor B
commodity depends exclusively onp d) Both A and B
the «:H‘)'l(?w’lt of ‘Iabour doing into its
reduction and therefore factor :
,‘,’mcs will be the same | b
d) differences in absolute advantage
explains  differences _ins factor ||| 6
ehdowments in different countries

According to the theory of
comparative advantage

ICAI SM _
a) trade, is a zero-sum game so that

the net change in wealth or benefits
among the participants is zero.
trade is not a zero-sum game so

| Which of the foll'owing theories
| advocates that countries should b)

3 g;:du“t::of' g::::e::r v:z:::iv‘: that -the het change in wealth or
| ‘ benefits among the participants is
- “""“,’?—F?Q.‘? ; positive
- ‘—‘H c) nothing definite can be said about
a) Modern theory of international trade the gains from trade
The factor endowment theory d) gains from trade depends upon
¢) The'Heekscher-Ohlin Theory factor endowment and utilization

None of the above




‘ caun’txrys avility to p,,,
good Or service g

a country’s abmty tO pro

good or serviece gy A

opportunity  cost ()

countries, ke

- Choosing a produetive .,

uses minimum . of 1},
RESsfactoy ' & ‘
| d) (a) andi(b) above

(9

lr

‘o explained the

a:-'a:r'.__fw-;’ R B, " \

e A b TR A B = R L .u,
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A specific tariff is

a)

b)

c)
d)

a tax on a set of specified ;mported
good

an import tax that is common to all
goods imported during a lee"
period

a specified fraction of the economlc
value of an imported good A
a tax on imports defined as an

amount of currency per unit of the

good

i 1l

‘a)

b

d)

nommal tariff rates on
materials which are greater
tariffs on manufactured PYOdu
nhominal tariff rates
manufactured products which
greater . than (tariffs on |
materials .
a tariﬁ‘ which {s e‘CG(ofed
prohibit imports of a particulg, 4
to protectfdomestic industries
none of the'above

A tariff on tmports is benef‘ cial
domestic producers of the |m?o re
good because . Y s A

a)
b)

c)
d)

can sell their product in
domestic market ,
it determines the quantity that‘ 1
be imported to the country | “Gf
it reduces their producer st

making them more efﬁcuent @

they get a part of the tarlﬁ‘ revenue’ .
it raises the price for which they i

A tax applied ﬁs’% pe

the value of .ﬂ it

a)
b)
c)
d)

preferenttal tariff
ad valorem tariff |
specific tariff ;
mixed or compound tarif

Making pdfs,

photocopies,

'their domestic markets
‘an. exporting
U restrdining the quantity c*
' that can be
,country during a specified pzricz g

) quantitative restrictions imzoszz o
the importing country's

,,;mportmg country voluntq
élggmmg the quantity of gogl
1t can be exported into ¢
htry during a specified periog

tiv
domestic firms agreeing to
quantity foreign products s

country
eX.port(_ SuT of

time

< AN ey —

.a).

¥

,-‘ ! .__Alr‘:l'ti'-;-dumlping duties are

foreigh market which are .
production costs.

) additional
lloffeet tthe effects of expor=ing =77
increased SS GuS

additional import duties sc
loffset the effects of exporting =77
unfair | charging of prices .~ ==

import duw.- SQ &S
competitivene

subsidies by government
additional import dut:::

L offset the effects of export’=
" unfair

charging of lower Pric

. the foreign market

BOtH (a) and (c) above




G‘

ICAlI SM

ntervailing duty is

ICAlI SM

= £ that aim to offset artificially
d;fpr;ces charged by exporters who
[V

34) export subsidies and tqyx

10 | Which ?f the following is not q
hon-tariff barrier. ;

a) Complex documentation

- ¢ b requirements
ggjncesswns t_r;qthc)erl;;'g*’zzszzhtry b) Import quotas on specific goods
harged by tmp . ries to ¢) Countervailing duties charged by
) cngui’e fair and market-oriented importing country
Hicing of lm_portei.products ) d) Pre shipment product ihspection and
f harged WRLIRGIEINg countries 'to certification requirements
rotect domestic industries  and
e from unfqtr' price advantage ICAl SM
arising from subsidies
; ol the above 11 | Under tariff rate quota

ICAl SM

,af) create obstacles to trade and
increase the volume of imports and
exports !

p) domestic consumers enjoy consumer
surplus because consumers must
now pay only a lower price for the
good _

¢) discourage domestic  consumers
from consuming imported foreign
goods and encourage consumption
of domestically produced ' import
substitutes

d) increase government revenues of

the importing country by more than

value of the total tariff it charges

a) countries promise to impose tariffs
Oh imports from members other
than those who are part of a
preferential trade agreement

b) a country permits an import of
limited quantities at low rates of
duty but subjects an excess amount
to a much higher rate

€)' lower tariff is charged from goods
imported from a country which is
given preferential treatment

d) none of the above

12 | Non -tariff barriers (NTBs) include
all of the following except:

Vs

B | ICAI SM

a) import quotas

b) tariffs

c) export subsidies

d) technical standards of products

9 | SPS measures and TBTs are

a) permissible under: WTO to protect
the interests of countries

b) may result in loss of competitive
ddvantage of developing countries

¢) increases the costs of compliance to
the exporting countries

d) All the above

——

Answer Key -Chapter 9 (Unit - 1)

i @ W2 b 3 | ()

(b) 5. (c) 6 i

(d) 8. (c) 9. (d)

10. (c) 1. (b) 12

Making Pdfs, photocopies, xerox, sharing or selling MVSIR's books is not allowed. 1t will lea
to strict legal action with monetary penalties







mhe following culminated

!/:the establishment of the worg
'Ir ade Organization?

he Doha Round

ICAI SM
4 ‘Bound tariff refers to
a) clubbing of tariffs "of  different
Commodities into ohe common
measure
b) the lower limit of the tariff below

yuhr’ch a hation cannot be taxing its
(mports

are imported from

e ——

a) The Tokyo Round ¢) the upper limit on the tariff that a
b ~pe Urugudy Round country can levy on a particular
o) The Kennedy Round good, according to its commitments
g The under the GATT and WTO.
/ icai sm ||| @ the limit within which the country’s
export duty should fall so that there
@ the correct statement are cheaper exports
The GATT wds meant to prevent ICAI SM
2 exploitation of poor countries by &
richer countries . 5 | The essence of ‘MFN principle’ is a
p) The GATT[ de:,,:z \‘f’u'fg f;?/gfslze?\zzgi a) equality of treatment of all member
ol I countries of WTO in respect of
aelwEllgs flk= sctial property, matters related to trade
c) All mgmpers <f wonid dee b) favour one, country, you need to
Organization are required to avoid Favolr Al Chale iy, A
JlEe f=ofa'l eypes c) every WTO member will treat all its
| @) All the guove trading partners equally without'(‘;
— : any prejudice and discrimination |
ICAI SM d) all the above & |
—|
. e Il
The ‘National treatment’ principle ICAI SM
3 | stands for Wl
The World Trade Organizatio
e (wTtO0) J
a) the procedures within the WTO for
resolving disagreemel_ﬁts about trade
policy among countries
b) the principle that imported products
are to be treated no worse m[ the[
' h oca .
gil::sestlc i < < a) has now been replaced by the GATI
1 i i o sett
) exported products are to be treated b) hgs an inbuilt r:neec;%ne;ssm & et
no worse in the domestic market disputes among 4
) was established to ensure free &
g 'ocal ones paic de internationally.
d) imported products should have the fair tra e
same tariff, no matter where they d) (b) andc) a

CA Mohnish Vora (MVSIR)

. [ & 1+ =-\_=?{"";_ ~
MQkiﬂg pdfs, photocopies, xerox, sharing or selling MVSIR's books} is not allowed
to strict legal action with monetary penalfies R
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ICAl SM

The nominal exchange
expressed in units of one
per unit of the other cy

L 2 real exchange rate adjusts
{ Based on the supply and demand :::t:gr::nt;harepﬂce
‘ model of  determination  of -
1 exchange rate, which of the a) wholly correct
following ought to cause the b) partially correct
domestic currency of Country X to ¢) wholly incorrect
appreciate against dollar? d) None of the above
a) The US decides not to import from : s
Country X Match the following by chg
b) An increase in remittances from the the term which has the |
employees who are employed abroad meaning
to their families in the home i bt
country i. floating exchange rate
¢) Increased imports by consumers of | ti. fixed exchange rate
Country X 4% iili. pegged exchange rate
d) Repayment of foreign debts by o 'iv. devaluation
L Country X - - v. appreciation
: a. depreciation
ICAl SM b. revqluat(on
c. flexible exchange rate
i
All else equal, which of. the ||| @) (i c) (i d); (iii b); (iv a))
following is true if consumers of b) (f b); (u_.a); (‘”f‘_)f (‘V,C)
2 | India develop taste for imported c) (ia)(iid ) ; (il b); (iv ¢)
commodities and decide to buy d) (i d); (ii a); (iii b); (iv c)
more from the US?
5 Choose the correct statement
a) The demand curve for dollars shifts a) An indirect quote is the numbs
to the right and Indian Rupee units of a local
appreciates _ exchangeable for one  unit
b) The supply of Us dollars shrinks and, foreign currency
therefore, import prices decrease_ b) the fixed exchange rate regime
c) The dﬁman_dhcurve;or dollars shifts sdid to be efficient and highly
;Zprgciite"s‘g t and Indian Rupee transparent.
c) A direct quote is the number O
d) The demand curve for dollars shifts uhits O,«? a e local currenc) I
'.tO the left and leads to an lncreqse exchahgeab[e foy- one unit of ¢
in exchange rate : : o
‘ orelgh currency 3
' d) Exchangde rates are generally fix-

by the central bank of the country
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: Mc » - l ; : e
Ay stha = Voly me|
’ \ - L)
- ICAI sm
3 . \
of the following statements TR R . ICAI sMm

g any point of time, qli markets
L tend to have the same exchange
[ rency appreciation o rate for a given Currency due to
)H ign'currency deprecwtttoh takes a) Hedging
ree when there is a decrease in b) Speculation
Pl‘;chome currency price of foreign c) Arbitrage
th
Ly = d) Currenc futures
G“rree_currency deprecm‘qon takes || — 4 -
) Home when there is an incregse in ICAI SM
lac home Ccurrency price of the .
theeign e cy 10 | Vehicle Currency’ refers to
o o :
);ome“‘“"e::y dep;giédil;:’lo‘“cufre;';s a) a currency that is widely used to
3 e _ i)~ denomina
Szzqreciation and implies that the
a

te international contracts
» Mmade by parties because it is the
€come national. currenc

e currency  has
?&?ﬁvely less valuable.

y of either of the
parties
g All the above b) a currency  that s traded
Interhationally and, therefore, is in
, ;-j:l- ICAI SM ) high demand
i ; S A'type of currency used in euro area
An increase in the supply of foreign forypsynchromza;on of
| 7 | exchange Jor .
I hifts the supply curve to the right d) a currency that is widely used to
S d as a consequence, the exchange denominate international contracts
- e declines Mmade by parties even when it is not
b) ;f\ti:fts the supply curve to the right the national currency of either of
and as a consequence, the exchange the parties
rate increases _
c) more units of domestic currency are ]
required to buy a unit of foreign
exchange .
|| d the domestic currency deprec_lates
| and the foreign currency appreciates |
ICAI SM
: |
8 | Currency devaluation h
4) may increase.the price of imported
Commodities and, therefore, _reduce
the international competitiveness
of domestic industries
b) may reduce export prices and
increase the internatlongl {
competitiveness of domestic
industries
) may cause a fall in the volume of
€Xports and promote consumer
welfare through increased
vailability of goods and services
9 (@) and (c) above

g
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e “j “‘f t.* ::‘3,7{ '
a) Direct investments

foreign ownership_-;O_f
facilities. R

involve flow of ‘financtd
c) Foreign direct investm

hot concerned

manufacture of good
. provision of services.
d) Portfolio capita{L.
. recipient country w

investments in factor
land, inventories etc.

b) Foreign  portfolio |

n of

. 4]
facilities {,,

pr
2f
i
.h‘

its potential for higher

institutions (e.g. W

ik i Aoty

a) A firm
issued

c)
controlling  she
electronics firm
d) None of the abo

m‘: in favour of directk‘
restment is that it tepy,

Vn()dﬂffﬁ

géess to minerals or roy ||

e

1CAI s

—_—

ollowing is a reason

g lirect thvestment?

T

|

yture of large and rapidly |
erging markets
fluence home count

ICAl SM

thr

enterprises
bove
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= ICAl SM ’F
\ investments are prohibited 10 | Vhich of the following statement

ian i by is false in respect of mn}&

(stributi ' ' [, moves
P eration and distribution a) portfolio capftal' (n general,
() waerag:snand waterways to investment in finanelal stocks,
|y Highw nd Nidhi company bonds  and other  financial
chit funds and .
: Z) Airports and air transport Ihstruments

b) is effected largely by individuals and
institutions through the mechanism
of capital market

¢) is difficult torrecover as it involves
purely long=term investments and

the investors have controlling
interest

d) investors also do nhot have apy
intention of exercising voting power

or controlling or managing the
affairs of the company,

Answer Key ~Chapter 9 (Unit - 5)
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ICAI SM

ICAI SM

e Indian industry stagnated
I:der the colonial rule because

The Foreign Investment Promotion
Board (FIPB)

:ans were Reen on building huge
dw:;tures and monuments only
rioration was caused by high
vl ices of inputs due to draught

o Indian manufactures could not
¢) lginpexce with the imports of cheap
,Cﬂachine made goods
None of the above

gtl’u

ICAl SM

liberalization

The first wave of
2 | starts in India

a)

b)

c)

d)

a government entity through which
inward investment proposals were

routed to obtain  required
government approvals

Nno more exists as the same is
replaced by a:new. regime namely
Foreign Investment Facilitation
Portal

[}
!
ho more  exists as all inwardl
1
f

i
i

investments are through automatic {|
route and need no approval Bl
is the body which connects different ||
ministries _in respect of foreign 1
portfolio investments :

) In 1951
p) In 1980’s
c) In 1990
4) In 1966

ICAI SA

FAME-India Scheme aims to

—

—

ICAI SM

The sequence of growth
3 | structural change in

economy is characterized by

and
Indian

a) The historical pattern of prominence
of sectors as agriculture, industry,

services

b) The historical pattern of prominence
of sectors as industry, services,
agriculture

¢) Unique experience of. the sequence
as agriculture, services, thdustry
d) All the above are correct

a)

b)

c)
d)

Enhance faster industrialization
through private participation
to  promote manufacturing of
electric and hybrid vehicle
technology |
to spread India’s fame among i
trading partners '
None of the above

BT

In terms of Ease of "?“ S
in 2020 India ranks 3

oS!

ICAI SM

a)
b)
c)
d)

63
77
45
None of the above

4 | Merchandise Exports from India
Scheme was replaced by -

a) Remission of Duties and Taxes on
Export Products (RODTEP) in 2021

b) National Logistics Policy (NLP) in
2020

Remission of Duties and Taxes on
EXport Products (RODTEP) in 2015

,Molcifthe above

E-NAM is -

iaki - -
KIng pdfs, photocopies, xerox sharng g

a)

b)

c)

d)

= =TF
ala WV eSS

An electronic name ecard
citizens of India h
National Agriculture
the objective of creating
national market for ae
commodities. ¥
a pan-india electronic trag
which networks the exis
mandis ¥
b) and ¢) above
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ICAl SM
17 | The hew economic policy of 1991
manifest in -
a) State led

industrialization

_ _ and
tMport substitution

ICAI SM
~ | The strategy of agricultural
15‘ development in India before dreen

revolution was -

High yielding varieties of seeds and
chemical fertilizers to boost
productivity

b) Institutional reforms such as land
reforms

0 Technological up  gradation of
agriculture

4) All the above

—

ICAl SM
The Industrial Policy Resolution
16 | (1948) aimed at -

a) Market oriented economic reforms

and opehing up of economy

b) A shift from state led

industrialization to private sector
led industrialisation

c) an expanded role for the public

sector and licensing to the private
sector

d) an expanded role of private sector a

limited role of public sector

b) Rethinking the role of markets
versus the state
¢) Emphasized the role of good
governance
d) Bringing about reduction in poverty
and redistributive justice
ICAl SM
18 The post independence economic
policy was rooted in -
a) A capitalist mode of production with
heavy industrialization
b) social and economic redistribution
and industrialization directed by the
state
c) social and economic redistribution
through private sector initiatives
d) Industrialization

led by private
entrepreneurs and redistribution by
state

l
1. (c) 2 (b) 3. (c) 4. (a) 5. (b) (L 6 (b)
7. (a) 8. (d) 9. (a) 10. () T (b) l\ 12. (b
|
& (d) 14. | (¢) 1508 (b) 16. | (c) 17 (b) ll 18. (b)




